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INPEAUCIIOBHE
K TPETBEMY U3JJAHUIO

U nepsoe (1980 rona) n Bropoe (1994 roga) M3NAHUA 3TOH KHUTU
HaBHO ctanu Ombnvorpadmdeckoif peAKOCTBIO, 3 OHA NO-TIPEXHEMY
UCITONb3YETCH BO MHOTHX By3aX CTpaHbl ISl MTOAIOTOBKHM ACNMPaHTOB
K cHAaJYe KAHAWAATCKOID 3K3ameHa. Perxuit cayvuaik: y4eOHMK aHITIHN-
CKOTO #3BIKA AOMHTEPHETOBCKOH 3pH MOXHO HaiiTH B HHTepHeTe,
ero obcyxnaloT Ha GopyMax, HILYT ¢ MOMOLIBIO SMEKTPOHHON IIOYTHI.
D10 ¥ OOYCIOBHIO HEOOXOHMMOCTh €r0 TPETHEIC M3NAHUS.

B 4eM Xe cekpeT Kypca, 06ecneuuBIIMii eMY TaKyIO ZONIYIO XH3Hb!

BT0 mpexne BCETO €ro y3Kad HampamlieHHOCTh, OPHEHTHPOBAH-
HOCTh HA BITOJIHE KOHKPETHYIO KaTeropHio A1oaei (HayyHuIX paboTHH-
KOB) C BIOJIHE KOHKPETHOH IOTPEGHOCTHID (HEOOXOMHMOCTBIO “HU-
TaTh JIATEPATYPY MO CHELMANBHOCTH). ABTODH KHMTHM ROJIFUE TOABI
paboTany HMEHHO C YYRIUHMHUCH 3TO¥ KaTeropyH W IO3TOMY XGPOLIO
NPEACTABRIAIOT cebe MX 3ampock! ¥ OCOBGEHHOCTH BOCTIDHSTHA.

YunreiBasg 3TH O0CCOCHHOCTH, CO3/IaTe/ Kypca BMECTO TPaIHliy-
OHHOT'O MEXaHHYECKOTO 3ayYMBaHHA IPAMMATHYSCKHX IPABH/I H CITHC-
KOB MHOCTPaHHBIX CNOB IIPENAaralct OCBOMTL ONpEJeeHHYIO JIOTH-
YecKyIo CXeMY, HANOMMHAIOUIYIO cucTemy MeHpaeneesa. B HayyHbIx
TEKCTaX BhIACACHEI OCHOBHLIE, HANG0/Iee THIIUYHEE CTPYKTYDB! H I1aB-
HBIH yTIOD CAefiaH MMEHHO Ha WX u3ydeHue. [Ipy >TOM 4YpesBHYaiiHO
BaXKHO, YTO 33 OCHOBY B3SITh! TIOIUIMHHBIE TEKCThl, HATHCAHHBIE aHT-
JMACKHMH M aMEPHKAHCKUMH YYEHLIMM, a He T¢ HCKYCCTBeHHBIC 00-
Pa30BaHys, KOTOpPbIE YacT¢ KOHCTPYHPYIOT B Y4eOHBIX Lie/AX.

Bce 310 OGYCAOBMAO H CHOBAPHBIN COCTaB Kypta M METOOBI €T0
OCBOCHMA: OCHOBHOE BHMMaHHe B ocobum yaenserca Haubonee xa-
PaKkTEPHBIM I HAyYHOW NUTEPATYPHl CI0BaM M CIOBOCOYCTAHUAM,
3AMIOMMHATE KOTOPHIE NPEAIArAcTCH OITHPasICh HA KOHTEKCT U BHISIBIIE-
HHe 6230B0T0 A7 TONO WM HHOI'O aHIIMICKOTO CJ10BA /1eMEHTA CMBIC-
Jia, 2 HE IIYTEM 3ayYMBaHHA JUTHHHOTO CIMCKA BO3MOXHBIX PYCCKHX
5KBHBANICHTOB. ’

CyilecTBeHHO 06/eryaeT yCBOSHHE MaTepHala M CBCIEHUE ero B
TabNMuHYi0 GOpMy — B KHHIY BKIOYEHO BOJBLIIOE KOMUYECTBO Tab-
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JIMIL ¥ CXEM, B KOTODBIX B HarlsOHOM H cXaroit ¢opMe IpeACcTaBieHb
OCHOBHBIC CBEICHHS.

HWMEHHO X TaKOMY CHMCTEMHOMY ITOAXOAY NMPMBLIKAIOT CTYAEHTHI
BY3OB B XOJ€ KM3yYeHMs APYTHX TPEAMETOB, OCOGEHHO TeXHHYECKHX
JUCUMILTHH M ecTecTBeHHBIX Hayk. Mcnioneayd yxe BeIpaGoTaHHBIE ¥
HMX HABBIKM M HauOoJiee CHILHBIE CTOPOHK MBIIUIEHWS HAYYHBIX pa-
GOTHHMKOB — cMOCOGHOCTH K 3HAIM3Y, CUHTE3Y M CMCTeMaTH3alluM,
KYPC CYILECTBEHHO OONErdaeT MM M3yyeHHe aHIMUACKOro S3hIKa.

XKunsnecnocobuocts Kauru “Learn to Read Science” Gbuia M3Ha-
YaLHO 3aJI0XEHA IVIABHWM €€ co3zfarencM — Hunoili FBaHoBHO#M
Hlaxosoit, xaxaumaToM punonorHyecknx Hayk, gouenrom Kadeapw
unoctpaHHbx A3bkoB AH CCCP. Bes ee rayboxux 3HaHMil A3bIKa H
METONMKH €ro NMpenoAasaHus, 6e3 ee SpyauIvM, SHEPrHU M HacTOM-
YHBOCTH, YMEHHS MPEOOEBATh TPYAHOCTH, KOTOPEIX 61U10 Gotee yem
JIOCTATOYHO HA TYTH K TMEPBOMY H3aHMI0, 6e3 ee caMONoOXepTBOBa-
HUA myGrukaums KHUrH GObuia 6bl HeBo3moxHa. Hune HpanosHe
IMaxoBoit e cyxaeHo OBIIO AOXUTH O ee nepen3naHus. Ho ee Muic-
M u Aena xuset. [loaTBepXaeHHEM 3TOMY U SBRIETCS OYEPEAHOE I1e-
pEN3laHHE MepBOro B Hauiell CTpaHe Xypea aHTIMHCKOro s3biKa U
ACIIMPAHTOB M HAYYHBLIX PaBGOTHUKOB.



O PABOTE C JAHHbBIM KYPCOM
Mertoauueckas 3amMCKa 1S NpenoaaBaTeieH

JAJAYU KYPCA

Hacrosias kHura agpecoBaHa JIOASM, 3aHMMAIOLIHMCA HayYHOH
paboTol, H MAaKCHMAJILHO aNeIHpYeT K HX CIOCODHOCTH X aHa-
- JIUTHYECKOMY MHIIUICHHIO.

OcsoOBHas LieNb Kypca — HayddTh OyOyILEro y4eHoro cBoGOmHO
MONB30BAaTBECA Ha2YIHOW AHTepaTypol (Mo crneuMadpHOCTH), Hamnm-
CaHHON Ha AHIIMACKOM S3bIKE, U 3I0XKHUThL B XOAC OOYUCHHS YTEHHIO
OCHOBB! WISl NepexXo/ia K pa3BUTHIO HAaBHIKOB YCTHOM peum, pasropopa
10 CNELHATEHOCTH. B 3TOM CMBICTIE JAHHEIE KyPC MOXHO PAcCMATpUBAaTh
KaK NIEPBYIC 4acTh Dosee OOLIETO LeNoro «YUHTeCh YHTATE HAYTHYIO
JUTEpaTypy H TOBOPHTL O HayyHRIX npobaemax». OCHOBHAA 3a7a4ya —
obyyeHHe YTEHHIO HaydHHIX PaGOTHHUKOB — OIlpeleluna KaK HpHH-
uwdn orbopa Marepuana, TaK M NPHUHIMIL €0 HHTEPIIPETALHM. Yac-
TOTHOCTb FPAMMATHYESCKOrO SIBJIEHHMS WM CIOBa B HAYYHOM TEKCT¢ H
ane/MMPORAHKME K COSHATEIbHOMY, AHAIHTHYECKOMY BOCHIPDHATHIO UX.

Kypc paccuuraH Ha jiai, BIATCIOIMX aHITHIICKHM A3RKOM B 00be-
Me, OpeIYCMOTPEHHOM NpOIPaMMOM By3d, U B Ka4eCTBE HaYaIbHOTO
YPOBHs TPEAINOIaracTcsl KAk MUHHMYM 3HaHUe GOpM CNoB (T.e. MOD-
¢donorus), cayxebHO-CTPOEBOM NEKCHKM M HEKOTOPHIH (HeompeneneH-
HBbiil) 3alIac CJIOB OCHOBHOTIO CIOBapHOTO ¢oHna. B xauecTse KoHeyHO#M
Lie/Id CTABHTCA OBNANCHUE BCEMM CHHTAKCHYECKHMH CTPYKTYpaMH, Xa-
PaKTEPHBIMH I HAYYHOM PeYH, ¥ OCHOBHKIM (OHIOM CIIOB, XapaKTep-
HBIX U JAHHOIO CTUAS pPedd HEe3aBUCHMO OT Y3KOit 00jacTH HaykH, a
TAKXKe CO3[aHHME NMPEANOCHUIOK U HENPEPHIBHOTO TONOIHCHHA MH-
JAMBHIYATbHOTO CIIOBApHOrO 3araca B n[polecce YTeHHA.

Kypc COCTOMT 3 uYeThIpex pasleNoB, Ka¥/blil U3 KOTOPEIX MO-
CBAllICH OTIpeIeNIcHHOMY rpaMMaTieckomy apneHHIo; 1. Ilopsaox cios
H CMBICNIOBasl CTPYKTypa NpelioxeHHs. I1acCHBHEIE KOHCTPYKIINM.
QopmanbHasg M CTPYKTYpHasd OMOHMMHs ¢opM Ha -ed u -ing W CBA-
3aHHble ¢ HeW TpymHoctH yreHMa. 2. MHuHMTHB, ero QyHKUHH B
MpeAIOXEHNH 1 00pasyeMbI€ Ha €ro OCHOBE CTPYKTYPRL. 3. MoaabHOCTE
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KaK BHIPAXEHHUE aBTOPCKOTO OTHOLUICHMS K BRICKa3hiBaHMIO. 4. OMmpasa
H MHBEPCHA KaK fA3BLIKOBLIE TPEIACTBA CO3IaHMs DA3IAYHBIX JIOIHYEC-
KMX CYXIECHWH,

Henbio xypca siBnsieTcd pa3BHTHE HaBbIKAa OIO3HAHHMA M TIOHH-
MaHHUS CHHTAKCHYECKUX CTPYKTYD, ONMCHIBAEMBIX MOIEJISIMH, HABBIKA
IIOHMMaHMs COB Ha OCHOBE MX (DOPMEI M OKPYXEHHS, a TAKKEe Ha-
BBIKA [IOHHMAHMA TEKCTa Kak e[HHOro CMBICAOBOIO HEROro, T.e. Cob-
CTBEHHO YTEHHA paad u3snedenus uHbopmauuu. Ilpy 310M OYECBHI-
HO, YTO Ha/JMYHe MEePBHIX ABYX YMeHUH cayxuT 6a30# Ons pa3sBHTHA
TpeThero. B cooTBeTCTBHH € 3TOH TPOWHOM 3anaueil KAXAbIA 13 YEThi-
pex pasAenoR BKIOYaeT TpM nofpasaena: 1) Structure Study, mocesi-
IIEHHLIA BBEJIEHUIO, OTPaGOTKE M 3aKPEIUISHHMIO COOTBETCTBYIOLIENO
rpaMMaTHYEeCKOro SBACHUSN K HOIUONHEHHEIH IPaMMATHYECKHM OYep-
KoM; 2) Word Study, mocBALICHHbIN 3aKPEIVIEHHIO CIIOBapA YPOKA U
HAa €ro OCHOBe BEIpabOTKe HABBIKOB paboTH CO CAOBOM B TEKCTe (3TH
JBa Iopa3jiena NPEACTABAAIOT ¢OG0M NPEATEKCTOBRIE YIIPAXHEHHA H
TOTOBAT K OCHOBHOMY pazieny); 3) Text Study, BKIHOYAIOIIHI YeThi-
pe TeKCTa, TeMaTHYeCKM, IpaMMAaTHYeCKHd M JISKCHYECKH CBSA3aHHBIX
MeXRY cobolt H CHaOXEeHHEBIX CIICIHANBHEIMH 3AAHUAMY ISl pasBH-
THSA HaBHK2Z COOCTBCHHO YTEHHSA.

KpoMme Toro, yduThIBas HEOMHHAKOBYIO TIOAIOTOBKY, obecreynsae-
MYIO pa3snW4HBIMM Y4¢OHBIMHM 3aBEIEHHSMH, a TAKKE OONIYI0 Haripas-
JIEHHOCTE KYPCa Ha CMBICJIOBYIO CTOPOHY BCEX M3YYaeMBIX SIBICHHIL,
KOTOpas He BCcerna nojiy4yaeT OOJDKHOe OCBeIleHHe B yd4eOHEIX Mare-
pHanax, B fAaHHYI0 KHHTY BKTIOYeH HEKOTOPLIA MaTepuan I MOBTC-
pPeHHs,

TIpu cywecTByomeM THMHUTE ayIHTOPHOTO BpeMeHy B 140 yacos,
OTBOAMMBIX ST paGoOTHI HA KaHNMAATCKOM CEMECTPE, KYPC NPEio-
Jaraer ucnosib3oBaHue 60 yacos wis paGoTe B ayaMTopHM (or 12 1o
18 vacos Ha pasmen). Tlpy HaAIWYMH JONOTHHTENBHOIO AYIAUTOPHOIO
BpeMEHH 9TO BpeMa MOXeT OBITh ¢ MOAB30H yBemueHO 10 80 4acoB.
C apyroii cTOpOHBI, IPH XOpOlIEH MpeNBapUTEIbHON MOATOTOBKE
YYRIMXCS TPOXOXIEHAE Kypca MOXeT ObITh YCKOPEHO 3 CUET HC-
KJTroyeHus Hosiee MPOCTHIX MPEATEKCTOBBIX yipakHeHMit. CoxpaieHHe
BPEMEHHU paboTHl Haf TEKCTAMM HE PeKOMEHIYETCS.

JJUHTBOMETOIMTHECKHE ITPUHIINIIbI

B OCHOBY OCODHSA NOJTOXEH pPAI THHIBOMCTOIHYCCKHUX NMPHHIH-
OB COBPEMEHHON TEOPHH npenonaBaHHAa MHOCTPAHHLIX A3LIKOB, HE-
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KOTOpLIE M3 HUX ObUIM PAa3BHThHI ABTOPAMHU MPUMEHHMTEILHO K LIEIAM
IaHHOTO Kypca.

i

Hcnone3opanue (GoOpManM30BaHHOIO ONHCAHUSA rpmuam‘lecxnx
CTPYKTYD B BHlEe MOZAE/NcH, NPEACTABNAIONIMX ITH CTPYKTYPH KaK
Habop oba3arenbHBIX ¥ GaKYALTATHBHLIX KOMIIOHEHTOB, KaK CHO-
¢00 3KOHOMHOIC H DRHMOHAIBHOrO BBEAEHHS IpaMMaTHYECKOro
MaTepuana ¢ ydeToM ocobeHHOCTe# JAHHOIO XOHTBHICHTA y4a-
LIMXCH.

. cnionp3oBaHne BHYTPUA3MKOBRX npeobpa3zosaHmit (TpaHc-

dopmanpit) Kak crnocob s3ddexTrBHOrO 0GBACHEHHS CMEICIA
CTPYKTYPH!, NpSAUIECTBYICIIETC €6 CPAaBHEHHMIO ¢ SKBUBAJICHTHOH
€l CTPYKTYPOH PYCCKOTO S3BIKA.

. AHanmH3 $opMbI CIOBa M €I0 OKPYXEHHMS M DACKDHITHE CMBIC/IA

cnoBa (U CIOBOCOMETAHMS) IyTEM HMHTEPNpeTallMH, ApeulecYBy-
OLUHE BHOODY PYCCKHX 3KBHBAEHTOB. JIeMOHCTpALMS OTCYTCTBHA
OIHO3HAYHOIO COOTBETCTBHA CNIOB JABYX COTOCTABIAEMEIX S3HIKOB,
Co3HarenbHOE PAVIMMEHHE ABYX BUAOB AEATCNIBHOCTH — YTEHHMA M
IIepeBoOsIa KaK NMPOHCXOMALLAX NOCASOBATENTbHO, 4 He NIapa/LIe/bHO:
YTeHHe KaK Npolecc NPOHMKHOBEHHA B CMRLICK YHMTaSMOTQ TEKCTA
H 1epeBo/l KaK [poUecce Iiepefadl 3TOI'0 CMBICHA CPEeNCTBAMHU APy~
roro A3ukKa. Ucnosns3osarde MepeBOAa KaK 3Tana, 3aBeplialolero
MPOLIECC AHANH33a H TOJKOBAHHMSA.

CHcTeMaTHYECKHH Y4eT JIOTHYECKOH CTPYKTYPHI BRICKA3BIBAHMA H
B3aMMOCBSA3H JIOTHKHM H I'DAMMATHKH B [POLECCE YTEHHA ¥ nepe-
BOJA.

. CosHaTenbHOE BEMUICHEHHE TPEX YPOBHEH, MM STAIOB, aHANM3A:

a) ypoBeHk, NPEIIECTBYIOLIMIA NpeUTOXEHNIO, HA KOTOPOM aHa-
JIH3NPYETCA CJIOBO, CIOBOCOYCTAHHE MJIIH CTPYKTypa, 0) ypoBeHb
NpelIoKeHH, HA KOTOPOM YCTaHABIHMBACTCA CBA3hL FPaMMaTHYEC-
KOH CTPYKTYpH HPEIOKCHHA M JIOTHYECKOHW CTPYKTYPHl BBICKA-
3RIBAHNA, H B) YPOBEHb TEKCTa, Ha KOTOPOM aHAIM3KDYIOTCH Cpel-
CTB3, HCNONb3yeMBI¢ JiS OObeIMHEHHS OTAEABHEIX BHICKA3WBA-
HMHA B eIHOE CMBICIIOBOE iigNoe.

. Yyer NOCICOYIOUICTO 3Tana oﬁwem -— Pa3BHTHJ HABBLIKOB YCT-

HOH pevyH — IyTeM pPAa3BMTHSL CO3HATENLHOIO HOHHMaHHMS COOT-
HOMECHUA MEXIY A3LIKOBBIMH CPENCTBAMM ZBYX SI3HIKOB M TOIO,
YTO KOMMYHUKATUBHON eZMHMUEH SBNSETCA HE CJIOBO, HE
CJIOBOCOYETAHHE WM CTPYKTYPa, a NpeLIOKEeHHe H TEKCT



METOIHUKA PABOTbI
C PA3JIMYHBIMH PA3JIEJIAMH

Pa6ora Han OTAEABHEIMM DAa3NellaMy OCYILECTBJAETCS Ha OCHOBE
BHIIICH3IOKEHHBIX O6LUMX NPUHUMOOB C YYETOM KOHKPETHEIX 3aiay
pasrena B ocofeHHocTeH npopabaTeiBaeMOro Marepuaia.

PABOTA CO CTPYKTYPAMHU
Beelenne CTPYKTYpHI

B camoM Hauane BBOAWTCH CHCTeMa YCJIOBHEIX ofo3HayeHHH, Xo-
TOphie MCIOMB3YIOTCA INA 3anucH B Biae dopmyn {(Moneneit) MUHK-
MAJIbBHOTO CHHTAKCHYECKOTO OKPYXCHHS COOTBETCTBYIOHIEH CHHTaK-
CHYECKOM CTPYKTYpHL. Takas dopMa 3anMcH NO3BONAET HE TONBKO €3~
KOHONMHTDH BpeMd IPpH BBEICHWY MAaTePHANa, HO M JaeT BO3IMOXHOCTb
NIPEACTABUTE AAHHYIO CTPYKTYPY B ee Haubolnee 0606LICHHOM BHAE H
NIOKA3aTh BHYTPEHHIOIO CHCTEMHOCTh IPAMMATHKH, B3aHMOCBA3H MEXY
OTHEABHBIMH CTPYKTYpPaMM, MX CXOACTBO M painuums, He npuberas
IIPH 3TOM K CJIOXHOM JIMHTBHCTHYECKOI TepMuHonoruy. MHoroner-
HHiT onuT paGoTel aBTOPOB MOKA3LIBAET, YTO MPEHMYIIECTBA 3TOTO
npHeMa TPYAHO HepeoleHHTH.

Bces pabora co cTpyKTypaMH ITPOBONHTCS IOCAENOBATENbHO B TPH
aTana: a) onucaHue (OpPMANBHEIX NPH3IHAKOB CTPYKTYPhI 4e€pe3 ee
dopmyny (Mozens), 6) pacKpbITHE CMEICJA, BHIpAXAEMOro CTPYK-
TYpOH, B nepeyio odyepenn yepes npeobpa3oBaHue (TpaHchopMaLuio)
B CTPYKTYDY, HMEIOIIYI0 PYCCKHI 3KBUBAICHT, WM HYTEM TOJNKOBA-
HMA e€ cMbicaa (ecnM NpeoOpa3oRaHHE IPOMO3AKO WIM HEBO3MOX-
HO), B) COIOCTaBJIeHHE ¢ PYCCKO# CTPYKTYpoil M noabop pycckoro
sKBuBaeHTa. TIpH 3TOM NpEIGNABATEND NODKEH 4YETKO OCO3HABATSH,
Kakoil M3 3TanoB NpeACTaBiAeT ocolyio TPYHHOCTD; Hanpumep, GyH-
KUMOHAIbHO Ved-hopMy TPYAHO OMO3HATE B CTPYKTYpE CHOXHOIO
{(IMMHHOTO) MpeMIOXeHH:, HO HY ee MOHUMaHHe, HE TeM Gonee fe-
PeBOA Ha PYCCKMIT A3bIK TPYIHOCTH HE TIPEACTABAIOT, FlacCHBHRIE CTPYK-
TYpH,, HAOBOPOT, JIEFTKO BHUICASIOTCY B paMkax Jio60oro 3allyTaHHOIo
Mpe[UIOXEHHUA, HO MOHHMaHue X uH(pOPMALMOHHOH LHeHHOCTH (om-
penencHue noryueckoro yaapeHuss Ha N, win N,) U ocobeHHO nx
[epeBoj Ha pyCCKHY A3BIK TpeGyIOT ONpeleneHHOTO HABHIKA.

Brizenerne ATHX TpeX 3TANOB aHAIM3a. HE O3HA4aeT obsA3aTeNb-
HOTO COﬁ)IIOI[eHHﬂ nopdanka BBedeHHMA MaTepHana, MnpeajaracMoro
aBTOpPAMM: OT MOJENM K WUNOCTPRTHBHOMY NipuMepy. MOXHO BBOIHTL
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NMPpUMEDP IO MOIEIM, COHAKO ¢ ODs3aTe/bHBIM HOCHENYIOIUHMM aHalu-
30M CTPYKTYPHL

Ecau BROAMMAS CTPYKTYpPa MMEET OTPaHMMEHHS JEKCHYECKOro
Nopsiika, HenoCpeaCTBEHHO MOCNe MOJACAM NMOMEHIAeTCH CIHCOK TeX
JIEKCHYECKHX €AMHHIL, KOTOPHIMH OrpaHU4eHo ee ynorpedneHue. [Ipn
5TOM KaXJas ACKCHYecKas eMHUUA COTIPOBOXIAETCH PyCCKHMM 3KBH-
BAJICHTOM, TIPH BRHIOOPE KOTOPOFC aBTOPH CTPEMWIMCH K TOMY, YTOOB
HanboNee afeKBaTHO OTPA3UTh OCHOBHOH CMBICK HaHHOI €ZMHHUIBI H
H30eXaTh KOHKPETHBIX KOHTEKCTHHIX SKBHBaJIEHTOB, IYCTh [JaXEe M
BECEMA 4aCTOTHBIX.

Tepsuunoe 3aKpenieHAe CTPYKTYPhI

3akpeIUuicHHS CTPYKTYPHL OCYLUECTBISICTCH HEMOCPEICTBEHHO MOC-
Jie ee BBEACHMS ¢ NMOMOIUBIO YIIPAXXKHEHHH, NpUYeM THN YIpaXHeHMH
OINperesieTca 0COOeRHOCTAMM KOHKPETHOMH CTPYKTYPh!, TPYAHOCTAMH,
i TIPHCYIIMMM, H KOHEYHON LIeAbI0 — PELeITHBHBIM M IPONYKTHE-
HBIM YCBOCHMEM.

3amaHusa K YIpaXHEeHHAM ONpeAcNeHE YIOMAHYTHIM BBIILE Tpex-
ITANHHM aHanm30M. OCHOBHBIMM PELICTITHBHBIMH YIIPEKHCHHAMM 5B~
JISIIOTCS YIIpAXHEHHS Ha OIMO3HAHMEC CTPYKTYPEI B COOTBETCTBHH C
MOIENBI0 H Ha npeobpa3oBaHHE B CTPYKTYPY, HMEIOIHYIO DYCCKHH
ananor. llens 3THX YHpaXHEHHH — pa3BUTHE aBTOMaTH3MPOBAHHOTO
HABHIKA OMO3HAHHASA W MOHWMAHHA CTPYKTYPEHI, «pacTBOPCHHOM» B
JOCTaTOYHO CNOXHOM npemnoxenun. TToaMeHa HaHHBIX 3anaHuil 60-
Jiee NPHUBBIYHLIM CIVIOLIHBIM NE€PEBOJIOM BCEIO TIPSIUIOKEHHS JTULIAeT
yIIpaXXHEHHEe €ro lejieHanpaBleHHOoCcTH H 3GhdeKTHBHOCTH: NpH Ne-
PeBOAE LEJIOro NMpeIOKCHHA BHUIMAHUE PACIILIACTCA Ha APYTHE OCO~
GeHHOCTY NpeRNOXeHHd, eAuHas LeNb ucye3aecT, pabora IpOABUTa-
eTcA MEIJIEHHO.

Hauboree pacnpocTpaHeHHbIM YIPOXHEHHEM TIPOTYKTHBHOIO THIIA
gaBietcs ynpaxHeHHe Ha 1moAcTaHoBKY. IIpH 9TOM BO3MOXHOCTH CO-
YETAHHMS OTAECNBHBIX JIEMEHTOB IOJACTAHOBOYHOK TaOMMLH OrpaH4-
YEHBl CMBICHOM 3THX /ICMEHTOB, YIIpaXHEHHE HE HOCHT aBTOMAaTH4e-
CKOr0 Xapakrepa H He MOXeT OhITh OCyllecTBICHO 6e3 NOHMMaHUs
cMbicna. CnocobHOCTE CO31aBaTh OCMEICAEHHBIC NPEAAOXKECHHSA, TAKMM
o0pa3oM, JOKA3LIBAET ITOHMMAaHHE O€3 NEpEeBOaa..

[MocneqHym ynpaxHeHWeM Ha 3aKpelieHAE CTPYKTYDbl SBAAETCS
ynpaxHeHne B nepeBode ¢ pycckoro. UMeiorcs oBa Thna 3afaHus:
nepefaya cMBICHA BRIAETEHHON 4acTH PYCCKOIO HPELNTOXEHHUS € FO-
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MOLLUBIO 33JaHHOH CTPYKTYpHl M CBODOIHBIA MEPEBOA LEJIOTO Mpeaio-
XeHus. Pabora Ham CTPYKTypaMH B HM30JMPOBAHHOM NPEJIOKCHHH
3apepluaeTcd pabotoif Ha HECKONBKHMH BBEICHHBIMHM CTPYKTYPaMH
B paMKax HeOOQJIBINOro OTpe3Ka TEKCTa, TaK Ha3EIBAEMOI'0 MMKPOTEK-
cTa. Meroauka paboThl ¢ MUKPOTEKCTOM ONMCHIBAETCS B CBA3M C Me-
TOAMKOW paboThi ¢ OCHOBHEIMHM TEKCTAMH IOCOOHA.

IIpoiineHHbIe B ayAUTOPHE MOAEAH 3aKaOTCS HA IOM IJIA MOBTO-
penusa. Kpome TOTO, y4auiHMcs Npelnaraercst MpovyecTh COOTBET-
CTBYIOIUMHI pa3zien I'paMMaTHYECKHX OYSPKOB U BHIITOJHHUTL YIpaXHe-
.Hue Pattern Revision, 3apeplialonice DaHHYIO <[IOPHHMIO» MOAEHeH.
PexoMeHnyeTCs CTPOrO CJICIHUTh 3a BHMOJHEHHEM AOMaluHell paboTH
B COCTBECTCTBMM C 33JaHMEM M HE IOIYCKATh CILIOLIHOIO HepeBOja:
HOMHMO OYEBHAHBIX BO3PAXKCHHA METOINYECKOrO XapakTepa CUIOHI-
HOIl NepeBos NPEIOKEHHHN CleNacT 3alaHUe UPe3MEPHO FPOMO3IIKHM
M [PHBERET K TOMY, YTO YYyalmHecA He CMOTYT ¢ HHM CIIDaBHUTHCH.

PABOTA CO CJIOBOM ¥ CJIOBOCOYETAHUEM

PaboTra Haj NnexCHKOM BeAeTCH B ABYX HAIPaBAECHHAX: a) OCBOC-
HHME KOHKPETHOIrO CJIOBApHOIO 3a11aca, 3a/lOXKEHHOrO B IIPEATEKCTO-
BEIE YIIPAXHEHHUS, MHKPOTEKCTBI H TEKCTHI, ¥ §) pa3BUTHE aHANUTHYE-
CKOIO IIOJXCHA K CJIIOBY B KOHTEKCTE, T.€. Pa3sBMTHE CIOCCOHOCTH K
0DOCHOBaHHOM H3BLIKOBOH Joraake, Ge3 4ero HeBOIMOXEH HH Halib-
HEeHAUIMA pOCT MHAMBMIYAIHHOrO CJIOBAapHOIrO 3amaca, HH Boobuie
TPOLIECC YTEHHA € LENbl0 H3BJeueHus uH(OpPManuH.

BrinonHeHHe MepBON 3aJaYd OCYILECTBIAETCS TAaBHEIM 06pasoM
33 CYeT HCTIONL3OBAHMMN CNOBADSH TEKCTOB B NPEXTEKCTOBLIX YIIpaX-
HEHHSX W MHKPOTEKCTaX, YTO JaeT BO3MOXHOCTE CO3JaTh OIPEAE-
JIEHHYIO MOBTOPAEMOCTb XOTS Ohl HEKOTOPHIX HaubGonee BAXHEIK CJOB
¥ cnopocovyeTaHuit. CNHUCKM CNOB H CAOBOCOYETAHMI, COOTBET-
CTBYIOILME KAXKIOH «IIOPUHH» rpaMMaTHKH M pasfeny Word Study,
obpasylollie NOYPOYHEIA HHBEHTaph, MMEIOT 1IeNbI0 IPUBIeYb BHU-
MaHMe yYauIuxcsi x HanbOonee BaXHEIM NEKCHYECKHM eJVHMIIAM, ¢
KOTOPHIMM COHH CTOJIKHYTCS B NalbHedleM. DTH XK€ CNUCKH MOryT
6bITh UCMONB30BAHB! MPEMOAABATENEM KAaK KOHTPOJbHEIE A COCTaB-
JIEHHS TCCTOB M OCYIHCCTBICHUA APYFHX BHIOOB HPOBCPDKH YCBOCHHA
MaTepuana.

BrinonHeHue BTOPON 3a/1a4M OCYIWIECTBISAETCH C TIOMOIUBIO BCEH
CHCTEMbl NIEKCHYECKHX YIIPAXHEHHH, B KOTOPBIX NMOCTEAOBATENLHO
cobJIogaeTCcsl TOT Xe NPHHUMII, YTO M B YIPAXHEHMSIX NPEIBUAYIIETO
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paziena’ or BHelIHed (rpadmyeckoil WAW CTPYKTYPHOIE) dopMbl K
BHYTPEHHEMY CMBICJTY (COAEPXAaHMIO) M OT HEro K PYCCKOMY IKBHUBA-
Jenty. OCHOBHBLIM NPU TOM SIBASISTCH BTOpoil 3Tan — pabora no pac-
KPBITHIO cOllepXaHMs (MyTeM aHanu3a (OPMEL, TONKOBAHHMS, COMOC-
TaBIeHUS ¢ COCEAHMMU CIIoBaMH W T.1.). [IpeHe6GpexeHune 3THM 3Ta-
MOM JMINAET AAHHBIA pa3len OCHORHOTO COAEPXAHUSA — DPa3BUTHA
HaBHKa O0OCHOBAHHOM SM3ILIKOBOH IOTaJKH — M BEIEST K MeXaHW4e-
CKOMY COEAMHEHHIO AHIJIMHCKOIO CJIOBA C €rC PYCCKWM 3SKBHBAJICH-
TOM, 6G€3 OCO3HAHMA BHYTpeHHeH 006s3aTeIbHOCTH 3TOH CBS3H. AHa-
NH3 COAEpXaHWS CJOBa, NpeABAPAIOIINA NoAGOp PYCCKOro KBHBA-
JIEHTA, BOCMPOM3BOIUM W HOTOMY JaXe C TOUKH 3peHUs 3aliOMHHaHHs
6onee addexruseH, 4EM NPOCTOE 3aYYMBAHUE, MTPH KOTOPOM aHI/INMH-
CKO€ CNIOBO BBICTYHAET B COIHAHHMM YYAIIMXCH KaK NPOU3IBONBLHEIN KOJ
COOTBETCTBYIOLIErO PYCCKOFQ CHOBA.

BrineneHHble NSTH MOZPA3[ENOB, B KOTOPHIE OOBENWHSAIOTCA YII-
paXHeHHs, [leACHANpPaBIeHHO KOHLUEHTPHPYIOT BHMMAHWE YYallero-
C Ha Pa3HLIX XapaKTepHCTHKAaX M3yyaeMbIx cjioB. Ocoboro BHUMaHMs
IIPM 5TOM 3aCJIYXMBAIOT YIpaXHeHns pasgena Learn to Deduce the
Meaning of English Words, npi3paHHbIe pa3sBUBaTh YyBCTBO fA3LIKA ¥
YJaIIeTocA, MOMOYE €My HE TONBKO MOHATHL JAHHOE KOHKPETHOE CJIo-
BO, HO M BOOPYXHTb €0 MABLIKOM IOHMMAHMS CJIOB B KOHTEKCTE U B
CHOBape.

ABTOPB [HOHHMAIOT, YTO BHUJEIEHHHH B YHpaXHEHHAX «O0IIvi
3/IEMEHT CMBIC/Ia» B KayeCTBE OCHOBH Ul NMOHHMMaHHMS CJIOBa HE BO
BCeX Caydasx chOopMyITHpPOBAaH MaKCHMaNbHO yrnauHo, u Oymyr Gna-
roIapHbl 3a Bce MNpeUIOXKEHMA, HaNpaBlICHHBE Ha YTOYHEHHE 3TOrO
OCHOBHOI'O CMBICTIa CJIORA.

Kak ¥ B IpeasiaynieM pasfene, ClenyeT H30eraTh CIUICLIHOTO TTe-
peBOfia JUTMHHEIX TIPEIUIOXEHUHN, HCIONbL30BAHHBIX B Ka4eCTBE KOH-
TEKCTa M3Y4aeMOro CJIOBA.

Bionouenune nocneaHero pasmena oOyc/IOBIEHO oco0oi BaxHOC-
TBIO CIIYXXeOHO-CTPOEBBIX CNOB, HEPEIKO M3BECTHBIX YYaHIHMCH YHCTO
¢opManbHO: 3HAYCHME apTHKIIEH, MECTOMMEHMIA, KOBWYECTBEHHBIX U
Ka4eCTBEHHbIX OnpeAenuTeNeil UMEeHH M T.II., KaK NPaBUNO, YCKOJIb-
33eT OT BHUMAaHusA YJaluxcs. Tem caMbiM 3HaYMTejabHas MHGpopma-
M, 3aOXeHHas B 3THX CNOBax, MOKPHIBAIOWIHX A0 50% TekcTa, B

yM3BECTHOH Mepe TepsieTcd MM Iaxe MCKAXAETCA. JTH YNpakHeHMs
MPUBA3aHH K COOTBETCTBYIOUIMM TabjMLAM W pyOpuKam pasgena
Structure Words.
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PABOTA C TEKCTOM

Kax yxe oTMeYasioch, IPEATEKCTOBLIE YIIPAXKHEHNA ARASIOTCS THLIL
TIOATOTOBKOH K BRINOJHEHWIO OCHOBHOM 3alayM — K YTEHMIO TEKCTa,
BepHEE, K OOYYEHHMIO UTCHHIO.

B ocHoBe MeTomuKy paGoThl ¢ TEKCTOM JIEXHT MHOTOKPATHOE TIPO-
YTEHHE OAHOrO H TOTO X€ TEKCTa, «<BYHTHIBAHME» B TEKCT KAXIBIA pa3
C KOHKDPETHBIM 33aJaHHMEM, PE3YILTaTOM 4Yero AOJDKHC SBUThCA HOHH-
MaHHe 3aJI0KeHHOM B TekcTe MHpopMaiu. Ipu sToM 3ananus chop-

. MYJIHPOBaHBI TaK¥M 00pa30oM, yToObl NpHBJeYb BHUMaHHE K Haubonee
TPYAHBIM MECTaM TEKCTa, ¢ OMHOH CTOPOHH, ¥ K HauGonee unpop-
MalMOHHO BAXHBIM — C IPYro#.

Pabora HayHHaeTcss ¢ YT€HHA MHKDOTEKCTOB, NPEICTABIAIONIHX
co6oii HeQOABIINE OTPRIBKYU, BXAIOYEHHBIC B NMPEATEKCTOBHE YIPaX-
HEHHS H [IPU3BAHHBIE ¢TATh IIPOMEXYTOYHBIM 3BEHOM MEXIY U30JMpO-
BAHHBIM MNPSIIOKSHACM Y OCHOBHBIMH TEKCTaMH YPOKA.

ITepssiii TekcT (A) npeAHa3sHa4YeH ANA NOAPOGHOTO, B TOM YHCIE
CTPYKTYPHOI'G, aHAIM3A C IOCHEHYIOIMM HCEMEHHEIM TEPEBOIOM
YaCTH TeKCTa Ha pyccKui s3bik. PaGora HauHHaeTcs B Kiuacce M
3apepiuaercd AoMa. Bropoii Tekct (B) npegHasHaueR A/ YTEHHUS B
ayANTOPMH M HE MOApPasyMeBaeT NMOAPODHOrO AHANU3A AIBIKOBOH
¢opMHE. 3amaHUA B OCHOBHOM HAMPABN€HH HAa TO, YTOOHI DOOGHTHCH
o0uiero NOHMMAHUA 3aJO0XEHHON B Tekcre mHopMaud, Ges
noapo6HOTo aHain3a KaXAOTO MpeaoXeHus. B cBi3u ¢ TekcroM
B npenonasarens MOXET JOIMOJHHTEILHO BBECTH KaKoii-1ub0 NMUCh-
MeHHBIH BHA pa0oTHl M BEPHYTHCA K TOMY TEKCTY CIIYCTA HEKOTO-
poe BpeMsl, IPeVIOXHUB COCTaBHTE pe3loMe, InaH B (opMe BOIIPO-
COB 4 T.IL

Crenyonmii rekct (C) npegHasHavyeH g paboThl foMa H TpeHH-
POBKM BCEX HABBIKOB, OTPa0OTAHHBIX B YNPAXHEHMAX WU HA Ipelbi-
OYIUMX TeKcraX. B CBA3H ¢ 3TUM pasiMMHEIC YAaCTH TeKcTa npopaba-
THIBAKOTCA ¢ pasHOM CTEeNeHBIO YIyOiaeHHs B S3RIKOBYIO (popMy.

Hocnenumit Texcr (D) npexHasHayeH A8 yeTHOH paGoThl B ayau-
TOpMH {2 NIPH HAIKIHH COOTBETCTBYIOIIHX YCHOBHH — M B naboparto-
puu yctHo# peun). Llens paboTel — pasBHTHE HaBBIKA MOHUMAHHA CO
C/lyXa W MOATOTOBKA K pasroBopy No creunanbHocTd. [loGoyHoit ne-
JIBIO ABJIACTCS AKTHEM3AIMA CAOBaps H IPaMMATHYECKVX GTPYKTYD YPOKa.
TexcT, pa3OWThIi Ha HeOONbIINE OTPHIBKH, CHaGXeHHbIE 3ajaHus-
MH, 3aMMHUCHIBAETCA Ha TUIEHKY M [IpopabaThIBacTCs CO CIyxa B ayAHTo-
p¥K WK nabopaTopyMM. Xapakrep 3aJaHuil MPUHUMNUAIBHO HE OTIHN-
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YaeTCsH OT 3aJaHMi K APYTHM TEKCTaM, [TOCKOJbKY LEIh ABISETCA TOM
XKe Camoil — pa3BHTHe MMOHUMAHMUA TeKCTa B LIEJOM*.

Trus! 3ananwit

3anaHua K TEKCTY, KaK HPaBWIO, NPERYCMAaTPHBAIOT €10 TPEXKPaTHOe
npoureHue. Ileproe yTeHHe MMEET LIENbIO 00lIee 3HAKOMCTEO ¢ COlep-
XaHUEM, WIH TEMaTHKOM, Tekcra. He3ascHMO 0T TOTO, OCYIIIECTBIIET-
¢ i1 paboTa B AYIUTOPHHA HIM ZOMA, PEKOMEHAYETCA TIPH MEPBOM YTe-
HWH TTONTHOCTBIO MCKIOMHTH MOJIb30BaHKE cioBapeM. [1pu yreHHu goma
MOXHO PEKOMEHIOBATH MIPOBEPHTL B CIIOBApe 3HAYCHHE NBYX-TPEX BEAY-
X (MOBTOPSIOIIMXCH) MMEH CYLIECTBHTE/ILHBIX, YTO MOXET IIOMOYL B
onpeacietn ob1iel TeMaTHKM Texcra. B xome nepBoro YreHus ChAeayer
PEKOMEHA0BATh OTMEYaTh CJIOBA, CIIOBOCOMETAHNS H NPETIOXKEHHS, CMEICT]
KOTOPBIX OCTAeTCA HETOHATHIM (YACTHYHO WIH TOMHOCTEIO).

Bropoe mpouTeHHE TEKCTa HOCHMT yxe Apyro# xapaxrep. Ilpu pa-
fore noMa MONL3UBAHME CAOBAPEM OOIYCTHMO, HO TOJNBKO HA OCHOBE
METOIMKH, OTPabOTaHHOH B JIEKCMYECKMX YNPAOKHEHMAX, — C Mpeapa-
PHTEABHEBIM aHATK30M CI0BA M COCTABIIEHHEM THIIOTESEl O €10 3HAYECHMHU.
TexcT npoynThIBaETCA MEMICHHO, NPEAIOXKEHUE 32 MPEIOXEHUEM, a
TIO XORY YTEHMS BBITIONHAICTCA 3AIAHNSL, [IOMELICHHEIE CPasy [TOCe TEKCTa.
Pe3y;IbTatoM 3TOrO MTSHHS JODKHO SIBHTHCSA NMOHMMaHHWe MHGOPMAalHy
KaXKAOTO MPEeANOXEeHHs!. 3apepIudiolliee, TpeThe MPOYTEHUE Halpasie-
HO HA BOCHPHATHE TEKCTA KAK €OHHOTO CMEICIOBOIO LIENIOTO.

KoHKpeTHEIE 3alaHMsg K TEKCTaM, Hpecienys obuiylo ueinb pas-
BHTHS HaBbIK2 MOHHMaHHH TEKCTa, MOTYT ObITh HampaBACHBI Ha:
a) MOHMMaHMe CIPYKTYDH], a Yepe3 Hee Ha BOCIPUATHE MHPOPMalHI
TeKCT2, 6) MOHMMAaHHe CIOB U CIIOBOCOYETAHMM; B) MOHUMAHUE CMEIC-
JIOBBIX CBsA3eil BHYTDH TEKCTA; I') NMPOBEPKY NMOHHUMAHHMA OTACHBHAIX
TPYAHBIX MECT MyTeM IepPeBoda Ha pyccKMH 43miK. Bee 3ananma nosmk-
HE BHIIOJHATHECH ¢ MaKCHMaJIBHOH ONoOpoil Ha TExCT, T.e. mpe-
JYCMaTPHBAIOT BOCIPOM3BEJEHHE COOTBETCTBYIOUIEH 4acTH TeKcTa.

3anaHug, CBA33HHLIE C ONMO3HAHWEM CTPYKTYDPHI, MOTYT OBITH 06-
JleYeHsl B SBHYIO WIH cKpuityio dopMmy. K ynciy SBHLIX 3amaHMit OT-
HOCHTCSI ONO3HaHKe CTPYKTYD 1Mo monensM. bosee cnoXHbIMH, HO H
Gonee OPMEHTHPOBAHHBIMM Ha OCHOBHYIO 3alayy — YTEHHE M MOHH-
MaHMe — SBJSIOTCHA 3aJaHMH, B KOTOPBIX HE COIEPXMWTCA MPSMOro

* WUcnonb3oBaHMe 3TUX TEKCTOB [ PasBUTHA HABLIKOB YCTHOH PeY¥ HHMKO-
HM oﬁpaaom HE peKOMEHAYETCsI. .
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YKa3aHHUSA HA CTPYKTYPY, HO BBINOJHEHHE KOTOPLIX HOApasyMeBaeT ee
onosHaHue. Hanpuwmep, 3agaercs Bompoc, Tpedyioumil OTBeTa B ax-
THBE, a OTBET B TeKCTe comepxutcsa B naccuse (cM. Unit One, Text 1,
3agaHue 5, c. 19), unu Tpebyercs 1aTh XapaKTEPUCTHKY SBJICHMSA, OMH-
CaHHOrO B TEKCTe, KOTOpasg HEeBO3MOXHa 6e3 mpeobpajoBaHus HC-
NONL30BAaHHEIX B HeM cTpykryp (cm. Unit Two, Text A, 3amanue II,
§ 2, . 3; § 3, n. 2), v TpeOyeTCA BRIIEAMTD MpeLIOXEHHE — HOCH-
Tenp undopManuy ab3aua, a 3T0 NpeUIOKeHMe BKmouaeT smdbaru-
4ecKyro CTpykTypy (cM. Unit Four, Text A, sanaume II, § 1, m. 1).

3anaHus, CBA3aHHBIE C IIOHMMAHHEM CJIOB M CIOBOCOYETaHHI,
TaKoKe MOTyT ORITh SIBHRIMH H CKPHITBIMH. B KauecTBe SBHOIO 3amaHus
HapboJlee pacnpocTpaHEeHHEIM sABIAETCA TpeGOBaHMe JATh PYCCKMid
3KBMBAJICHT SBHO HEH3BECTHOro CI0Ba (WIM C/IOB) HA OCHOBE KOH-
TeKCTa ero ynorpebneHnda. boiee ciioxHoe 3anaHue MPEACTABISIET CO-
60#t TpeboBaHMe OMO3HATL B TEKCTE COBA (CIIOBOCOYETAHHA) -~ HO-
CHTEH 3aJaHHOT0 cMbIcaa. OIHaKo GONLIIHHCTBO 3aNaHHi, CBA3AHHbIX
€ NMOHUMAHHEM CAOBapf TEKCT4, O CYTHM Aeja, CMBIKAIOTCS C 3ala-
HHUAMM, HANpaBJIeHHBIMM HA MOHMMAHHE €ro CMbLICIA.

Cpeny 3amaHmif, HAMPABAEHHBIX HEMOCPERCTBEHHO HA pacKphITHE
uHgopMaluy, €4Ba JIM HEe CaMbiM BaXHBIM SBIACTCH OTOXIECTBIIE-
HHE MECTOMMEHHI M CIIOB (CA0BOCOYETAHME) MECTOHMEHHOIO XapaKTe-
pa ¢ TeMH CIOBaMH (M OTPE3KAMH TEKCTa), KOTOpPhIE OHHM 3aMEHSIOT,
BaxXHOCTE 3TOTO HABLIKA OIS POLIECCa YTEHHSA HEBO3MOXHO IIEpeoLe-
HMTH. YCTAHOBJICHHE CMBICIIOBOTO TOXAECTBA MEXTY OTAEABLHBIMHA CJIO-
BAMH H OTPE3KaMH TEKCTA ABIAECTCA OCHOBOM MOpolecca KOMMY-
HHUKALMH, KOTOPBIA 6e3 310oro HeBo3MoXxeH. [Tponecc 3ToT mpoTekaer
OINMHAKOBO BO BceX s3biKaX. OFHAKO B MHOCTPAHHOM S3BIKE KaxXnaas
HOBasl CAIOBapHad eJAWHMIA, BBOAHMAS B TEKCT (YCTHBIA MM MMCH-
MEHHBIH), BOCTIDHHUMAETCH HEpPENKO He KAK HOBBHI crmocob BhIpaxe-
HHA YXe YIIOMSHYTOIO, a Kak HeYTO HOBOE W no comepxanmio. Ocoben-
HO 3TO OTHOCHTCS K CJIOBaM, OPU3BAHHHM 000GIHINMTE WIH MOABITO-
XKuTh paHee CKasaHHoe (HanmpuMep, the situation — Unit One, Text A,
samanue II, § 1, m. 2). B cBs3m ¢ 3THM JaHHOMY 3aZaHHIO CAGOyeT
YAENHTL ocoboe BHMMAaHMeE.

YcTaHOBIEHHE CMBICIOBBIX CBSI3€H BHYTPHU TEKCTA DA3HPYETCS TAKKe
Ha pasAHYHOTrO pOJa CBA3YIOIIMX 3JIEMEHTAX — COI03aX, BEOZHHIX CJIO-
Bax M T.1. B cBA3M ¢ 3TMM BBEOEHO 3aJaHNe Kax Ha OMO3HAHHE TaKHX
IEMEHTOB, TaK ¥ HAa OCO3HAHHE HX CMBICHA.

K 3amanmsaM, HampapleHHHIM Ha PacKPBLITHE CMBICAA TEKCTa, OT-
HOCHTCH TaKXe Mpockba 03armaBUTh TEKCT, Pe3lOMHPOBATh €ro, BbLIE-
AUTb GCHOBHYI0O M BTOPOCTENCHHYIO MHGDOPMAnKIo U T.0,
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IMpenycmarpusaeTcst Takxke psjl 3aaH{iA, HaNpPaBJeHHbIX HA [PO-
BEPKY IMOHHMaHUA OTHENBHBIX 3JICMEHTOB U OTPE3KOB TEKCTA ¢ NOMO-
IIBIO IEepeBojia Ha PYCCKMM A3bIK, KOTOpPHIE Bpsd JH HYXIOAIOTCH B
KOMMEHTapHH.

Bea cucteMa 3agaHMil HaNpamRdeHa HE TOJbKO Ha NMPOYTEHHME HaH-
HOIO KOHKPETHOTO TEKCTa, HO M Ha Pa3sBUTHC HABbIKA YTEHMS Booblue,
Ha BBIpabOTKY CTparers VTEHMs, Ha PasBHTHE HABBHIKOB YTEHHS C pas-
HOWM 11e/1eBOM YCTAHOBRKOH M CKOpOCTbio. UIMEHHO 3TO ABNSAETCA OCHOB-
HOM 3anayedl He TONBKO HAHHOTO pasjeNia, HO M BCErD Kypca B LEJOM.

O nonb3oBaHEn CI0BapeM

B cB3u ¢ 06yuyeHHEM YTEHHIO HEH3GEXHO BCTAET BOIIPOC O MECTE
cnopapa B nporecce ureHns. HecOMHEHHO, ClOBAph ABJACTCH He-
3aMEHHMBIM MCTOYHHMKOM MH(OpMauMM CNPaBOYHOTO XapakTepa Mif
TEX, KTO YMEeT UM nonb3oBarkca. OmHako 3170 YMCHME OaneKo He CBO-
JMTCA K 3HAHMIO andaBrTa ¥ 3HAKOMCTRY C CHCTEMOM OpraHm3alHy JaH-
HOMo KOHKPETHOTO ciiopaps. [IpaswibHoe MCoAR3OBaHHE COBPS MO~
pasyMeBacT NPENBAPUTENBLHLIN aHAIH3 CTIOBA B TEKCTE M CO3NAHHE TUIIO-
Te3W O €ro 3HAYEHWM, TMNOTE3bl, KOTOpas M IPOBEPSETCH 3aTeM IO
cnosapio. Takass npoBepka O3Ha4YaeT BIYMYHBOC NMPOUTEHHE BCEH Ciio-
BapHOH Crarhbd ¥ TMOMBITKY CO3MaTh OOllee MPENCTABIEHHE O CMBICHE
CJIOBA U COMOCTABHTD 3TO MPEACTARICHHE C €0 KOHKDETHLIM HCIIOM30-
BaHMeM B naHHOM TekcTe. TONMBEKO MPH TaKOM MOAXOle CIOBAPbL MOXET
BHECTH CBOif BXJIaA B npouece o0yueHud. B NpOTHBHOM ciIydae CIOBaph
CTAHOBHTCA MCTOYHMKOM JUIKHHEBIX CITMCKOB C/IOB C MEXaHWHMECKW NpH-
'BA3RHHBIMM, CIYYAMHBEIMM PYCCKUMH 3KBHBANIEHTAMM, KOTODbIE ILTOXO
JAMOMMHAIOTCS JIIONLMH C aHATHTWYECKUM CKIafOM MEIIUICHHSL.

O Texmmxe ITEeHAN

YMeHHWe YHMTATh W M3BAEKATh HHGOPMALMIO W3 NPOYHTAHHOTO He
Mofpa3yMeBaeT aBTOMATHYECKH YMEHMS WICHOPA3deIbHOTO YTCHHSA
BCAYX ¢ LEAbIO mepeaayn HHGOpMAlMM JPYToMy JHLY (HIH JHLAaM).
OnHako 310 yMeHHe HeoOXOoMMO AJist BGYIYLIEro YYEHOrO, SCIH OH He
cODUpaeTcsi OTPaHHUYKTH CBOE OGIHEHHE C MHOCTPAaHHBIMM KOJUIEraMM
MEYATHLIM CJOBOM M ILTAHMPYET YYACTHE B PA3IMYHOIO pona KoHge-
PEHLMSX, TOe eMy IpMIETCs Lenath ycrHbele coobumenus. Kak npasu-
710, TaKOE BBICTYILIEHME 3aKioyaeTcsd B 3aUHTHIBAHUM DAHEE Hamu-
CaHHOroO TeKcTa. B Crsi3M ¢ 3THM OUEBHIHA HEOOXOAUMOCTL PAIBHTHA
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HaBbIKa uteHus soayx [Ipu 9ToM moapazyMeBaeTcs He yMeHue BHAT-
HO NpoYecTh Moboit TeKcT 63 NoAroToBKH, a CNOCODHOCTh APABHABHO
MPOMHTOHUPOBATL M MOATOTOBUTH JUIS UTEHHs 3aBeAOMO NOHATHBIN K
3HAKOMBIH TEKCT.,

DTOT HABLIK IpeararaeTca orpabarbiBaTh Ha JIOOOM NMpOHAEHHOM
TeKcTe (MpEeIIOYTHTENEHO Ha TaK HA3LIBAEMBIX MIKPOTEKCTAX).

O pa3puTHE HABBLIKA MHCHMEHHOH peyn

Bea meromuxa paboThl ¢ TEKCTOM ORHOBPEMEHHO 3aKiiagbiBaeT
OCHOBY ISl pasBHTHA HAaBBIKOB NMHCbMEHHOH peud. Takoit ocHOBOH
ABAACTCA HABBIK PACCMATPHBATH TEKCT Kak MCTOYHHK uHbOpMariy,
BLIPDZXKEHHOHM ONpENe/iCeHHMMH CTPYKTYPaMU M APYTHMH 3/7€MeHTaMHU
TEKCTa, CEA3biBaTL TOHATHA HEMOCPEACTBEHHO ¢ (POpMOiIl MX BHIpa-
¥EHHS Ha aHMIMIICKOM SI3BIKE M ONnepMpoBarb KyCKaMH TeKcTa JAmd
BbIpRXEHHUA 3aJaHHOTO CMBICAR, HE HpHOeras K Hepesoay Ha pycckuit
36K, OTclo/ia HETPYAHO NepeiiTi K ITHChMEHHBIM 3a/iaHUAM 1O pe3jo-
MHPOBaHHIO M pe)epHPOBAHHIO «CNOBAMH TEKCTa», QO CBEPTHIBAHMIO
TeKCTa B Ooee KOHLEHTPHUPOBAHHYK (OpMY.

B HacTosiieM M3RaHHMH 3aJaHWid K TEKCTY, KOTOPHIE MOXHO pac-
CMaTpUBAaTh KaK HaNpaslcHHbie Ha pa3sBUTHE HaBhIKA NMUCHMEHHOI
pedH, sIBHO HEJOCTATOYHO. B KayecTBe KOMNEHTAIMH B KHHUTY BKIIO-
yeHo [lpumoxenne, comepxalllee HEKOTOPhle CBEJICHHMS, HEOOXOAM-
MBbI€ Ji% COCTABNCHMS aHHOTALUMI W Te3ucoB. B janbHeiiineM aBTOpEL
HaMepeHE! paszpabotath 60jiee NOMHYIO CHCTEMY YIIDAXHEHUI MO pa3-
BHTHIO HaBbIKa NNHCBMEHHOH peYH Ha 6asze YMEHUA UMTaTh.

Nomenclature
Adj. — adjective — npHaararenbHoe
Adv. — adverb - Hapedue
Cl. — clause — [PUIATOYHOE NPEeNIOXKEHHE
Conj. — conjunction " — comw3
D. — determinative — OnpeaenuTesib
Emph. — emphatic — YCHWIHTEABHbLIE C/IOBa

¥ CIIOBOCOYETAHUS
Inf. — infinitive — MH(pUHUTHB
N — noun. — CYHIECTBHTEJIBHOE HAY SKBHBAICH-
. THOE €My C/IOBO (rpynma ciioB)

N’s — HMSl CYLLECTBUTENILHOE

B MPUTAXKATEILHOM IAaJexe
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N, — subject — N B ¢yHKUMH ITOMIEXKALUETO

N, — object — N B $YHKUMM JOMOITHEHHA

Neg. group — CJOBOCOYETaHHWE, BKJIIOYAloilee
CJIOBO C OrpaHHYMTENILHO-OTPHLIA-
TEALHBIM CMBICJIOM

Num. — numeral — YHCIHTENBHOE
Part.1 (II) — participle I (II) — npuvactue I (1)
Phr. — phrase — CNOBOCOYETAHME
Prep. — preposition ~— [pemior
Pron. — pronoun — MECTOHMEHHE '
Pron. poss. — pronoun possessive — MPHTSKATEIbHOS MECTOMMEHHE
Pron. rel. — pronoun relative — OTHOCHTENEHOE MECTOMMEHHE
S5.— sentence — IpeUIoXEHHe
V — verb — IHarofl B MUYMHON WM HEIMYHOU
dbopme
V,, — verb active — IJIaroit B JIGICTBHTENBHOM 3aJ10Te
V., .— verb auxiliary — BCTIOMOTATeNbHBIH [NIaro
Ved - riaronpHas dopma
¢ OKOH4YaHuMeM -ed
V, — verb finite : — mayHas opMa Iarosia, a Taxxke
moGoe Apyroe ckasyemoe
Viper — VeI imperative — [JIaroi B TOBEMHTEABHOM
HAKJIOHEHUM
Ving — TaarofsHast ¢GopMma
n C OKOHYAHHEM -ing
V... — verb modal - MOMANbHEIA r1aron
V,,— verb non-finite — HenMyHad Qopma marosa
V__— verb passive — FJIArON B CTPaJaTebHOM 3anore

Vs — verb, 3rd person, singular— r71aron B 3 1. efl. 4. HACT. BD.

Indices

e — IOPSAKOBLI HOMEP JaHHOTO KOMITOHEHTa

— 3HAaK Clle[JOBAHMS KOMIIOHEHTOB JPYT 3a APYroM
— BO3MOXHOCTb BapHaHTOB

) — BO3MOXHOCTb OTCYTCTBMA JJAHHOTO KOMIIOHEHTA
— HAIHYHE JIEKCHYECKOTO OrpaHH4eHHsI

without to — ynorpe6Gnenne MHPHHUTHBA Ge3 YacTULBI to

Y e

A — YKa3aHHe HA OMYIISHHBIA XKOMIIOHEHT
- — 3HaK TpaHc(opMaluun OJHOM CTPYKTYPH B APYTYIO
2-—2355
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UNIT ONE

GRAMMAR: WORD ORDER IN THE SENTENCE AND ITS
MESSAGE. PREDICATE VS. ATTRIBUTE. TOPIC:
SCIENCE: GENERAL PROBLEMS,

STRUCTURE STUDY:

1. Passive Structures and Their Message (Patterns 1—2).

2. Ambiguous Ved Forms (Patterns 3—35).

3. Ving Forms: Position and Function in the Sentence:
a) Unambiguous Ving Forms (Patterns 6—9);
b) Unambiguous Combination of Ving and N (Pattern 10);
¢) Ambiguous Combination of Ving and N (Patterns 11—12).

WORD STUDY:

1. English-Russian Word Relation.

2. Word Structure (-er/-or, -ment, -tion, -(u)al, -ent/-ant, -ence/
-ance, N < V).

3. Word Meaning (background, case, facility, imply, involve,
matter).

4, Word Combinations.

5. Structure Words (it/they, its/their, this/these, that/those, one/
ones/one’s, little/few, a little/a few, much/many).

TEXT STUDY:

Introduction.

Text A. Science and Technology (for class-room reading and analysis,
and home translation).

Text B. What Science Is (for class-room comprehension reading).

Text C. Research: Fundamental and Applied, and the Public (for
home practice in different reading skills).

Text D. Scientific Innovation: Its Impact on Technology (for class-
room practice in understanding spoken English).

/
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STRUCTURE STUDY
1. PASSIVE STRUCTURES AND THEIR MESSAGE

Pattern Study (1)

Pattern 1:

-N,. ..V, (Prep.). . .(by/ with-phr.). . .

The idea was first suggested by Prof, X. Ota Mbicip Gbita BriepBuIe
BHICKa3aka npod. X.

An idea was suggested to use another method. Bruta Bhicka3zaHa
MBIC/Ib HCIIONBL30BATh OPYToil METON.

Pattern Practice (1)

Ex. 1. Identify the passive structures and the logical predicates,
translate the sentences into Russian as shown in the fol-
lowing example.

Example: More evidence was obtained to support the idea.

“Evidence was obtained” is the passive structure, “more
evidence . . . to support the idea” is the logical predicate.
Buviau nonyuennt nosvie dannsie @ noodepoacky smoii udew:

The problem was first recognized in the 19th century. Later an idea
was suggested to apply it to practical things. Many possibilities fot prac-
tical applications were analysed. Some of these were tested by experi-
ment. The experimental wesults were not generally accepted, and the
idea was discarded. Then other consequences were deduced and a new
model proposed. Recently the model has been modified and is now
being used in many practical situations. ,

Ex. 2. A. Practise orally by using impersonal passive structures

as shown In the following example. ‘

Example: We (the author, they, etc.) have found that. . , . It has
been found that. ...

1. I must admit that.... 2. He has found that.... 3. Everybody accepts
that.... 4. I beheve that.... 5. The author hopes that.... 6. Scientists some-
times say that. .. 7. Most people assume that.... 8. Physicists recognize
nowadays that...
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B. Give English equivalents of the following Russian phras-
es using impersonal passive structures and adverbs “wide-
ly,” “generally” where required.

1. T'oBop#Tt, yro.... 2. [Tpemnonaraercs, yro.... 3. MoxHo HagesTscs,
4TO.... 4. CneayeT NMpH3HATH, 4TO.... 5. Buino HaimeHo, uTo....
6. OGIIENPH3HAHHO, 4TO.... 7. Cunralort, 4T0.... 8. IIIpoko pacnpoctpa-
HEeHO MHEHHE, YTO....

Pattern Vocabulary (1). List 1

" Remember some of the verbs taking a direct object in English but equiva-
lent to Russian verbs followed by a preposition.

to affect — BamnTh (Ha);

to answer — orBe4arh (Ha);

to approach — nomoiit (x);

to attend — mpHCyYTCTBOBaTh (Ha) (M AXTHBHO y4acCTBOBATh);
to consult — xoHcynbTHpOBaTHCA (Y, €);

to enjoy — noay4aTh YAOBOALCTBHE (OT), IONB3IOBATHCH;

to follow — cnemoBaTts, CIeIuTh (3a);

to influence — BmuATEL (Ha),

to join — mpucoeAMHATLCA {(K);

to watch — HaGmionars (3a).

Ex. 3. Identify passive structures and give Russian equivalents of the
relevant paft of the sentence as shown in the following exam-
ple. .
Example: Under these conditions the quéstions cannot be answered
unambiguously. “The question cannot be answered” ....
Ha eonpoc neavas omsemumo ....

1. Some people are easily influenced by other people’s opinions.
2. The distribution of plants is greatly affected by local conditions. 3. The
seminar was attended by all the participants.4. His lectures are always
followed by heated discussions. 5. In several areas of research the efforts
of scientists are joined by those of philosophers and sociologists. 6. At
the university students are offered a curriculum of study which is fol-
lowed by a test and the award of a degree. 7. The members of the labora-
tory were consulted prior to this successful operation.
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Pattern Vocabulary (1). List 2

Remember some of the verbs followed by a preposition which is re-
tained in the passive structure.

to account for — OOBACHATE (CYXHUTb OGBACHEHHEM, YUHTHIBATD);
to agree upen — JOrOBAPHBATLCH (O);

to call for — Tpe6GoBaTs, HPU3LIBATE (K);

to deal with — umMeTs meno {c), pacCMaTpHBATh;

to refer to — cchnarecsl (Ha), YIIOMHHATh, to refer to as — Hasunan
to rely on/upon — monaratscs (Ha);

to substitute for — BBOAMTH, MTOACTARIATE (BMECTO);

to think of — myMath (0), to think of as — cuuraTe. ,

Ex. 4. Identify passive structures followed by & preposition and give
Russian equivalents of the relevant part of the sentence as shown
in the following example.

Example: Such things are not even thought of before the discovery is
actually made. “Things are not thought of . . . ”. O (maxux)
geuax He dymaom .... |

1. This method has been referred to in an earlier paper. 2. I do not
think this instrument can be relied upon. 3. The data cannot be account-
ed for by the existing theory. 4. This theory has been referred to as the
“big bang” theory. 5. The best treatment of this syndrome is generally
agreed upon. 6. Rapid development of chemical technology has been
called for by the needs’of the national economy. 7. The prolongation of
life may be thought of as a feat of endurance rather than a race against
time.

Reading Practice (Pattern 1)

Text 1. 1) Read the text to yourself and be ready for a comprehension
check-up.
SCIENTIFIC METHOD AND METHODS OF SCIENCE
It is sometimes said that there is no such thing as the so-called
“scientific method”; there are only the methods used in science. Never-
theless, it seems clear that there is often a special sequence of proce-
dures which is involved in the establishment of the working principles
of science. This sequence is as follows: (1) a problem is recognized, and
as much information as possible is collected; (2) a §Qlution (i. e. a hy-
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pothesis) is proposed and the consequences arising out of this solution
are deduced; (3) these deductions are tested by experiment, and as a
result the\ hypothesis is accepted, modified or discarded.

2) Check up for comprehension.

1. Find two sentences which express two different viewpoints on the
existence of “scientific method”. 2. What words show that the first sen-
tence is an opinion? 3. What word shows that these viewpoints are in
opposition? 4. Find the words equivalent to “scientific method”. 5. What
procedure does the scientist follow in his research?

Pattern Study (2a)
Pattern 2a:

..N.. Vi pass + + N/Inf. .. by/with-phr. . ..

The laboratory was given new equi pment. JlaGopaTopuu 66110 Bbl-
IeseHo HoBoe 000pynoBaHHE.

The scientist was asked to give his point of view on this hypothesis.
Y4yeHOro NONpOCHAM H3NOXHTh CBOIO TOYKY 3PEHHS OTHOCHTENLHO
ITO# FHIOTE3LL. ;

Pattern Vocabulary (2a). List 3

Remember some of the verbs that may be followed by an indirect ob-
ject which becomes the subject in the passive structure.

., to allow ™ FAIO3BOJATh KOMY-JI.
to ask CIPAIIKBaTE KOro-JI.
to give , JaBaTh KOMY-IL.
to offer npemiarartb KOMy-JL
to promise r' smb. oGelaTh KOMy-I.
to recommend PEKOMEHIOBATh KOMY-JI.
to teach YYMTE KOTO-J1.
to tell J coo0Iars KoMy-1.

Pattern Practice (2a)

Ex. §. ldentity passive structures and give Russian equivalents of the
relevant part of the sentence as shown in the following example.

Examuple: During the examination. the students are not allowed to
consult grammar books.
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“The students are not aliowed . . .”. Cmydenmam we
paspewarom (He paspewqemcs) ....

1. He was not offered any help. 2. We have been given all the neces-
sary information. 3. The institute was promised financial support. 4. The
speaker was asked a lot of questions. 5. The teachers are recommended
to give the passage as a talk. 6. If the mixture is allowed to stay overnight,
it gradually decomposes. 7. At that time girls were taught hardly more
than three R’s (reading, writing and ‘rithmetic).

Pattern Study (2b, 2¢)

Pattern 2b:,

. Ny .V, .. .. N, (Prep.)(by/with-phr.). . .
At present chemical methods of purifying water are extensively
made use of. B HacTosillee BpeMa XMMHYCCKHE METOOH OYHCTKH BOALI
LMIKXPOKO HCTONL3IYIOTCH.

Pattern 2c;
NV Prep. . N, . (by/with-phr.). . .
At present extensive use is made of chemical methods of purifying

water. B HacTositee BpPEMA IIIHPOKO HCIIONB3YIOTCH XHMHUYCCKHE METO-
OBl OYMCTKH BOIBL.

Pattern Vocabulary (2b, 2c). List 4

Remember the following V. . .N-combinations and their equivalents:

to give consideration to — to consider - paccMaTpVMBaTh;

to make allowance for — to allow for — yUMTHIBATh, A€NaTh [IONPABKY
(na);

to make a contribution to — to contribute to — BHOCHTE BKaal (E);

to make mention of — to mention — ynoMuHaTh (0);

to make reference to — to refer to — ccoinarecs (Ha);

to make use of — to use — HCINOJb30BATb, BOCIIOAL30OBATHCH;

to take advantage of — to make use of — BOCHOJBL30OBaTHCH,

to take note of — to take notice of - to pay attention to — obpaiaTh
BHHUMAaHHE.
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Pattern Practice (2b, 2¢)

Ex. 6. Identify passive structures according to Patterns 2b, 2c and give
Russian equivalents of the relevant part of the sentence.

i. This atmospheric interference has often been made reference to
by radio and TV commentators. 2. Unfortunately no advantage was tak-
en of the fast reaction rate. 3. So far no notice has been taken of the
obvious advantage of this technique. 4. His curiosity was excited when
reference was made to still eariier publications. 5. Recently the problem
has been given close consideration in connection with a new space
project. 6. Mention has already been made of the fact that gold is slowly
attacked by these substances. 7. Several outstanding contributions have
been made to the study of crystal growth. 8. There is no doubt that in the
course of further scientific development extensive use will be made of
modern computing machines and electronic devices.

-

Reading Practice (Patterns 1, 2)

Text 2. 1) Read the text to yourself and be ready for a comprehension
check-up.

Recently much attention has been given to the study of this phe-
nomenon. In this paper new experimental observations are presented
and discussed. The data have been obtained assuming a new model of the
mechanism involved, which was suggested in an earlier study by the
author. The measurements have been carried out with a conventional
apparatus slightly modified by the author. All possible sources of error
are taken into account and consideration is given to the advantages and
shortcomings of the present approach. The results are analysed and the
analysis is followed by a comparison of the data obtained with those
available in literature. It is hoped that the disagreement may be ac-
counted for by an improved experimental technique of the present
investigation. t ’

2) Check ur; for comprehension.

1. Is it an abstract, a summary or a conclusion? 2. What was the
author’s theoretical contribution? 3. Did anybody else study the phe-
nomenon? (Find two sentences to support your answer). 4. Do the
author’s resulis agree with those reported in literature? 5. How does he
account for that? 6. How does the author increase the accuracy of his
results? :
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2. AMBIGUOUS VED FORMS
Pattern Study (3, 4, 5)

Pattern 3
.. .N.. .Ved (Prep.). ..

1) Prof. X proposed a new working hypothesis. Ilpogeccop X npemio-
XHI HOBYIO pabouyio THINOTE3y.

2) The. hypothesis proposed (by Prof. X) accounts for all the
experimental observations made. — The hypothesis which is (was)
proposed (by Prof. X) accounts for all experimental observations
which were made. Ilpemnoxentas (mpogeccopoMm X) rumortesa
oOLACHAET BCe CAGNAHHEIE KCINEPUMEHTAALHEIC HAOMIOIeHN.

Pattern 4
. N. . .Ved’ (Prep.). . .Ved"” (Prep.). . .

1) The hypothesis proposed agreed with the experimental observation.
—» The hypothesis which is (was} proposed agreed with the
experimental observation. IlpennoxeHHas rumoresa OpUIa B corfa-
CHH C 3KCTIEPHMEHTAILHBIMM HaOIIoneHIAMA,

2) For some time scientists remained interested in the problem.
B TeueHMe HEKOTOPOrD BPEMESHH YYEHBIE COXPAHSIN HHTEpEC K
3TOH mpoGreMe.

Pattern 5:
. N...Ved (Prep.). . .Ved"” (Prep.). . .N"
1) The institute installed modernized equipment. B mHcTHTYTE ycTa-
HOBJICHO MOIEPHH3UPOBaHHOE 00OPYHOBaHME.

2) The equipment installed modernized our laboratory too. Ycranos-
JeHHoe ofopynoBaHue MOACPHU3HPOBAIO M Haury jaabopatopHio.

Pattern Practice (3, 4, 5)

h ]

Ex. 7. Identify the predicate and give Russian equivalents of N.. Ved
as shown in the following example.

Example: Later on scientists accepted the hypothesis rejected previ-
. ously for wani of experimental evidence. “Accepted” is the
predicate; scientists accepted — yueuwie npunasu; the hy-

pothesis rejected — omaepaHymas zunomesa.
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1. The method applied increased the accuracy of the results. 2. After |
a heated discussion the laboratory applied the method improved by Dr. §
N. 3. The scientist theoretically predicted complicated interaction be-
tween the components involved in the process. 4. At that time the prob-
lem presented increased danger of radioactive contamination and en- !
countered opposition at most laboratories concerned. 5. The hypothesis 1
concerned synthesized materials and did not apply to natural products.
6. Heat resistant materials developed in the last decade produced a rev-
olution in a number of industries. 7. Automatized information. process-
ing radically modified the method devised. 8. The crystal produced re-
vealed cracked faces. '

Ex. 8. Identify the structures according to Patterns 3—5 and give Rus- }
sian equivalents of the relevant part of the sentence. -

A. 1. The plants affected by the cold produced low crops. 2. The ]
Conference attended by scientists from different countries discussed |
new trends and methods in this field of research. 3. One of the rights §
enjoyed by University scientists is that of combining research with 9
teaching. 4. The discovery followed by further experimental work stimu-
lated research in this area.

B. 1. Mathematics, mechanics, statics and geometrical optics re- |
ferred to as classical disciflines started mathematical traditions in the ;
history of natural science. 2. The heads of the laboratories were asked §
questions formulated and agreed upon by a group of sociologists. 3. The |
scientist’s eloquence substituted for logical argumentation in defend- |
ing an “extreme” viewpoint failed to win the audience over. 4. The |
mixture allowed to stay overnight gradually decomposed. S. The physi- |
cists showed that particles thought of as “elementary” were in fact |
“non-elementary”. 6. The subjects dealt with under this topic aroused a
heated discussion. "

Reading Practice (Patterns 3, 4, 5)

Text 3. 1) Read the text to yourself and be ready for a comprehension
check-up. i
Last month our laboratory developed a new technique required for
thermodynamic studies of a two-phase system.\The technique allowed us?
to obtain results predicted by theory. The results obtained disagreed
with earlier data reported by Dr D. At our laboratory seminar Prof. S.}
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\
suggested a new model to account for the mechanism of the process
involved in the system. The model suggested described adequately the
thermodynamic peculiarities studied by Dr. D.

2) Read the text. Follow thé course of events concentrating on the
Ved predicates while omitting the Ved attributes.

Pattern Revision (Patterns 1—5)
(to be done at home in written form)

Ex. 9.

A, Identify the structures according to Patterns 1—5 and give Rus-
sian equivalents of the relevant part of the sentence.

1. The usual procedure is that information storage is followed by
information analysis. 2. The procedure proposed provided the required
mechanism of reaction. 3. The opening session of the Congress was
preceded by a meeting of the General Assembly to elect a new president.
4. It must be admitted that the problem of science classification can be
approached from several viewpoints. 5. There are fields which cannot be
dealt with on a national scale only, such as environmental protection,
space exploration and so on. 6. The difficulties encountered by anyone
who attempted to solve the problem are much greater than those faced
in the endeavour to reach the summit of Mount Everest. 7. In most
important applications cotton has been substituted for by synthetic
fibres. 8. The rate of the reaction is affected by the change in such
parameters as concentration, temperature and pressure. 9. Under these
circumstances one is faced with a magnified form of a danger common
to all inventions: a tendency to use them whether or not the occasion
demand. 10. In most cases the solution of such problems is called for by
industrial needs. 11. It is often argued that in the 20th century we are
left with no expansion of wisdom and with greater need for it.
12. When at last the patient is allowed to sleep he will probably wake
up after 'some 10—12 hours. 13. These ideas are hardly recognized as
mathematics at all by the people trained in the classical branches of the
subject. 14. Some aspects of the foregoing topics are dealt with in the
next chapter, and a number of problems created by some of the new
activities are mentioned but not discussed in detail. 15. Some diseases
may show only when an organism containing mutant genes is influ-
enced by certain factors of the environment. 16. No attempts have been
made to list all the contributions in which different procedures have
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been developed and later used. 17. Recent discoveries in all sciences }
have been greatly assisted by the developments in contemporary re- |
search techniques dealt with in the last section of this book. 18. The
congress attended by scientists from all the institutions concerned at-
tracted much attention and was referred to as a most representative
forum in this field. 19. An alternative to the models discussed above is
the steady-state theory of continuous creation referred to earlier and 4
depicted in Fig. 1.

B. Give English equivalents of the italicized part of the sentences,
using passive structures and the verbs: to affect, to allow, 1o "
attend, to develop, to deal with, to face, to follow, to make use |
of, to refer to. "

1. 3a doxnadom nocaedosasa 6ypHas duckyccus. 2. Ha cxopocmb pe-
QKUuU énusem MHOXecmeo NPYTHX ghakmopos. 3. Fmom eonpoc 6ydem |
noapo6Ho paccuompen B tnaee 111. 4. Ha 310l cramium mb cmonkuyaucs |
¢ HOBHIMHM mpyodnocmamu. 5. Emy ne daau 603modcHocmi: 3aKoH1umb 31y §
pa6orty. 6. B riocnenHee BpeMs ama meopus YacTo YHOMUHAEmcs BO MHO-
rux cratesix. 7. CeMmunap, na Komopom npucymcmsosanso BCero 5 weno-
gex, TIPOLLIEN BSUJIO M HeuHTepecHOo. 8. [Ins Toro 4robsl IPeononeTh 3TH )
HEJAOCTATKH, UCHOAb308aAN HOBYI0 MemoOUKY, CUCUHANLHO paspabo-
mannyre IS AAHHOTO 3KCIIEPHMEHTa. ]

C. Translate into English.

1. TIpo6nema Gbuta BIEpBHE I0CTaBReHa (oco3HaHa) B XVIII Bexe.
2. TpennonaraeTcs, YTC MONYYEHHBIE PACYETHbIE AAHHKIE OLUIM NPO- |
BepeHsl aKcnepuMeHTanbHo. 3. Teoprs 6bula IPHHATA GONBIIMHCTBOM |
YYEHBIX TTOCIIE TOro, KaK GhUTH MOAydeHb! HOBBIC JOKA3aTe/IbCTBA B €€ |
romaepxky. 4. (B crathe) nipeacTapieHbl HOBBIE JAHHEIE OTHOCUTEINIBHO §
MeXaHH3Ma 3TOTO IIpouecca. 5. DTO PacXOXIECHHE MOXHO OOBACHHUTD
pa3HbIMHM MeTOIMKaMu u3Mepenus. 6. (B paGoTe) ncrons3oBas HOBHIH §
METOJ pacyeTa 3TOr0 MapaMeTpa M HpEeAJIoKeHa HOBas MOXeNb Ipo- §
uecca. 7. Qcoboe BHUMAHHE YIEJIEHO CPABHEHUIO SKCTIEPUMEHTANBHO |
MOMY4eHHBIX Pe3yNbTATOR C pe3yNbTaTaMH, MpeacKa3aHHBIMH Teope-
tTHuyeckd. 8. B n1aGoparopuu ycTaHOBIEHO HOBOE 060pyLOBaHKe. ]




3. VING FORMS:
POSITION AND FUNCTION IN THE SENTENCE

a) UNAMBIGUOUS VING FORMS
Pattern Study (6, 7a)

Pattern 6;
.WVing (N). ..V, ..

Recognizing a problem is the first step to its solution. IToctaHoBka
npobneMBl O3HAYaeT IEPBEIA MIATr HA MYTH K e PEelieHHIO.

Pattern 7a:
...Ving (N,).. .N,...V...
Recognizing a problem the scientist makes the first step to its solution.

Moctrasus npofnemy (MOHSB, 9T0 lpobieMa CyNIECTBYET), YYeHhiit
[€/1aeT MEPBBI 1Iar Ha IYTH K €€ PEINEHHIO,

Pattern Practice (6, 7a)

Ex. 10. Identify the structures according to Patterns 6—7a and give
Russian equivalents of the relevant part of the sentence as
shown in the following example.

Example: Noficing relationships in his observations, the scientist at-
tempts to classify and explain them.

Noticing. . . the scientist attempts. . . . 3amemus. . . yuenviti
neimaemcs. ...

Noticing relationship in his observations is very important
Jor every scientist.

Noticing. . . is important. . . . Samenamps. . . saxcro. . . .

1. Establishing relationship between the phenomena of the Uni-
verse is @ major task of theory. 2. Having reported of his discovery of rays
of unknown nature Bequerel excited the curiosity of Marie Curie.
3. Realizing the necessity for a different approach the physicists reluc-
tantly abandoned the project. 4. Confining his attention to one problem
the scientist will surely achieve its solution much sooner. 5. Putting the
discovery to use sometimes requires more effort than making it. 6. Pointing
out their mistakes to some people is often quite difficult.

\

29



Pattern Study (7b, 8)

Pattern 7b:

..N,. . .¥. . .(N,/Prep. phr.). . .Ving. . .

1) The scientist is often interested in a problem, disregarding possible
consequences of its solution. YuyeHslit yacTo HHTepecyeTcs npobie-
MOIii, He ofpainas BHUMAaHHUA Ha BO3MOXHBIC ITOCHAENCTBHA ee pe-
LIEHMS.

2) Normally the atom has equal amounts of positive and negative
charges, making it “neutral”, B oGRYHOM COCTOSHMM aTOM MMeeT
PABHbIE KOMMYECTBA MMONIOXUTENEHOTO M OTPHLIATENBLHOIO 3apaaos,
YTO AEJIAET €ro «HEeUTpAILHEIM»,

3) The lighter, negatively charged particles in the atom are electrons
moving in orbits around the nucleus. boneg serkue, OTPHLIATENHLHO
3apsOKeHHBbIe YacTHLLRI B ATOME — 3JIeKTPOHBI, KOTODHE Bpallia-
10TCA IO opOHTaM BOKDYT siapa.

Pattern 8

...V...Ving. ..

Nobody can avoid making cccasional mistakes. Hukro He Moxer
n30eXaTh TOro, YToORl MHOLAA HE JeNaTh OmMNGOoK.

Pattern Vocabulary (8). List 5

Remember a few word groups followed by Ving.

it is no good, it is no use ~ Gecnone3sHO, He HMEET CMbICAA (HeaTh);

it is worth (while) — crToMT (menmats), 3acmyxuBaer (ycwinid, nem-
CTBMI M T.1.);

one cannot help — HeBO3MOXHO He (EeNarTh).

Pattern Practice (7b, 8)

Ex. 11. identify the structures according to Patterns 7b, 8 and give Rus-
sian equivalents of the relevant part of the sentence.

1. Every new idea is immediately taken up and developed further,
forming the initial point of an avalanche-like process. 2. It has been
shown that there is a distortion of the crystal lattice, accompanying the
charge-ordered state. 3. What is worth doing is worth doing well. 4: At
this stage innovation becomes a group and not an individual activity,
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involving both a sophisticated body of information and a sophisticated
technology. 5. Soon Pierre Curie joined Marie Curie in her search for
the “mysterious” substance, giving up his own research. 6. It is no good
stressing a paradox if you wish to excite curiosity of the audience unpre-
pared for the lecture. 7. In 1913 Bohr proposed the solar theory of the
atom, giving rise to still greater activity in both theoretical and experi-
mental nuclear physics. 8. Some people have been so scared reading
about harmful effects of smoking that they gave up reading. 9. Now
memntion should be made of the fact that geochemistry applies the con-
cepts of chemistry to terrestrial circumstances, studying the distribu-
tion of elements in the course of geologic evolution. 10. The editor
could not help detecting many errors both of fact and of thinking.
11. Are these prognoses really worth making? 12. To find out more
about the space scientists sent little moons, or satellites, circling in
orbits above the Earth. )

Pattern Study (9)

Pattern 9:
. .Prep. . . .Ving .

The success of any research depends largely on precisely defining
its objective. Ycmex mo6oro McciaeroBaHusA B 3HAMUTENLHOM CTENIEHM
3aBUCHT OT YETKOTO ONpeleNeHHs ero Ie/u.

Unfortunately the advantage of joining efforts for a complicated job
is not always understood. K coxaneHuo, NMpeHMYIIECTBO OO0BeanHe-
HUA yCUNUR 11 BRHIOAHEHHMS CIOXHOILO ACHA HE BCEIIA MOHHMAETCA.

By realizing the threat to our environment we have made the first
step to its preservation. OcosHas yrpo3y OKpyXalolllei cpene, Mbl CHe-
JIAMM TIEpBBIANIIAT HA NYTH K €€ OXpaHe.

\ Pattern Practice (9)

Ex. 12. Substitute the proper English words from the list below for the
. Russian wards in brackets.

1. His research (mpueeno K ycTaHOBIeHW1I0) a new principle.2. The
success of the space research program (ABHJICHS pe3yAbLTaTOM
coenuHeHuUA) the latest achievements in science and technology. 3. Using
modern: installations and techniques the scientists (yaaioch peliTb) a
complicated engineering problem. 4. Pure science (cTpeMUTCH MOCTHYB)
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the laws of the material world. 5. Traditionally chemists (3aHMMaNKCh
u3sMepeHusMu) the properties of matter and (anmanusom) the reac-
tions by which some chemical substances are transformed into others.
6. A quantum chemist (uHTepecyer nocrpoeHue) adequate mathemat-
ical models of atomic and molecular structures. 7. Prof. E. was the first to
see the advantages of the new approach and (HacTauBan Ha
UCHONL30BaHMA) it to interpret the results. 8. Adequate theories often
(u36aBIsUIM ydEeHBIX OT MpoBeAcHHs) many useless experiments. 9. This
group of engineers (orBercTBeHHa 3a MoAepHH3alio) the iaboratory
equipment. 10. The advent of electronic computers (cnocobcTBOBAIO
ocBoboXzZeHHI0) man’s brain from the labour of measurement and
computation.

to aid in freeing; to aim at understanding; to be concerned with mea-
suring and analysing; to be interested in constructing; to be responsible for
modernizing; to insist on making use of; to prevent scientists from making;
to result from combining; to result in establishing; to succeed in working out.

Ex. 13. Read the first sentence and complete the second one using
Pattern 9. Make use of the prepositions and the word groups
given below.

To test the idea, the scientists have carried out the experiment.
They did it ....

1. without; in addition to; in spite of; instead of; in view of; by,

2. to install new equipment; to propose an explanation of their own, to
collect more evidence for its support; to modify the model; to give up the
idea; to establish the mechanism of the process; to join the efforts of two
laboratories; to encounter dzﬁ‘ifulﬁes with conventional equipment; to put
to use a recent discovery; to make use of a new principle; to modify a
conventional device.

Ex. 14. identify the structures according to Pattern 9 and give Russian
equivalents of the relevant part of the sentence.

1. If you never thought of asking a question you are not interested in
having the answer. 2. If you want to succeed in interesting the audience
you should pot try surprising them with an isolated fact. 3. By having
defined one’s research objective one has already made the first, and
the most important, step towards the final success. 4. Modern chemis-
try is primarily concerned with building structural bonds between the
elements of matter. 5. Many useless experiments were prevented from
being made by an adequate theory 6 A true scientist is interested in
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being told about his mistakes. 7. Research is searching without knowing
what you are going to find. 8. Any single card should contain notes from
only one source. This will aid in arranging and organizing the materials
for your research paper. 9. We do not know how to solve the problem of
interesting schoolchildren in science. 10. His research resulted in esta-
blishing a new mechanism of the process. 11. Some people say that the-
ory s a device for saving time.

Reading Practice (Patterns 6—9)

Text 4. 1) Read the text to yourself and be ready for a comprehension
check-up. .

PURE AND APPLIED SCIENCE

As students of science you are probably sometimes puzzied by the
terms “pure” and “applied” science. Are these two totally different ac-
tivities, having little or no interconnection? Let us begin by examining
what is done by each.

Pure science is primarily concerned with the development of theo-
ries (or, as they arg frequently called, models) establishing relation-
ships between the phenomena of the universe. When they are suffi-
ciently validated these theories (hypotheses, models} become the work-
ing laws or principles of science. In carrying out this work, the pure
scientist usually disregards its application to practical affairs, confining
his attention to explanations of how and why events occur. .

2) Check up for comprehension.

I. Does the author give definition of both “pure” and “applied”
science? 2. Find the word which is used as an equivalent of “sciences”.
3. When does a hypothesis become a principle of science? 4. What
questions is the pure scientist concerned with? 5. Find the words equiv-
alent to “how and why events occur”. 6. What is usually disregarded by
the pure scientist?

Pattern Revision (6—9)
(to be done at home in written form)

Ex. 15. A. Identify the structures according to the Patterns 6—9 and
give Russian equivalents of the relevant part of the sentence.

1. It is correct to say that basic research is directed toward under-
standing the foundations of nature without taking into account their
3-2335
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practical applicability. 2. Finding an adequate solution to this most ur-
gent technological problem will surely require much time and still more
effort. 3. Today we cannot help witnessing a tendency in science to
direct the collective efforts of a research team at the achievement of a
common goal. 4. Let’s proceed by dividing research into three stages
and examining each stage to find what functions of the research pro-
cess may be automated without endangering creativity. 5. Such a config-
uration, in addition to being amenable to analytical treatment, has
significant practical importance. 6. Being interested in the subject which
you are studying is the best motivation for learning it. 7. Fundamental
research is that which you undertake without caring whether the re-
sults will be of practical value or not. 8. The scientist and public must
equally share the responsibility for finding a desirable solution to many
modern technological and social problems. 9. In determining the mech-
anism of genetic information transmission biochemists have observed
that “the language of life” is really a simple and elegant code. 10. Taking
into account individual components resulted in a radical change of the
entire system. 11. One of the ways to solve the problem of feeding the
ever-growing world population is by tur 1ing fishing from a hunting to a
farming operation. 12. Several review committees were formed, includ-
ing a special environmental group. 13. Increasing the amount of available
technical information scientists also contribute to transformation of
some well-rooted beliefs.

B. Give Russian equivalents of the italicized parts of the sentenc-
es, using the verbs given below. Mind Pattern 9.

1. Pyxoeodumens paGoThl BCETTIA HACMAUEAN HA npogepXe TTOydeHHbIX
pe3ynsTaroB. 2, Takasl npoeepxa umena yeavlo UCKAIOYUMb CydailHbBIe
ubKH M HoMo21G noaywums HaneXHbIe daunste. 3. Ilpucymcemeue pu-
MecH B 06paslax nomewiano noaysums BOCIPOU3BOMUMBIE Pe3yibmamsl.
4. Kaxpgoe HOBOE omKpbimue Npusooum K 803HUKHOGEHLNO HOBEIX 06/a-
creil uccnenoBaHuil. 5. KopeHHEBIe uamenenus B TakOi TPaIULiMOHHO
SKCIIEDUMEHTANLHON HayKe, KaK XMUMHA, ZEUAUCH DE3YAbMAMmOM npu-
MeHeHus B Hell KBaHTOBOM TeopuH. 6. Uepe3 HECKONLKO JIET yeHOMY
yodasocs noayuums SKCTIEPUMEHTANBHEIE PEe3YNbTaThl, IOATBEPXKAAIO-
11IMe ero TeopuIo. 7. Yuenbie MHOTHMX CTPAH 3GHUMAIOMCA UIVHEHUeM 3TO-
FO ABICHWS U JoadcHbi B PDABHOM Mepe wecmu omeemcmeenHocmv 3a
npUMEHeHUe eT0 BO3MOXHBIX pe3y/IbTaToOB Ha NPAKTHKE,

to aid in; 0 aim at; to be concerned with; to share the responsibility
for, to insist on, to prevent from; to result from; to result in; to succeed in.

34




b) UNAMBIGUOUS COMBINATION OF VING AND N

Pattern Study (10)
Pattern 10

. . .Pron. poss./N’s.". .Ving. . .

Immediate recognition of a discovery depends largely on its being
made at a proper moment. — Immediate recognition of a discovery
depends largely on the fact that it is made at a proper moment. Hemen-
NIEHHOE NPHU3HAHHE OTKPHITHS B 3HAYMTETHHOH CTENEHM 3aBHCHT OT
TOIO, YTO OHO COBEpILUEHO B HYXHBI MOMEHT.

The story of radioactivity begins with Henry Bequerel’s having
reported his discovery of rays of unknown nature. — The story of
radioactivity begins with the fact that Henry Bequerél reported his
discovery of rays of unknown nature. Mcropusa OTKpHTHS PaIBOaKTHB-
HOCTH Ha4YMHaerca ¢ Toro, 4ro AHpu Bekepenn coobuiun o-cBoeM
OTKPHITUY JIydeH HEH3BECTHOH NMpPUPOILL.

Pattern Practice (10)

~Ex. 16. Identify the structures according to Pattern 10; transform them
into clauses as shown above, and give Russian eguivalents of
the relevant part of the sentence.

1. Mendeleev’s having established a periodic law of nature has en-
tered his name into the history book of the world science. 2. Success in
science often results from: the scientist’s confining his attention to one
problem for many a year. 3. The results of the experiment depended
upon his having applied the proper technique. 4. The idea of scientists’
being responsible for most ills of the present day situation is unfortu-
nately quite popular. 5. A brain-storming session consists in everybody’s
proposing as many, and as wild, ideas as possible, without being con-
cerned as to whether they are workable. 6. Science is sometimes humor-
ously defined as a practice of the scientist’s satisfying his curiosity at the
expense of the Government. )

¢) AMBIGUOUS COMBINATION OF VING AND N
Pattern Study (11)
Pattern 1I:
.. .N. . .Ving. ..

1) Some problems can be solved only by the world scientists joining
their efforts. — Some problems can be solved only if the world
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scientists join their efforts. Hexotoprie npodiaeMbl MOryT ObiTh pe-
LIEHB! TONBKO OOBEIMHEHNEM YCUNHI YY4EHBIX BCEFO MHDA.

2) Such problems can be solved only by a scientist fully realizing the
possible danger. — Such problems can be solved only by a scientist
who fully realizes the possible danger. Takue rpoGieMs1 MOXeET pe-
LLIMTE TOJILKO YYE€HBIHM, ITONHOCTHIO 0CO3HAIOIIMHI BO3MOXHYIO OIac-
HOCTb.

Pattern Practice (I})

Ex. 17. ldentify the structures according to Pattern 11; transform them
into clauses.as shown above and give Russian equivalents of
the refevant part of the sentence.

1. The mid-20th century has witnessed the scientist becoming the
most valued member of society. 2. The original idea of a discovery is
often the product of one man working in a group environment. 3. There
is more chance now of this suggestion being true. 4. A true scientist is
prepared for his mistakes being pointed out to him. 5. The snobs at the
institute could not tolerate electrical <ngineers walking around with -
their dirty hanlls and spoiling the purity of the scientific atmosphere.
6. It is believed that there is hardly any chance of there being a mistake
in these calculations.

Pattern Study (12)

Pattern [2a
.« «(with) N. . .Ving/Ved, N.. . .V,. ..

With research involving more and more people, the profession of a
scientist has become one of the most popular nowadays. — As research
involves more and more people the profession of a scientist has become
one of the most popular nowadays. [To Mepe TOro Xak Hay4yHoe UCCIe-
JoBaHHe TpeGyeT yyacTMA Bce GONBIIETO dmcna Juoneit, mpodeccud
YYEHOTO CTAHOBHTCHA ONHOM M3 CaMBIX NONYMSPHBIX B HALUM JHM.

Pat‘tern 12b:

.« - N,. ..V, (with) N. . .Ving/Ved. . . . |

Mathematization of science is witnessed in almost all its branches,
with specialists in humanities hurriedly joining the process. —
Mathematization of science is witnessed in almost all its branches, and
specialists in the humanities hurriedly join the process. MaTemaTnaa-
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IMsI HAYKK HaOmozaeTcs Bo Bcex ee 00nacTax, U CNelHaIHCTH B 00-
JlaCTH 'YMAaHWTAPHBIX HAayK CIELUAT BEKJIIOYHTHCH B 3TOT MPOLIECC. -

Pattern Practice (12)

Ex. 18. identify the structures according to Pattern 12 and give Rus-
sian equivalents of thesrelevant part of the sentence.

1. Some scientists do not distinguish between pure and applied
mathematics, the distinction being, in fact, of recent origin. 2. At one
time a giant lake extended from Vienna to the Aral Sea, its last descen-
dants being the Caspian Sea and the Black Sea of today. 3. They took all
the measurements during the actual operation of the machine, this
being the usual practice in those days. 4. With everyone being a layman
in most fields but his own, it is very important to exchange information
on major developments. 5. The universe is now essentially composed of
about 90 percent hydrogen and 9 percent helium, with the remaining 1
percent accounting for the more complex atoms. 6. The project aban-
doned, the leadership in this field passed to another institute.7.Qriginally
a mathematician, he became engaged first in theoretical physics and then
in space research, all these fields ‘being closely interconnected.

Reading Practice (Patterns 1—12)

Text 5. 1) Read the text to i[ourself and be ready for a comprehension
check-up. ~

MATHEMATIZATION OF NATURAL SCIENCES

Exact science in its generally accepted sense can be referred to as a
family of specialized natural sciences, each of them providing evidence
and information about the different aspects of nature by somewhat
different working methods. It follows that mathematics in its pure sense
does not enter into this frame, its object of study, being not nature
itself. Being independent of all observations of the outside world, it
attempts to build logical systems based on axioms. In other words, it
concentrates on formulating the language of mathematical symbols and
equations which may be applied to the functional relations found in
nature.

This “mathematization”, in the opinion of most specialists, is wit-
nessed first in physics which deals with general laws of matter and
energy on subatomic, atomic and molecular levels. Further application
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of these mathematical laws and studies is made by chemistry and resuits in
structural bonds between the elements of matter being established.

2) Check up for comprehension.

1. What is generally understood by exact science? 2. How does the
author describe “specialized” natural sciences? 3. Why does mathemat-
ics not belong to this family? 4. What is the objective of mathematics? 5.
Is there only one definition of the objective? 6. What does the applica-
tion of mathematical laws in chemistry result in?

S Pattern Revision (10—12)
{to be done at homie in written form)
Ex. 19.
A. Identify the structures according to Patterns 10—12 and give
Russian equivaients of the relevant part of the sentence.

1. The possibility of there being life on Mars is very doubtful. 2, The
most interesting of these phenomena is the reduction of carbon, nitro-
gen and sulfur, each concentrated at a different interface, two being
out of immediate contact with air. 3.This is the principle of inertia— if
something is moving, with nothing touching it and completely undis-
turbed, it will go on forever at a uniform speed in a straight line. 4. An
understanding of these particles, in spite of their being connected with
the basic forces of the universe, presents a tremendous challenge to the
humari intellect. 5. The test consists of repeated measurements of inten-
sity with various sizes of apertures being used. 6. The difference between
the two values probably accounts for the measured sensitivity being
higher than that predicted by theory. 7. One of the objectives of carrying
on research at the university is to provide intellectual exercise for the
lecturer. This is achieved by the lecturer doing research between lec-
tures and other duties, This presupposes the necessary equi pment being
available at the university. 8. Man’s principal function in space being
maintenance and repair work is beyond any doubt. 9. The 35-year gap
in the appreciation of Mendel’s discovery is often attributed to Men-
del’s having been a modest monk living in an out-of-the-way Moravian
monastery, 10. A few more functional elements, germanium perhaps
being a good candidate, may be discovered in the future.

B. Give English equivalents of the italicized part of the senténces.

1. Muicab 0 mom, umo u yHenvie u 0OWecmeeHHOCMb Hecym omeéem-
CMEEHROCMb 3G PELUCHHE 3TOM NMpobGIeMbl, KAXETCS BIOJHE JOTMYHOIM
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B HacTrosllee pems. 2. Hemopus U3ydeHHs NMybCapoB Hauasach B 1968
TOLy C M020, Ymo pacucacmponomb 00sasusts 06 OTKPHITHH HeOGhId-
HOTO KJ1acca ofybeKTOB. 3. DTH OOBEKTHI MOJTYUHITH LIYTIHBOE Ha3BaHUeE
«TIYNIbCAphI», NPUMEM 3MO0 HA38aHUe OBICTPO cmaso CTaHIAPTHLIM mep-
munom. 4, CUMTAIOT, YTO KAXKAOE UCCALO08GHUE HAYUHAEMCA ¢ NOoCMa-
HOBKU yueHbiM npobaembl. 5. Yuerouid noay+ia HOBLIE JOKA3EMENBCINGA TOTO,
umo ez2o 2unomesq gepra. 6. Taxk Kax 6oasuwuncmeo CyGATOMHBIX yacmuy
uMeem OMEHb KOPDOTKUE NEPHOJ XHM3HH, 31eKTPOH, MPOTOH M HEHTPOH
OCTAIOTCH OCHOBHLHIMH OOBEKTAMH HM3Y4eHUS B IJEKTPOHMKE.

General Revision (1—12)
(to be done at home in written form)

Ex. 20. Identify the structures according to Patterns 1—12 and give
their Russian equivalents.

1. It is not claimed that the research is aimed at deriving an entirely
different set of axioms. 2. A bit of work was needed to establish this but
once the result was accepted, it was the best instrument for exploring
the atom. 3. In the early days of World War II many engineers were
faced with the task of mastering the techniques of using radar. 4. Meth-
ods employed in solving a problem are strongly influenced by the re-
search objective. 5. The inquiry could be greatly helped by distinguishing
two different classes of research techniques. 6. In one’s search to under-
stand what happens in this particular case, one cannot help being
influenced by the history of quite another problem. 7. The question of
collective scientific discoveries has already been raised, it having been
suggested that a solution of some uigent problems can be best achieved
that way. 8. During such experiments interfering influences must be
excluded and an artificial environment created in which the contribution
of the individual components can be taken account of and possibly
even measured. 9. If the scientist succeeds in confirming his repeated
observations it may be stated that an empirical law or rule of nature has
been discovered. 10. Let us examine various types of such mispronunci-
ations, remembering, of course, that they are mispronunciations only
in the sense of being looked upon unfavourably by cultured speakers.
11. Social scientists and physical scientists, each group representing a
diversity of specialized disciplines, were brought together to review
some implications of the interaction between science and society.
12. The oceans and the atmosphere are strongly coupled systems and
cannot very well be treated separately. The final circulation pattern is
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determined by the interaction of the two systems, each system influ-
encing the other 1n a complicated cycle of events. 13. The meteorologi-
cal working group concluded that meteorological research can be fur-
thered by a trained meteorologist making observations from an orbiting
station. 14. It is generally accepted that experiments in geology are far
more difficult than in physics and chemistry because of the greater size
of the objects and because of the geologic time scale exceeding the
human time scale by a million and more times. 15. General scientific
methods can be approached from a historical point of view by giving a
brief account of the development of scientific concepts and theories. 16.
Two types of scientific investigators may be distinguished: classicists
and romanticists, the former being inclined to design schemes and to
use the deductions from working hypotheses, the latter more fit for
intuitive discoveries of functional relations between phenomena and,
therefore, more able to open up new fields of study. 17. With extended
operation in space being a design goal, special attention was given to
reliability problems. 18. The lack of interest of neurophysiologists in the
macromolecular theory of memory can be accounted for by recogniz-
. ing that the theory, whether true or false, is clearly premature.

WORD STUDY
-1. LEARN TO RECOGNIZE INTERNATIONAL WORDS

(to be done in class)

Ex. 21.
A. Recognize familiar words:

archives ["akarvz], chaos ['ke(1)os], cycle [saikl], ocean [ ouf(s)n].

B. Give two Russian equivalents of different origin.
Example: deduction — dedykuyus, emeod.
Defect, to ignore, substance, to surprise, to transform, variation.

C. Make up English-Russian pairs of the words eqdivalent in meaning. :

1. Decay; 2. derive; 3. determine; 4. essence; 5. goal; 6. prevent;
7. quality; 8. quantity; 9. ultimate; 10. valid.

1. BriBoguTs (mepuBaT, NPOM3BOAHKIN), 2. TOAHBIA, OIECHCTBUTEb-
Hbiii (MHBQIHA, HEFOAHHIA); 3. KauecTBo (kBanudukauus); 4. KO~
4ecTBO (KBAaHT, OPLHA); 5. OKOHYATENbHBIN (YIbTHMATYM, nociAeRHee’
yCIoBHE);, 6. ONpefenATh (IeTepMWHW3M, AeTepMHUHAHTA); 7. mpen-
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OTBpaliaTh (MPeBeHTHBHEINM); 8. pacmam (OexamaHc, yna.nox); 9. cyTh
(3cceHIms, KBUHTICCeHIM); 10. mean (roi).

D. Give Russian equivalents of the following:

to focus attention on smth.; functional relations; general laws of
matter; individual components; intimate knowledge.

2. LEARN TO RECOGNIZE THE STRUCTURE
OF ENGLISH WORDS ’

(to be done at home in written form)

Ex. 22. Recognize the words formed according to the following pat-
terns and give their Russian equivalents.

Pattern 1:V+-er/-or - N

E xamp 1 e: to work — pabomams, worker — pabouuii, pabomnuxk; to
transform — mparncopmupoeams, transformer — mpanc-
gopmamap.

1. Theory is an intellectual instrument granting a deep contentment
to its designer and to its users. 2. The founders of the Royal Society were
typical matural philosophers. 3. The isolated inventor is still the usual
source of innovation. 4. Some experimenters were prevented from doing
experiments by their faith in a fallacious theory. 5. The lecturer should
not try surprising his listeners,

Pattern 2: Vi+-ment - N

Example: to develop — pazsusams, development — paseumue,
(npoyecc), cobwimue, senerue (peayasmam,).

The announcement of discovery; the development of the national
economy; recent developments in nuclear physics; the achievement of
a solution; the achievements of the USSR in space research; the estab-
lishment of the Siberian Department of the USSR Academy of Scienc-
es; the establishment of anew principle; educational establishments of
the country; a clear statement of the hypothesis.

Pattern 3 V+-tion/-ion/-ition - N

Example: to predict — npedckazueams, prediction — nped-
ckaamearue (npoyecc), npedckazanue (pesyasmam).

1. He announced his discovery in a special communication to the
French Academy of Sciences, 2. His motivation in carrying on this
investigation was not properly understood at first. 3. Definition of most
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fundamental concepts is always difficult. 4. Pure science is concerned

with the establishment of fundamental relations among the phenomena

of the universe. 5. Finding a satisfactory explanation for this sort of

interaction is not so easy.

Pattern 4:N+-(ual - Adj.

Example: condition — ycrosue, conditional — ycioenuiid,
National economy; such conceptual subjects as mathematics; theory

is an intellectual instrument; natural resources; individual components.

Pattern 5:Adj. -ent/-ant - N-ence/-ance
Example: different — pazauinoii, omausnoiid, difference — pasauvue,
pasnuya, omaudue. ,

A competent scientist — the competence of a scientist; a significant
statement — the significance of a statement; an ignorant audience —
the igriorance of an audience; relevant information — the relevance of
information.

Pattern 6:NeV

Example: influence— erusnue, to influence — oxasmeams aauanue;
a question — aonpoc, o guestion — cmasums nod eonpoc,
COMHEBAMBCA..

1. Problems of this kind usually interest pure scientists. 2. Information
theory aroused considerable interest among intellectuals. 3. This fact
limits the scope of investigation. 4. In the same way the necessary limits
can be found for these coefficients. 5. We note that these figures .are
much more reliable than the previous ones. 6. The text is difficult to
read, there being too many reference notes in it. 7. This argument will
convince anyone who doubts this point. 8. There can be no doubt about it.

Ex. 23. Make up singular-plural pairs.

Foci, quanta, maximum, analyses, vacua, axis, maxima, radius,
genii, radii, locus, nuclei, analysis, focus, hypothesis, criteria, nucle-
us, quanftum, crisis, theses, crises, momenta, axes, synthesis, criteri-
on, phenomena, genius, species, loci, hypotheses, thesis, momen-
tum, syntheses, phenomenon vacuum, species.

Ex. 24. Practise orally in using the names of specialities and sciences.

Example: [Iam a mathematician but I am concerned with problems
of economy.
Biologist, physicist, sociologist, theoretlcmn, biochemist, histo-
rian, psychologist, geologist, experimenter, economist.
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3. LEARN TO DEDUCE THE MEANING
OF ENGLISH WORDS

(to be done at home in written form and to be discussed in class)

B pa3HbIX ynoTpeGacHUAX OZHOTO ¥ TOTO X€ aHTIMIACKOTO C/IOBa M
€ro INPOM3BOAHBIX OOBIYHO OOHAPYXMBAETCHd OOGIIHIH 3JEMEHT
CMBICJTA, KOTOPHH MOXET NPHCYTCTBOBATh B HECKONBKUX Pa3HBIX
PYCCKHX CROBax. BEIOOp pPycCKOro 3KBUBANEHTA OIpeessieTcs aHITHii-
CKHM KOHTEKCTOM H HOPMOI PYCCKOro #A3BIKA.

Ex. 25.
A. Give adequate Russian equivalents of the italicized words:

Background — OGHIMIA SNIEMEHT CMBIC/A: TIPERXINECTBOBAHMUE
B NPOCTPaHCTBE HJAH BO BpeMeHH. YacTOTHHIE pycCcKHe
IJKBHBaNCHTH: (QOH, 3aBHMI MnaH; obpa3oBaHHe, KBaMH(DUKaLUs,
6Horpapmyeckye JAHHbLIE U T.X.

1. This vacancy can be filled only by a scientist with outstanding
record and background. 2. This text deals with the methods of geological
science, their historical background and development. 3. People of all
backgraunds and all ages all over the world need peace. 4. What is the
background of the problem? 5. Much depends on the personal interest of
the student, and on his linguistic and cultural background.

. ,

Case — o6GUM# 37M€MEHT CMEICHa: COBOKYNMHOCTh KOH-
KPETHH X YCHOBHH MA¥ O0GCTOATENBCTB, XapaKTepH3yIO-
IMX cHTyanuio. YactoTHEIe PYCCKMe SKEMBICHTEL: CIy4ail, I0JI0Xe-
HHME e, AOBOARI, NOKA3ATENbCTBA, APTYMEHTHL H T.N.

1. In any case the results of the experiment will be of great value. 2. If
this is really the case, a true scientific breakthrough of major impor-
tance must be anticipated in the next decade. 3. He presented a strong
case against a proposed solution. 4. Research workers in need of funds
could apply for grants if they could make out a convincing case. 5. He
stated his case so well that the committee supported the project. 6. 1
believe a case exists for revision of the hypothesis.

Develop, development(s) — o6uuit 21EMEHT CMbICA: pa3BUTHE
BO BPEMEHH, pa3BUTHE KaK H3IMEHEHWE, 3aPOXIEHHE
K pa3BUTHeE. YacTOTHBIE PYCCKHE IKBHBAIEHTHI: to develop — pas-
BUBATh(CH), pa3paGaThIBATh, M3NAraTh, PACKPHIBATH, MPOSBRANTH(CH)
U T.4.; development — pa3Butie, pa3paboTKa, H3NOXEHHE, PE3YJIbTAT
PA3BUTHA U T.O.
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1. Plants develop from seeds. 2. The hypothesis gradually developed in §
the scientist’s mind. 3. No positive evidence has been developed 10 support
the theory. 4. The solution of the energy problem depends on developing }
alternative sources of energy. 5. Independent study is one of the best habits |
that a scientist can develop. 6. Since World War II much has been done
to develop national economies of some developing countries of Asia and
Africa. 7. The plasma is forced to behave as a continuum, no instabilities
developing. 8. Suddenly a development occurred which prevented research :
in this area for some time. 9. This paper deals with recent developments |
in theoretical physics. 10. The development of photographic films requires a §
dark room. -

Facilitate, facility (usually plural) — oBwMii 31eMEHT CMBICIA:
HANJAYYUIHE YCJIOBHSA, BOSMOXHOCTU NJis OCYHIECTB-|
JAeHUusa 4qero-aubo. YacrorHele pycckue 3KBUBATEHTHL: to facilita-
te — 0bneryats, crocoGcTBOBAaTE M T.4., facilities — BO3MOXHOCTS,
ynobcTBa, cpencTea, obopyloBaHue, YCTPOHCTBA H T.A. -

1. The new equipment will facilitate the experiment. 2. After the stu- {
dent acquires considerable facility in understanding and speaking, he }
learns to read and write. 3. Novosibirsk is an industrial centre offering its
inhabitants many urban advantages, educational facilities and cultural }
opportunities. 4. We are planning the directions and the scope of re-
search and the provision of experimental facilities. 5. To carry out this task
we need lgrge engineering facilities. 6. To complete the project' we need
adequate facilities for research.

A 3

Imply, implication(s), implicit — oBumit 2;1eMEHT CMBICHA: HE -
BHICKA32HHOE CJIOBAMY, HO NOrHYeCKM BeTexaomee}
U3 4Yero-To. YacToTHRE pycCKHe SKBUBAIEHTH: t0 imply — mogpa- |
3yMeBaTh, 03HaYaTh, HMETh B BHY, implication — CKpmITEIA CMBICH,
3HaYEHHE; YTO-TO BHITEKAET M3 yero-ymbo u T.4.; 1mphclt — TIOApa3y-
MEBaeMBbIi, He BRIDOXCHHBIA OpPAMO U T.O.

1. The book does not claim to give more than the name implies. 2.
People are always talking about fundamental research, implying the’
existence of a nameless opposite. 3. Recent observations of various astro-
- nomical objects together with their theoretical implications were dis-
cussed at the conference. 4. The cutting of sentences into the subject and;
predicate groups was implicit in traditional grammar analysis. 5. Dirac’s]
theory implied that there should be the same number of anti-particles as|
particles in the universe. 6. The speaker implies (sends out information)
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and the listener infers (receives information from the implicanon). 7.
What are the implications of this statement?

Involve — OOIUMH 3/IEMEHT CMBICJIA: BKNIOYEHHE B JAes-
TENBHOCTH, ABHXEeHUEe AN 006BbeM. YacTOTHEIE pyCCKHE 3K~
BUBAJIEHTH: to involve — BKmiouaTh B cebs; Biaeuyb 3a cobOil, BHI3HI-
BaTh; BOBHCKATD; 3allyThIBaTh, OCHOXHATH M T.1.; to be involved —
OBITH BKNIOYECHHEIM, BOBJICYEHHBIM, YYACTBYIOIIUM, CJIOXHBEIM H T.I.

1. The first industrial revolution involved the replacement of human
and animal muscle power by the power of machines. 2. A technical
project often starts as a simple practical activity involving only a few
scientists or engineers. 3. This institute is involved in a research project on
laser techniques. 4. The activities involved in various space programs have
created a revolution in scientific research. 6. The solution of the equations
involved is reduced to a sequence of basic arithmetical operations.

Matter — b6LMil 27eMEHT CMEIC/A: HEYTO MaTepHalbhHOE,
OIIYTHMOE, CYIIECTBEHHO®; TO, YTO HMEET 3HAHUEHHE.
YactoTHHE pPYCCKHME SKBHBAICHTHL matter — MaTepHs, BEHICCTBO;
MaTtepHan {CTaTbd, KHUTH M T.I.), CYIUHOCTb, NPEAMET; AENO, BOI-
poc H TJI.; t0 matter — HMETh 3HAYCHHE.

1. Chemistry deals with changes in the composition of matter, physics
is concerned with changes in the location or size of matter. 2. Animal and
human organisms fight off infections and other invasions by foreign
matter. 3. The subject matter of the lecture was the influence of the cli-
mate on the development of a nation. 4. This collection of stories pro-
vides an interesting reading matter. 5. It is no easy matter to describe this
phenomenon in detail. 6. His taking part in the discussion made the
matters worse. 7. The answer }o this question, however, will hardly
matter under present conditions.

B. Make up English-Russian pairs of the word greups equivalent in
meaning.
As a matter of fact; in a matter of seconds; it does not matter; it is
a matter of common experience; it is a matter of common knowledge.
3a xakue-HMOYAL CeKYHARI, KAXALIA 3HAE€T M3 OIIbITA; HE HMeEET
3HaYeHUsd (He BAXHO);, O6GLIEH3BECTHO; HAKTHUECKH.
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4. LEARN TO DEDUCE THE MEANING
OF WORD COMBINATIONS
(exs 26—28 to be done in class;
exs 29, 30 to be done at home in written form)

Ex. 26. Give Russian equivalents of the N"...N"...N" groups and the hy- |
phenated word groups.

1. A group of people working together to make an invention can be 3
called a group inventor. 2. A research group produces a group environ- §
ment for its individual members. 3. Science is a Janus-headed figure. |
4. Scientific development is an avalanche-like process. 5. The lecturer tries §
to bring the audience up-to-date by giving them the latest information.

Ex. 27. Give Russian equivalents of the following word combinations: 4

1. to bear in mind (this should always be borne in mind); 2. to |
design the experiment (the experiment was not designed to measure j
this quantity); 3. to hold possibilities for (the problems hold possibilities ;
for practical application); 4. to make strides (science is making greater
" strides every year); 5. to meet needs (to manufacture commodities to }
meet human needs); 6. to open the way to (one daring theory opens the
way to the next); 7. to put to the fore (they say that nowadays the group ]
inventor has been put to the fore and replaced the isolated scientist); }
8. to take pictures (the black and white pictures of the process are taken j
regularly throughout the experiment); 9. to take time (it takes more {
than 10 years to do this).

Ex. 28. Give Russian equivalents of the V-Adv. groups.

1. All mistakes in your calculations will be immediately pointed out. §
2. Every new idea is taken up and developed further. 3. It is not clear {
now how a solution to the problem can be worked out. 4. It is no easy |
matter to trace back the origin of this conception. 5. Not all measure-
ments and readings push science forward. 6. The idea was put forward a |
few years ago. '

Ex. 29. Make up English-Russian pairs of the word groups equivalent
in meaning.

1. At any rate; 2. at great expense; 3. at least; 4. at once; 5. as soon as; §
6. at the edge of: 7. by no means; 8. from now; 9. in full; 10. in general; 3
11. in the long run; 12. let alone; 13. not (no) . . at all; 14. of necessity; j
15. of one’s own; 16. on the oné hand . . . on the other hand; 17. some |
day; 18. that long.
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1. B xoHeuHoM cuere (B nanekoM Oyayiiem); 2. B moboM ciydae;
3. Boobuue; 4. Kak TONBKO; 5. Koraa-HuOyah; 6. Ha rpaHy; 7. HUKDUM
ofpa3oM; 8. octaBnsa B CTOpOHE; 9. OTHBIHE, C JAHHOI'O MOMEHTa;
10. nonHocThio; 11. no MeHbuIeiH Mepe; 12. no HeobxomumocTtH; 13. ¢
GonblMMU 3aTpataMmy; 14. cobereeHHRA; 15. coBceM He; 16. ¢ omHoit’
CTOPOHBL. . . C ApYTo#i cTopoHsl; 17. cpasy; 18. Tak roiro.

Ex. 30. Identify the word groups formed according to the following pat-
terns and give their Russian equivalents:

Pattern A:N'...Prep... N"

N ot e. N"belongs to a group of abstract nouns of the type:

U n d e 1 discussion, consideration, examination, study, review, way,
etc.

I n: use, progress, questionn, motion, demand, etc.

O ut of date, reach, fashion, phase, etc.

O f: interest, value, importance, concern, use, etc. .

A t: rest, issue, stake, etc.

Example: The work in progress will hardly produce immediate prac-
tical results. “The work in progress”. . . Ilpoeodumas (eedy-
wascs) paboma. . . .

1. The text includes fragments of the opinions concerning the sub-
ject under discussion. 2. Resuits of great significance are very rare. 3. The
problem at isstie — man and his environment - concerns everybody.
4. It is rather difficult to point out all the defects of the system under
investigation. 5. The book in question was published in 1967. 6. The por-
tion of the particles at rest is insignificant. 7. The discussion concerns
problems of common interest for most scientists.

Pattern B:N'..be...Prep....N"

Example: Similar work is in progress in many other laboratories.
“Work is in progress”. . . Pa6oma nposodumcs. . .

1. At present a new system is under investigation. 2. It is not clear at
this point if the measurements are of any practical value. 3. The concept
was in use in the 19th century. 4. By that time the prediction will be of
no interest to anybody. 3. These ideas are absolutely out of date. 6. Every-
one knows that mathematicians are in great demand currently.



5. REVISE IF YOU FORGET
(to be done at home in written form)

Ex. 31. Readthetext, concentrating on the "qk}antity” words. Pay atten-
tion to the difference in meaning due to the article used. Give
Russian equivalents of the italicized words.

TO SMOKE OR NOT TO SMOKE?

The problem of smoking is much under discussion. Some people smoke,
some don’t. At present little is known for certain about the tobacco effect
on the human organism. The amount of nicotine absorbed by a heavy
smoker per day is capable of killing a horse. Yet i does no visible harm
to the smoker. At least no immediate harm. As to long-range effects
much of what is attributed to tobacco can be caused by different factors.
Quite a number of studies are carried on in order to establish cause-
effect relationship between smoking and some dangerous diseases. The
number of theories advanced is increasing, but the many papers dealing
with the problem have to admit that most evidence is ambiguous and
that there is a little confusion and a lot of controversy concerning the

‘results obtained. However, the little evidence that is conclusive makes all
doctors say that the practice is harmful.

Most of those smoking wish to give it up, and it is a matter of record
that a great many heavy smokers often'make several attempts before they
give up. . . either smoking or the attempts. It requires nor a little will
power and a great deal of determination. So only few succeed. And those
Jfew say that they have felt so much better ever since.

Ex. 32.
A. Fill in the blanks with it or its, they or their.

1. ... follows that mathematics in ... pure sense will not enter into this
frame, . . . object of study being not nature jtself. 2. We see that astronomy
is still at the very opening of ... existence. 3. Many seek after knowledge
for . . . own sake. 4. The number of elements which make up organic
compounds is quite restricted, although the number of combinations
into which . . . can enter is great indeed. 5. In ... deductions the authors
assumed that the thll'd*Ol‘del' elastic constants varied linearly with tem-
perature,

B. Give Russian equivalents of the italicized words.

1. When it is said that a man weighs 160 Ibs if means that he is ;
exerting a force of 160 Ibs on the floor. 2. It is likely that the reserves of

48




oil and coal will be exhausted in less than a century. 3. Lack of figures may
make it difficult to produce accurate statistics. 4. In any case it is not difficult
to devise a suitable computational scheme. 5. We found it more convenient ip
describe the structure in terms of bond angles and bond distances.

Ex. 33. Identify the function of one and give Russian equivalents of the
italicized words. /

1. Reading books enlarges one ‘s*horizons. 2. It takes one much time
and effort to carry out calculation of this kind. 3. Your- definition is
somewhat different from the one mentioned above. 4. The choice of the
critical concentration is an arbitrary one. 5. One accepis standards which
are specifically biological. 6. The technique does not allow one to isolate
each individual component. 7. One cannot be surprised if one is not ac-
customed to the situation which is-nullified by the surprise.

Ex. 34. |dentify the function of this {these) and give Russian equiva-
lents of the italicized words. R

1. These outstanding discoveries were made by Russian scientists at
the beginning of this century. 2. Usually a second alloy-layer appears
between the outer coating and the base metal, and it is probable that
this consists of different compounds. 3. Two basic schemes of replica are
possible, these are illustrated in Fig. 1. 4. The definition does not make
any mention of the rates of adsorption. These may be quite Jifferent for
different materials. 5. I do not remember who was the first at this labo-
ratory to use this term. -

Ex. 35. Identify the function of that (those) and give Russian équiva-
tents of the italicized words.

1. It will be better to say that fundamental research is that which
may have no immediate practical value. 2. The task of theory is to enable
one to calculate the result of an experiment in a shorter time than that
required to perform the experiment. 4. Those interested in the problem
are referred to a more recent and complete work by Dr. N. 5, The exper-
imental results indicated the presence of some foreign species and that
confirmed an earlier idea concerning the reaction mecha;gism.

Ex. 36. Substitute the proper nouns for the italicized pronouns.

1. Physicists may also be mentioned in this connection but without
distinguishing between the practical and theoretical ones. 2. A great deal
of attention has been devoted to problems generated by the “informa-

423965
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tion explosion” as it has been popularly termed. 3. One famous question
was already raised: that of the “mathematical dream”. 4. The telescope
admitted a hundred times as much light as the unaided human eye, and
according to Galileo, it showed an object at fifty miles as clearly as if #
was only five miles away. 5. The most wonderful instincts, those of the
hive-bee and of the ant, cannot be explained in this way. 6. There are
men to whom nothing seems great but reason. For men of this class it
is a cosmos so admirable that.to penetrate to ifs ways seems to them the
only thing that makes life worth living. 7. Electrolysis of sulphate and
. chloride solution gave about the same type of deposit. This was com-
posed of both the amorphous and compact metal.

TEXT STUDY

(to be done in class)

l. Read the introduction to yourself and state its topic (follow the
guide words to the author’s thought equivaient to ograko,
ckopee, noaromy). Answer the questions: What is the main char-
acteristic of the problems discussed in the four units of this
book? Are the problems discussed in detail and covered in full?

INTRODUCTION

In the four units, forming this book an attempt is made to keep the
discussion within the range of problems of common interest for most
scientists whatever their particular fields. However, it is by no means
claimed that the items grouped under the same topic deal with the
problem discussed in sufficient detail, let alone cover it in full. Rather,
it should be emphasized that the items include but fragments of opin-
ions concerning the subject under discussion expressed by outstanding
scientists on different occasions. Therefore, what is presented here is,
of necessity, only part of what was said elsewhere.

The first discussion is focused on the relations between pure and
applied research, theory and experiment, science and technology, sci-
entist and layman. The discussion is opened by the Soviet physicist
academician Lev Artsimovitch and concluded by the American phys-
icist prof. K. K. Darrow. It covers the following items: A. Science and
Technology. B. What Science Is. C. Research: Fundamental and Ap-
plied, and the Public. D. Scientific Innovation: Its Impact on Technol-

ogy.
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. Give Russian equivalents of; an attempt is made, what is pre-
sented here is. . . only part of what was said elsewhere.

Text A. Science and Technology
(to be done in class-and continued at home)

l. Look through the text concentrating on the beginning of each
paragraph and write down a plan, either in English or in Russian
(time limit — 10 min.)}.

1. Science problems can be roughly classified as analytic and syn-
thetic. In analytic problems we seekthe principles of the most profound
natural processes, the scientist working always at the edge of the un-
known. This is the situation today, for instance, within the two ex-
tremes of research in physics — elementary particle physics and astro-
physics — both concerned with the properties of matter, one on the
smallest, the other on the grandest scale. Research objectives in these
fields are determined by the internal logic of the development of the
field itself. Revolutionary shocks to the foundations of scientific ideas
can be anticipated from these very areas.

2. As to synthetic problems, they are more often studied because of
the possibilities which they hold for practical applications, immediate
and distant,' than because their solution is called for by the logic of
science. This kind of motivation strongly influences the nature of scien-
tific thinking and the methods employed in solving problems. Instead of
the traditional scientific question: “How is this to be explained?” the
question behind the research becomes “How is this to be done?” The
doing involves the production of a new substance or a fiew process with
certain predetermined characteristics. In many areas of science,, the
division between science and technology is being erased and the chain
of research gradually becomes the sequence of technological and engit
neering stages involved in working out a problem.

3. In this sense, science is a Janus-headed figure, On the one hand,
it is pure science, striving to reach the essence of the lawg of the
material world. On the other hand, it is the basis of a new technology,
the workshop of bold technical ideas, and the driving force behind
continuous technical progress.

4. In popular books and journals we often read that science is mak-
ing greater strides every year, that in various fields of science discovery
is followed by discovery in at steady stream of increasing significance
and that one daring theory opens the way to the next. Such may be the
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impression with research becoming a collective doing and scientific data
exchange a much faster process. Every new idea should immediately be
taken up and developed further, forming the initial point of an ava-
lanche-like process.

5. Things are, in fact, much more complex than that. Every year
scientists are faced with the problems of working through thicker and
tougher material, phenomena at or near the surface having long been
explored, researched, and understood. The new relations that we study,
say, in the world of elementary particles at dimensions of the order of
102 cm or in the world of superstellar objects at distances of billions
of light years from us, demand extremely intense efforts on the part of
physicists and astrophysicists, the continuous modernization of labora-
tories with experimental facilities becoming more and more grandiose
and costing enormous sums. Moreover, it should be stressed that scien-
tific equipment rapidly becomes obsolete. Consequently, the pace of
scientific development in the areas of greatest theoretical significance is
‘drastically limited by the rate of building new research facilities, the
latter depending on a number of economic and technological factors
- not directly linked to the aims of the research. It may take, for exam-
ple, more than 10 years from the initial decision to build a 100—200
billion electron volt accelerator to its completion.

It should be borne in mind, foo, that few measurements and readi-
ings given by these great facilities push science forward, results of any
great significance being very rare. For instance, tens of thousands of |
pictures taken during the operation of an accelerator will have to be |
scrutinized in the hope of finding, among typically trite processes,
signs of a new interaction or of a new event whose presence or absence
may confirm a theoretical idea.

1. Paragraph Study.

Read paragraph 1.

1. Identify the topic sentence and the illustrating sentences. Find the |}
sentence cantaining the author’s prognosis and the word indicating that it is a
prognosis. 2. What is meant by the situation and these very areas?

Read paragraph 2. i
1. Identify the topic sentence. Answer the questions: What are the two ]
motive forces behind synthetic and analytic research? What are the consequences |
arising from the change in motivation for research? What is the present-day
relation between science and technology? What is meant by the doing? 2. 1den-
tify two sentences similar in meaning in paragraphs 1 and 2. 3. Identify the
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words which reveal a comparison in the first sentence of paragraph 2. 4. Trans-
late the last sentence of the paragraph into Russian.

Read paragraph 3.

1. Identify the topic sentence and the sentences developing its idea.

2. Give Russian equivalents of striving to reach the essence. ... and the
workshop of bold technical ideas.

nl. Look through the paragraphs again and indicate the words and
word groups used to connect the paragraphs and the sentenc-
es within them.

(to be continued at home in written form) \

I 1. Read the text again without consulting the dictionary. identify
7 structures aceording to pattern 12 and give Russian equiva-
lents of the relevant part of the sentence, paying special atten-
tion tQ the choice of Russian conjunctions.

. Paragraph Study (consuit the dictionary if necessary).

Read paragraph 4.

1. Follow the word science through the paragraph and copy out the
words related to it in meaning. State the main idea of the paragraph (in English
or in Russian). 2. Copy out the sentence summed up by the word impression.
3. Copy out the words equivalent to: Henpepwenwiii nomox, Oepikas meopus,
2a8URO00PAIHBI.

Read paragraph 5.

1. Divide the paragraph into three parts with the following titles: Sub-
ject of Research, Tools of Research and Results of Research. Indicate the
beginning of each part. 2. Read the first sentence again and copy out the words
indicating that the popular view on science is not adequate.

ll. Translate paragraph 5 into Russian.

Text B. What Science Is
(to be done in class)

1. See if you remember: to meet hurnan needs, to refer to, to dis-
tinguish, to encounter difficulties, to emerge, at great expense,
search for truth, to point out.

i. Look through the text concentrating on the beginning and the
end of each paragraph, and write an outline, either in Russian or
in English (time limit — 10 min.).
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1. ft can be said that science is a cumulative body of knowledge
about the natural world, obtained by the application of a peculiar method
practised by the scientist. It is known that the word science itself is
derived from the Latin “scire”, to know, to have knowledge of, to
experience. Fundamental and applied sciences are commonly distin-
guished, the former being concerned with fundamental laws of nature,
the latter engaged in application of the knowledge obtained. Technolo-
gy is the fruit of applied science, being the concrete practical expres-
sion of research done in the laboratory and applied to manufacturing

- commodities to meet human needs.

2. The word “scientist” was introduced only in 1840 by a Cambridge
professor of philosophy who wrote: “We need a name for describing a
cultivator of science in general. I should be inclined to call him a scien-
tist”. “The cultivators of science” before that time were known as “nat-
ural philosophers”. They were curious, often eccentric, persons who
poked inquiring fingers at nature. In the process of doing so they started a
technigue of inquiry which is now referred to as the “scientific method”.

3. Briefly, the following steps can be distinguished in this method.
First comes the thought that initiates the inquiry. It is known, for
example, that in 1896 the physicist Henri Becquerel, in his com-
munication to the French Academy of Sciences, reported that he had
discovered rays of an unknown nature emitted spontaneously by urani-
um salts. His discovery excited Marie Curie, and together with her
husband Pierre Curie she tried to obtain more knowledge about the
radiation. What was it exactly? Where did it come from?

4, Second comes the collecting of facts: the techniques of doing this
will differ according to the problem which is to be solved. But it is
based on the experiment in which anything may be used to gather the
essential data — from a test-tube to an earth-satellite. It is known that
the Curies encountered great difficulties in gathering their facts, as
they investigated the mysterious uranium rays.

5. This leads to step three: organizing the facts and studying the
relationshi ps that emerge. It was already noted that the above rays were
different from anything known. How to explain this? Did this radiation
come from the atom itself? It might be expected that other materials
also have the property of emitting radiation. Some investigations made
by Mme Curie proved that this was so. The discovery was followed by
further experiments with “active” radioelements only.

6. Step four consists in stating a hypothesis or theory: that is, fram-
ing a general truth that has emerged, and that may be modified as new

54

A




facts emerge. In July 1898, the Curies announced the probable presence
in pitchblende ores of a new element possessing powerful radioactivity.
This was the beginning of the discovery of radium.

7. Then follows the clearer statement of the theory. In December
1898, the Curies reported to the Academy of Sciences: “The various
reasons enumerated lead us to believe that the new radioactive sub-
stance contams a new element to which we propose to give the name of
Radium. Thé new radioactive substance certainly contains a great amount
of barium, and still its radioactivity is considerable. It can be suggested
therefore that the radioactivity of radium must be enormous”.

8. And the final step is the practical test of the theory, i. e. the
prediction of new facts. This is essential, because from this flows the pos-
sibility of control by man of the forces of nature that are newly revealed.

9. Note should be taken of how Marie Curie used deductive reason-
ing in order to proceed with her research, this kind of “detective
work” being basic to the methodology of science. It should be stressed
further that she dealt with probability — and not with certainty —
her investigation. Also, although the Curies were doing the basic re-
search work at great expense to themselves in hard physical toil, they
knew that they were part of an international group of people all con-
cerned with their search for truth. Their reports were published and
immediately examined by scientists all over the world. Any defects in
their arguments would be pointed out to them immediately.

HI. Paragraph Study.

Read paragraph 1.

1. Follow the dominant noun and the words related to it in meaning
through the paragraph and state the main idea. 2. Give Russian equivalents of:
a cumulative body of knowledge, a peculiar method practised by the scientist,
manufacturing commodities to meet human needs.

Read paragraph 2.

1. Follow the dominant noun and its equivalents through the para-
graph. Identify the sentence which repeats the idea expressed in the first sen-
tence of the text. 2. Identify the words used by the author as equivalent to:
Hanpaeasau ceoli noimauesii yx na. . . 3. Identify the words used by the author
as equivalent to deing so, a technique of inquiry.

Read paragraph 3.

1. Identify the topic sentence and the illustrating sentences. Among the
latter identify the dominant noun and follow it through its transformations
into 1ts equivalents and pronouns. 2. Give a Russian equivalent of initiates.
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Read paragraph 4.

1. Identify the topic sentence. Follow the words the collecting of facts
through their transformations into their equivalents and pronouns. 2. Identify
the words equivalent to: cmoaknymoca ¢ mpyoHocmamu, npobupxa, 8 3aeucumocmu
om npobnemo.

Read paragraph 5.

1. Identify the topic sentence aad the illustrating sentences. Find the
sentence describing the first step on the way to a hypothesis (What modal verb
is ysed to show that it is only the first step?). 2. Identify the words used by the
author as equivalent to this was so. 3. Give a Russian equivalent of emerge.
+ Translate the last sentence of the paragraph into Russian.

Read paragraph 6.

1. Identify the topic sentence and the illustrating sentences. Find the
sentence describing the next step in the development of the hypothesis (What
word shows that it is a hypothesis?). State the function of fhat is and give its
Russian equivalent. 2. Translate the first sentence into Russian.

Read paragraphs 7 and 8.

1. Identify the topic sentence and the illustrating sentences. Find the
sentence describing the final step in the development of the hypothesis. 2. Find
the guide words to the author’s thought equivalent to: wecomnenno, necmomps
Ha 3mo, Ka amom ocnosanuu. 3. Try to explain the author’s choice of the modal
verbs. 4. Find the English equivalent of i. e. in paragraph 6.

Read paragraph 9.

1. State the role of deductive reasoning in science. Indicate the words
characterizing the conditions under which the Curies worked. 2. Translate para-
graph 9 into Russian,

V. Read the whole text again and see if any corrections should be
made in your original outline. Write an abstract of the textin three
sentences.

'i‘ext C. Research: Fundamental and Applied,
-and the Public
(to be done at home in written form)

1. 1. Read the text without consulting the dictionary, pencil-mark
the words that you do not understand. Divide the text into three
parts, copy out the dominant noun in each part and suggest a
title for each part. 2. Identify 19 structures according to Pattern
9 and give their Russian equivalents.
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1. People are always talking about fundamental research, implying
thereby the existence of a nameless opposite. A good definition of funda-
mental research will certainly be welcomed: let us see whether we can
invent one. We have to begin, of course, by defining research. Unfortu-
nately the concept of research contains a negative element. Research is
searching without knowing what you are going to find: if you know
what you are going to find you have already found it, and your activity
is not research. Now, since the outcome of your research is unknown,
how can you know whether it will be fundamental or not?

. 2. We may say for instance that fundamental research is that which
you undertake without caring whether the results will be of practical
value or not. It may not be reasonable to go further and say that funda-
mental research is that which will be abandoned as scon as it shows a
sign of leading to results of practical value. By saying this you may limit
your own achievement. It will be better to say that fundamental re-
search is that which may have no immediate practical value, but can
be counted upon as leading to practical value sooner or later. The
extension of knowledge and understanding of the world around us will
always be profitable in the long run, if not in the short.

3. This is a very powerful argument for fundamental research and it
is a completely unassailable one, and yet there are people who will not
like it. Let us seek a definition that will give fundamental research a value
of its own, not dependent upon other uses appearing soon or late. We
say for instance that fundamental research is that which extends the
theory. Now we have to theorize upon theory.

4. There have been sevetal viewpoints about theory. One is that the-
ory discerns the underlying simplicity of the universe, The non-theorist
sees a confused mass of phenomena; when he becomes a theorist they fuse
into a simple and dignified structure. But some contemporary theories are
so intricate that an increasing number of people prefer dealing with
the confusion of the phenomena than with the confusion of theory.

5. A different idea suggests that theory enables ore to calculate the
result of an experiment in a shorter time than it takes to perform the
experiment. | do not think that the definition is very pleasing to the
theorists, for some problems are obviously solved more quickly by
experimenters than by theorists.

6. Anothér viewpoint is that theory serves to suggest new expe-
riments. This is sound, but it makes the theorist the handman of the
experimenter, and he may not like this auxiliary role. Still another
viewpoint is that theory serves to discourage the waste of time on mak-
ing useless experiments.
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7. Let us try to flatter theory by giving it a definition that shall not §
describe it as a mere handmaid of experiment or a mere device for
saving time. | suggest that theory is an intellectual instrument granting a §
deep and indescribable contentment to its designer and to its users.
This instrument is made up of units which can be compared, for
instance, to different branches of physics: solid state physics, relativi-
ty, acoustics, elementary particles and others, which sometimes have
only a remote relation with one another and may not even be intercon- §
nected at all.

8. The rest of my talk will be devoted to a different question which is: |
how are we going to communicate to the layman some of our passion }
for our science? This is a very important question, for everyone is a
layman until he becomes a scientist. If we can solve the problem of}
interesting the layman we may succeed in attracting the potential Fer- |
mis, Slaters, Lands and Fletchers of future into the field of, say, phys- |
ics. Nothmg could be more desirable.

9. A frequent technique is that of surprise. The trouble with this is|
that one cannot be surprised if one is not accustomed to the situation }
which is nullified by the surprise. Imagine, for example, a physicist §
trying to surprise an audience of laymen by telling them that there are |
a dozen elementary particles instead of two or three, or that the newest |
cyclotron imparts an energy of 500 mev to protons. It simply will not
work, because the listeners will have no backgroupd to compare this |
information with.

10. 1t is also a mistake to think that we can excite an audience by |
solving a mystery for them. The trouble here is that practically no one is }
interested in the answer o a question which he never thought of asking. |

I1. Relativity had a wonderful build-up in the decade before 1905, |
for the physicists of that era were acquainted with the sequence of §
experiments which were designed to show that the earth moves rela-
tively to the ether and which obstinately showed the opposite. Each §
stage in the unfolding of quantum mechanics was exciting to the phys- {
icists who knew the earlier stages, because they knew the problems }
which were left unsolved. The writer of a detective story creates the |
mystery before he solves it, but the mystery usually begins with the
discovery of a murdered man, and this is considerably more exciting |
than a murdered theory. The corresponding technique in physics con-
sists in trying to create a particular state of out-of-dateness in the mind
of the public, in the expectation of bringing them up-to-date at the end |
of the lecture or paper. There is too much risk of leaving the audience 4
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in the out-of-date condition, and this technique cannot be recom-
mended. ! '

12. Another mistake, in my opinion at least, is that of stressing a
paradox. Try telling an audience that if you know the exact position of
a particle you cannot know its momentum, and vice versa — the effect
is unpredictable but obviously not what you wanted. Still another mis-
take is that of springing an isolated fact upon the audience. An isolated
fact is not science and it is not interesting. Facts are of interest only as
parts of a system. And we must strive to interest the layman in the
system.

. Paragraph Study (consult the dictionary if necessary).

Read paragraphs 1-—3.

1. Follow the nouns research, definition and aergument through their
transformations into pronouns and state the main idea of the paragraphs, ei-
ther in English or in Russian. 2. Copy out the words equivalent to: gecoma
HCEAAMENBHO UMEMb Xopoluee onpedeseriie, npeonpunams, e 300yMuI8aACy, 0epl-
HUYUMD GOIMONCHYE pe3yamambl céoeti deameasiocmy, pactiuperye 3Hanuil npu-
nocum noas3y. 3. Give Russian equivalents of a nameless opposite; searching;
outcome of your research; immediate practical value; research can be counted
upon as leqding; in the long run, if not in the short; a very powerful argument for.

Read paragraphs 4—7.

1. Follow the dominant noun through the paragraphs and copy out the
definitions of theory and the beginning of the sentences containing counter
arguments. 2. Copy out the words equivalent to: efpa3syrom npocmyro, Ho cmpozyio
CUCMEMY, MeopUll UMEII HACMONGKO CAONCHMI U 3anymanHwid xapaxmep;
scnomozamensHas qiynkuus; npedomepauiant, nomeplo SpeMenl; MPUHOCAUUI
eayioxoe yooeremeopenue. 3. Give Russian equivalents of the underlying simplic-
ity; the handman of the experimenter; a device for saving time; a remote relation.

Read paragraphs 8--12.

1. Concentrate on the opening question and the possible answers con-
sidered by the author. Make up a summary of the paragraphs in three sentences
in Russian.

. Translate paragraphs 8—12 into Russian.

IV.  Make up a list of words that you have looked up in the dictionary
and give their contextual Russian equivalents.
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Text D. Scientific Innovation:
Its Impact on Technology
(to be done in class)

1. Mr. A. The impact of scientific activity on technology is often
discussed today. But one thing is not clear. What is meant here: the impact
of today’s scientific activity on today’s technology or the impact of today’s
scientific developments on technology thirty years from now? -

2. Mr. B. I think there is usually an interval of twenty years or so §
between the discovery of anew scientific principle, and its impact on |
industry. In the case of the transistor, for example, it took about that
long. Some things move a bit faster but it must be admitted that many
are even slower, .

3. For example, our computers are based on fundamental discove-
ries in physics that may be traced back thirty, forty, even fifty years.
What will come out of contemporary science, out of the research that
is being done today — we just do not know.

4. Mr. A. Do you think the isolated inventor is still the usual source
of innovation, or has the group inventor been put to the fore now?

Mr. B. It seems that the lone inventor in most fields has been re-
placed by the group. But more often than we realize the original bril-
liant idea is still the product of one man’s genius. He may, however, live
in a group environment and have the advantage of the scientific and
technical competence and intellectual contacts that come from work-
ing with a large group of people.

5. Mr. A. You are probably right. But as soon as a new idea is put
forward, it requires many people’s efforts before it can be transformed
- into a product. And at this stage innovation becomes a group and not an
individual activity, involving both a sophisticated body of information
and a sophisticated technology.

Tape 1. l. Listen to the following words and expressions:

1. scientific innovation — HOBOe B Hayke; 2. impact — BRMsIHME, 3.
what is meant — <¥To0 UMeeTCH B BHIY.

il Listen to the words and expressions again and repeat them af-
ter the speaker. Write them down.
. Listen to passage 1 and answer the questions:

1. What is often discussed to-day? (Key: the impact of scientific activ-
ity on.technology.) 2. What words are equivalent to scientific innovation?
(Key: scientific developments )

60




v. Listen to the passage, sentence by sentence, and repeat them
after the speaker.

Tape 2. I. Listen to the following expressions:

1. It took about that long — norpe6oBaOCE IPHMEPHO CTONBLKO XK€
speMeHH; 2. it must be admitted — HyXHO npu3HaTE; 3. a bit faster — HeMHoOro
GricTpee.

Ik Listen to the expressions again and repeat them after the speak-
er. Write them down.
. Listen to passage 2 and answer the questions:

1. What is the usual interval between the discovery of a new scientific
principle and its impact on industry? (Key: an interval of twenty years or so).
2. What example is given to illustrate the above statement? (Key: In the case of
the transistor, for example, it took about that long.) 3. What period of time is
meant by it fook about that long? (Key: an interval of twenty years or so.)

iv. Listen to the passage, sentence by sentence, and repeat them
after the speakeér,

Tape 3. l. Listen to the following words and expressions:
1. to trace back — mpocnexmBaTh; 2. contemporary—CcoBpeMEHHBIA.

i Listen to the words and expressions again and repeat them af-
ter the speaker. Write them down.
1. Listen to passage 3 and answer the questions:

i. What are computers based on? (Key: on fundamental discoveries in
physics.) 2. Do we know what will come out of contemporary science? (Key:
we just do not know.) 3. How far back were fundamental discoveries in physics
made? (Key: thirty, forty, even fifty years.)

Iv. Listen to the text, sentence by sentence, and repeat them after
the speaker.

Tape 4. 1. Listen to the following words and expressions:

1. inventor — u3oGperarennb; 2. source — MCTOYHHMK; 3. to put to the
fore - BHIABMIATL Ha NMepBHIH mwiaH; 4. genius — reHul; 5. environment —
OKpyXaioltias cpena; 6. to have the advantage — 1Mob30BaThCs NPEHMYLIECTBOM.

in. Listen to the words and expressions again and repeat them af-
ter the speaker. Write them down.”
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in. Listen to passage 4 and answer the questions:

1. What kind of inventors are discussed in the text? (Key: the isolated
inventor and the group inventor.) 2. What words are equivalent to the isolated
mventory (Key: the lone inventor.) 3. Is the author sure that the lone inventor
has been replaced by the group? Give your reason. (Key: No, he is not; he
says, “it seems. . .”) 4. What is the potential role of the lone inventor? (Key:
The original brilliant idea is stilt the product of one man’s genius.}

w. Listen to the text, sentence by sentence, and repeat them after
the speaker.

Tape 5. I. Listen to the following words and expressions:

1. to put forward an idea — BeIXBHraTh HAEIO; 2. 10 require — TpeGoBars;
3. effort — ycunie,; 4. sophisticated technology — BHICOKOPA3BUTAN, CNOXHAS
TeXHUKA.

H. Listen to the words and expressions again and repeat them af-
ter the speaker. Write them down.

il Listen to passage 5 and answer the questions:

1. When does science become a group and not an individual activity?
(Key: as soon as a new idea is put forward.) 2. What is the Russian equivalent of
a sophisticated body of information (Key: Bceobremmoluas uubopMaims.)

V. Listen to the passage, sentence by sentence, and repeat them
after the speaker.

t

Laboratory Work

Listen to the dialogue, write it down, hand it over to the teacher
for checking up, learn it by heart.
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UNIT TWO

M

GRAMMAR: INFINITIVE: FUNCTIONS AND CONSTRUC-
TIONS. TOPIC: SCIENCE: ITS FUTURE.

STRUCTURE STUDY:

1. Various Functions of Single Infinitive (Patterns 13—19).
2. Infinitive Constructions Equivalent to Clauses (Patterns 20—22).

WORD STUDY:

1. English-Russian Word Relation. |

2. Word Structure (for{e)-, -able/-ible, -ful, -less, -ly, N & V).

3. Word Meaning (available, to argue, to consider, to fail, to prove,
to reason).

4. Word Combinations.
5. Structure Words (some, any, no, that (conj.), what, whlch

whether)

TEXT STUDY:

Introduction. )

Text A. Physics: Its Recent Past and the Lessons to Be Learned (for

class-room reading and analysis, and home translation).

Text B. Molecular Biology in the Year 2000 (for class-room com-
prehension reading).

Text C. Physics in the Next 30 Years (for home practice in different

reading skills).
Text D. Forecasts in Science: Are They Worth Making? (for class-

room practice in understanding spoken English.)
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STRUCTURE STUDY

1. YARIOUS FUNCTIONS OF SINGLE INFINITIVE

Pattern Study (13, 14, 15)

Pattern 13:
Inf. (N,)...V...
To appreciate the present requires some historical perspective.
Ouenka Hacrosuere TpeGyeT HEKOTOPOM HMCTOPUYECKOM mep-
CTICKTUBBI. i

Pattern 14

Inf. (N)...V__... .

To apprec1ate the present try to look at it in hlstor:cal perspective. |
Hnst Toro 4To6HI OLIEHUTH HACTOALLIEE, MOCTAPANTECH B3IJSIHYTh Ha HETO |
HCTOPHYECKH.

Pattern 15
Inf. (N)...N...V,...

1} (In.order) to appreciate the present, one must have some historical |
perspective. JUs Toro 4roObl OLEHMTDL HacTosmlee, HeoOXomumMa
HEKOTOPAaR UCTOPHYECKAs TEPCTIEKTHBA, 4

2) To be a successful scientist, one must possess certain characteristic |
qualities. To begin with, one must be curious about the world around |
him. [ins Toro ¥roGp1 OGHTBCA ycmexa B HayKe, Heobxonumo 06- §
JIagaTh OMpefeNeHHBIMU cnelnbmdeckuMu Kauecrgamu. IIpexae
BCEro HeoOXOAMMO MCHIBITRIBATE KEIaHHE NO3HATH OKPYXaloulwii
MHUD.

Pattern Vocabulary (15.2). List 6

Remember the infinitives and infinitive phrases commonly used to con-
nect sentences in the text.

to begin with — npexne Bcero, Ha4YHEM € TOYO, YTO. . ., BO-TIEPBRIX;

ISl HaYana;

to conclude — B 3akmoYeHHE;

to generalize — oGobiias, B 00LEM, ecii oBOBIIMTL (BLILIECKAZaHHOE); {
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to illustrate — A8 HILMIOCTpalLWK, HaTpUMep;

to make a long story short — xopoue rosops;

to mention — eciau YNMOMAHYTb;

not to mention — HE rOBOPS YXe 0. . .;

to put it briefly — xopoue rosops;

to put it another way — MHave rOBOpPS, MHBIMM CIOBAMH,
to say nothing of — He roBops yXxe 0. . .;

S0 10 say — TaK CKa3aTh;

to sum up — NOABOASA WTOr, MTAK, €CJIM MOABECTH HTOT;
to take an example — Hanpumep;

to tell the truth — no mpasne rosops.

Pattern Practice (13—15)

Ex. 1.

A. identify the infinitives according to Patterns 13—15 and give
Russian equivalents of the relevant part of the sentence.

1. To make a choice between these two alternatives is not an easy
task. 2. To be on the safe side, take special care of the accuracy of the
calculation. 3. To foresee what the future will be like requires analysis of
the past experience. 4. To tell the truth, the results have no direct bear-
ing on the problem under investigation. 5. To argue about it is not
fruitful at the moment. 6. To establish cause-effect relationship be-
tween smoking and some diseases, extensive research is being carried
on at several research centres. 7. To sum up, synthetic problems are
studied for the possibilities which they hold for practical applications,
8. To put it another way, the experimental procedure must suit the
purpose of the experiment. 9. To be able to forecast the future, we must
begin by a thorough analysis of the past course of events.

B. Give English equivalents of the italicized parts of the sentences.

1. Zlna mozo umobor coomeemcmeasams yeau IKCHEPUMERMa, Mentoo
doaxcen Guimp npocm. 2. ¥cmanoeums npuqunno-caedemeennbie omiuo-
werya 9acTO 03Ha4aem pewinTs npobnemy. 3. [Ipedsudems 6ydvitee ne-
sosmoxcio 6e3 aHanusa npouwnoro. 4. Josops no npaede, Bce OXNIAIH
COBEPHICHHO ADYTHMX pesyabraToB. 5. Cdesams entbop 1acTo (aisaem ca-
Mbim mpyonwm. 6. Tmobut e puckoeams, npoeepbme aNNapaTypy nepen
IKCNEPHMEHTOM €ellie pas.
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Pattern Study (16)
Pattern 16: T~
cooN LV LI L

1) A pure scientist wants to establish the underlying relationship of
the events observed. YueHBli, 3aHMMAaIOIIMICA YUCTOH HAYKOW,
CTPEMHUTCS YCTAHOBMTH BHYTPEHHIOI B3aMMOCBS3b HaGmozaeMbix
ABJICHMI.

2) The book has been written (so as/in order) to review recent
developments in this area of research. Kuura HamucaHa ¢ Hensio
caenrath 0630p NMOCHEOHUX OOCTHOKEHMIA B 370 O0MACTH KCCAEno-
BaHMIA.

3) These advanced concepts have been immediately applied to practice,
to give rise to a new branch of technology. DTu nepenoBsie uuen
6BUIM HEMEUIEHHO TIPMMEHEHE! HA NpaKTHKE, INOPOAMEB HOBYIO
o61acTh TEXHHKH (=H NOPOAWIM HOBYIO 00IacTh TEXHHMKH).

Pattern Vocabulary (16.3). List 7

Remember the infinitives commonly used in Pattern 16.3.

to bring about — mopoxnarb, BHI3LIBATH;
to give — Japarh, I1OPOXAATH;

to give rise to — MOpPOXNATh, IPUBOIUTS K;
to form — o6pa3cBHIBATH, OABATDH;

to make — MPOW3IBOOUTD, ACHATD;

to produce — NPOMU3BOINTD, HABATD;

to yield — npousBomMTH, BABATH.

g Pattern Practice (16) -

Ex. 2. ]
A. Identify the structures according to Pattern 16 and give Russian |
equivalents of the relevant part of the sentence.

1. The analysis has been extended (so as) to take into consideration §
the unavoidable by-effects. 2. Two hydrogen atoms combine to form a §
hydrogen molecule. 3. Under this assumption the equation is reduced to §
yield a classical relation. 4. We do not expect to solve all these problems }
by the tum of the century. 5. The new substance readily reacts with
alkali metals to give rise to alloys with predetermined characteristics.
6. At this stage a new theory was advanced to produce a revolutionary §
change in our understanding of the process. ‘

66




B. Identify the structures according to Pattern 16 including per-
fect infinitive and give Russian equivalents of the relevant part
of the sentence,

1. They claim to have accounted for the effect observed. 2. He admits
to have made a similar mistake in his earlier publication. 3. He was sorry
to have occupied himself with the problem for so long, and not to have
given it up earlier. 4. They admit to have been informed of this possibil-
ity before the experiment. 5. Mark Twain allegedly remarked once that a
classic is something which nobody wants to read but everybody wants
to have read. 6. To write with precision, it is necessary to have thought
logically first.

\

Pattern Study (17) e

Pattern 17:
...N,...be...Inf ..

1) The traditional guestion behind the research is: “How is this to be
explained?” or “How are we to explain this?” — “How can this be
.explained?” or “How must (can) we explain this?”’ B ocHope Ha-
YYHOTO HCCIEJOBAHMA NEXHMT TPAIMUHOHHBIH Bompoc: «Kak 310
(MOXHO) 06BACHUTB?» WiH «Kak MBI 310 OOBACHIEM (= MOXeEM
OOBACHUTD)?»

2) The primary task of the laboratory head is to provide conditions
favourable for experimentation (. . . the task . . . consists in providing . . .).
OcHoBHas 3afa4a PYKOBOJUTeE/A TaGOpaTOpHM 3aKITICYAETCH B TOM,
4yToOH ObecneunTh YCIOBHA, OMArolpHATHLIE A SKCIEPUMEH-
TANBHOU paboThL.

Pattern Practice (17)

Ex. 3. Look through lists A, B, C and make up various meaningful sen-
tences according to Pattern 17. -~

A. The aim of our seminars; the purpose of the book; the task of the
research group; the procedure; one important thing; we; the research
group.

B. Is; are; was; were.

C. To point out general tendencies; to review recent developments
in the field; to take into consideration all the essential factors; to learn
from the past experience; to suggest some fresh ideas for research; to

> 67



develop a special apparatus suited for the expernment; to tackle the
problem of ocean exploitation.

Ex. 4.
A. Identify the structure according to Pattern 17 and give Russian
equivalents of the relevant part of the senténce.

1. The aim was to discuss the impact of scientific activity on tech-
nology. 2. If we are to achieve the aim we must confine our attention to
one peint only. 3. Perhaps the greatest problem at present is to get some
understanding of the remarkable phenomenon of memory. 4. The orig-
inal idea was to take advantage of the high temperature of the process.
5. Glass which is to be used for lenses must be almost colourless. 6. The
train is to reach its destination in 52 hours. 7. The joint programme of
Soviet and foreign scientists on space research is to be discussed at the
next COSPAR conference. 8. Many terrigenous bacteria which have be-
come adapted to salt water are to be found close inshore.

B. Give English equivalents of the italicized part of the sentences.

1. Ecau mw xomum dobumbcsa yeau, MEl ZOIDKHBL NPUHATD BO BHU-
MaHMe BCE MCTOMHMKH onmibox, 2. Ilesv amol xnueu — dams 0630p
MOCACAHHX NOCTYOKeHHI B aT0it obnacTn uccnenosanud. 3. Hawa 3ada-
wa 3aKaovaemcs ¢ mom, umobsl obecnewums ycrosus, naubonee 6xaro-
NpHATHEIE WA paboTel. 4. Camoe eaxctoe — amo cocpedomoyums eHit-
Manue Ha ooHOM Bonpoce. 5. Ham npedcmoum nodxpenums 31y NHTED-
NMPEeTALMI0O HOBBHIMHM 3KCIIEPHMEHTAIBHBIMA NaHHBIMH. 6. 3adaua
cemunapckux obcyxcOenuii 3axaiciaemcs é mom, ymobs npedsazamo
HOBBIE DKCITEPHMEHTHI.

Pattern Study (18)
Pattern 18:
oo JAdj/Adv. .. (as) Inf. . ..

a) he programme is sufficiently diversified (= diversified enough) to
excite the interest of most graduate students. — The programme is
sufficiently diversified and it can excite the interest of most graduate
students. IIporpamMa nocTaToMHO pasHOOGpPa3Ha s TOTO, YTOOKI
BO36ynuTh MHTEpPEC GOABLHIMHCTBA CTYACHTOB-BEINTYCKHHKOB.

b) The concept was too advanced to be appreciated by contemporary
scientists. — The concept was too advanced and it could not be
appreciated by contemporary scientists. Mnesi ciMiIKOM onepexana
CBOE BpeMsi, yTODLI ee MOT/I¥ OLEHHTh COBPEMEHHHKH.
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Pattern Vocabulary (18). List 8

Remember the adjectives and adverbs used in Pattern 18:
a) enough — mOCTaTO4HO;

sufficient(ly) — mocratouubii (0);

S0 ... (a8) — HACTONBKO. . . (4TO);

such . . . (as) ... — TaKo#. . . {4T0);

b) t00 — CAHIIKOM.

Pattern Practice (18)

Ex. 5.
A. Identify the structures according to Pattern 18 and give Russian
equivalents of the relevant part of the sentence.

1. The consequences might be so disastrous as to exceed anything
imaginable. 2. His story of the past is too personal to have any bearing
on other people’s experience. 3. The advantages of such an approach
are evident enough to be taken for granted. 4. The experiment produced
enough evidence to support the interpretation suggested. 5. The failure
of the project was such as to discourage further efforts for many a year.
6. The information available was not sufficient to contribute to the
clarification of the problem. 7. The assumption is reasonable enough to
be valid. -

B. Transtate into English using Pattern 18.

1. IIpexmonoxeHne ObUIO CHHUUIKOM HEOXHIAHHLIM, YTOGH €ro
MOXHO OBpUTO NpHHATL 6e3 JoKasaTenbeT. 2. Maen CavMiuixoM ornepe-
KAKOT CBOE BPEMs, YTOORI HX MOXHO OBUIO Cpa’y Xe NpPHHATE. 3. Ap-
TYMEHTEl TPEOCTABASIOTCS AOCTATOYHO PAa3yMHBIMH, YTOO M3IMEHHTH
xom obcyxneHus. 4. Januux GHITO HEIOCTATOYHO, YTOOK BHECTH fC-
HOCTb B 3Ty NpobneMy. 5. D10 npeiioxkeHHe He TaK BAXHO, YTOObI ero
PACCMATPUBATh HA CErONHALIHEM 3acelaHHH.

A

Reading Practice (Patterns 13—18)

Text 6. 1) Read the text to yourself and be ready for a comprehension
check-up.

To speculate about the future is one of the most basic qualities of

man. It involves two aspects: one is to forecast what the future develop-

ment will be and the other is to determine in what approximate period
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of time it is going to take place. To make such a prognosis means to
learn from the past experience and to extrapolate the knowledge into
the future. Recently, however, the rate of change has been so great as
to make it difficult to learn from experience, at least as far as the time
factor is concerned. To take but one example, a prediction of man’s
possible landing on the Moon around the tumn of the century was made
as late as 1961, only 8§ years before the actual event! So, to be on the’
safe side, we had better leave time to take care of itself, and concen-
trate our attention on what the future may be like.

There is yet another problem involved: are we to accept submissiv-
ely any possible course of events, or are we to work for a future most
suited: for most people? The choice is to be made, at different levels,
by every individual and by every society.

2) Check up for comprehension.

1. What are the two aspects of speculation about the future? 2. What
are the two steps of any prognosis? 3. Why has it been so difficult
recently to make any predictions concemning the future development?
4. What example is cited to illustrate the difficulty? 5. Does the author }
make any suggestions concerning this difficulty? Why does he suggest |
this? 6. What dilemma are we faced with and what choice is to be made
by every individual and every society? 7. What are Russian equivalents
of: before the actual event, leave time to take care of itself, what the future |
may be like? '

A

Pattern Revision (13—18)
(to be done at home in written form)

Ex. 6. A. Identify the infinitive according to Patterns 13—18 and give
Russian equivalents of the refevant part of the sentence.

1. What we try to do is to foretell a, general tendency rather than a 4
particular development. 2. The subject is fascinating enough to suggest §
itself for a wide discussion by people engaged in different research areas. }
3. The aim of the book is to present the case for an extensive study of {
this complicated phenomenon. 4. The factor is important enough to be |
taken into consideration even though detailed analysis is not at present
feasible. 5. To tackle such a problem with any of the techniques available §
before the advent of the computer would have been pointless. 6. To
conclude, a definite science politics is needed if the development of |
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science is to favour the best interests of the country. 7. It is generally
accepted that no outstandingly new or revolutionary theoretical con-
cept in physu:s can be invented by anyone over the age of 25; by that
age one’s ideas are aIready too solidified to permit imagination to’ tri-
umph over rationality. 8. The definition was severely criticized, to give
rise to a long and heated argument on the pages of some journals. 9. To
appreciate the accuracy of the data, refer to Table I on page 57. 10. This
book is a first-rate introduction to the nature and methods of scientific
thought, to say nothing of its remarkably clear style. It is an ideal book
for a fresher, as to foliow the author no knowledge of science is needed.
I1. To avoid making mistake is always very difficult, because, to begin
with, to err is human. 12. He was strong enough to override the oppo-
sition, but after his death the project was abandoned. 13. After World
War II Von Neumann’s group was to lead the world in ideas concem-
ing the development and the use of computers. 14. Some mathemati-
cians have alienated mathematics from the rest of human culture, to
bring it to the danger of becoming sterile. 15. He admitted to have
oversimplified the problem, but his only excuse was that it was too
complicated to be tackled directly.

B. Translate into English.

1. D10T (paKTOp CAMILKOM BaXEH, YTOOH He IPHHATH €ro BO BHK-
maHye. 2. Ecny Mul XoTUM ROOHTBCH LIETH, MBI JOJDKHEL Y4€CTh TaKXKe
daxrtop BpemeHH. 3. llent KHMIH 3aKII0YaETCS B TOM, YTOOHI Npeln-
CTaBUTh BCE JOBOJEI B MQIB3Y STHX UCClenoBaHuil. 4. OTa Haed HocTa-
TOYHO OYEBHJAHA M caMa coOoil HanpammMpaercs. 5. M3BineKaTh ypokKu
M3 HPOILILIOTO OMbITA HE TaK MPOCTO, KAK 9TO MOXET MoKa3arecs. 6. OH
OB JOCTATOYHO CHEBHOM JHYHOCTBIO, YTOOH NPEOROJETh COMPOTHB-
JieH#e cBOMX Kosuter. 7. YTobul o JOCTOMHCTBY OLIEHHTh 3HAYEHHE 3TOr0
IKCIIEPHMEHTa, HeOOXOMMMO CPaBHMTbL €I0 C OCTAIBHBIMHM paboraMu
B 3T0# obmact. 8. Mi3bexars 01uH60K, KaK NpaBHAo, OYEHDb TPYAHO.

Pattern Study (19)

Pattern 19:
. N...Inf..

The techmque of collecting information will dlffer according to the
problem to be solved. — The technique of collecting information will
differ according to the problem which is to (can/must/will) be solved.
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Pattern Practice (19)

Ex. 7.
A. Identify the structures according to Pattern 19 and practise orally
as shown in the following exampie.

Example: There are new problems and complexities to be disentangled
when the research range is extended.
.. . new problems and complexities to be disentangled. . .
. .. new problems and complexities which are to be dis-
entangled.

1. What are the lessons to be learned? 2. This is not an opportunity
to be thrown away. 3. An interesting distinction to be made here is
between problems and techniques. 4. Another factor to be taken into
consideration is the power of modern experimental techniques. 5. The
rate of our knowledge growth will surely increase in the years to come.

B. Give English equivalents of:

1. IIpo6nema, KoTOpPYIO Hano pewmTh. 2. PaKTOp, KOTOPHIA HAKO
IPUHATH BO BHEHMaHue. 3. 3a1aun, KOTOPHE CTOAT NEpe] HAaMH Ceroj-
HA. 4. CIOXHOCTH, KOTOPRIE HEOGXOAUMO paciTyTaTs. 5. I'panyiue roga.

C. To distinguish between N. . .Ved and N. . .Inf. give Russian

equivalents of: [

1. the data analysed — the data to be analysed; 2. the lessons leamed —

the lessons to be learned; 3. the choice made — the choice to be made;

4. the factor taken into consideration — the factor to be taken into

consideration; 5. new complexities disentangled — new complexities to
be disentangled; 6. a distinction made — a distinction to be made.

2. INFINITIVE CONSTRUCTIONS EQUIVALENT
’ TO CLAUSES

Pattern Study (20)
Pattern 20
A

Most scientists expect major development in the near future to
take place in biology. BOJBLIMHCTEO YUEHBIX OXMIAET, YTO OCHOBHbLIE
OTKpPbITUS B OmvxaiilteM OynyiueM npou3ofnyT B OHOIOrHM.

* Or Ving, Ved, Adj.
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It 1s sometimes very difficult to make people see your point. MHor-
A2 OYeHb TPYMHO AOGUTLCS TOFO, YTOObI APYTHE MOHSAM TO, YTO BhI
XOTHTE CKa3aTb.

Pattern Vocabulary (20). List 9

Remember some of the verbs commonly used in Pattern 20.

1. Verbs of mental and sensual perception and estimation:
a) to assume — JeiaTh AOMYILEHHE, YCAOBHO NONAraTh;

b)

to believe — cyMTaTh BEpHBIM, TIONATaTh;

to consider — TPHXOAMTh K 3aKMOYEHHI0 (MHEHMIO), MONa-
rath, CYHTATH;

to estimate — OLEHWBATh, CYMTATD;

to expect — OXHAATH, TONIAraTh;

to find — Haxomwrb, CUHTATH;

to hate — cuMTaTh HENMPHEMIEMBIM,;

to hold — npumepXuUBATECS MHEHMS, CUUTATD;

to know — 3HaTth;

to like — CYMTATPh XeNaTeNbHbIM;

to prove — JOKA3BIBATS,

to regard as — paccMaTpHMBaTb, CYMTATH;

to show — noxasbIBarh;

to suppose — INpeAroNarars, Noxararh;

to take — nmpuHHUMAaTL (3a), CUMTATh;

to think — myMarb, monararhb;

to feel** — uyBcTBOBATH;

to hear** — cnnlHaTE; '

to see** — BUOETD,

to watch** — Habmonats.

2. Verbs of causation and initiation:

10
to
o
to

allow — naTh BO3MOXHOCTDb, MO3BOJIHTH, HONMYCTHTD;
cause — OBITb IPHUYNHOM, NOGYAUTD;

enable - caenath cnocoOHMM, TO3BOIUTD;

force — NMPHHYXHAATH, 3aCTABMTD;

to get — MONY4Yarh Xenaemoe, TOOUBATHCS;

to

have** — umerh xemaeMoe, HoOHTLCH;

to make** — caenath Tak, YTOOHL. . .; 3aCTABUTS;

** These verbs are followed by infinitives without 1o
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to permit — 1aTh BO3MOXHOCTB, pa3pelInTh, MO3BOJIMTD;
to require — noOYXKIaTh K AeicTBHIO (TpeOOBaTh, YTOOHL. . .},
to want — XOTeTb, YTOOHI. . .

Pattern Practice (20)

Ex. 8. Identify the structures according to Pattern 20 and give Russian ’
equivalents of the relevant part of the sentence.

1. One can assume this to be self-evident. 2. One can expect the
scope of research to-expand steadily. 3. Most people believe the amount |
of effort in science to be somehow correlated with the standard of 1
living in the country. 4. Nowadays we see many new areas of research §
come into being as a result of unexpected breakthroughs. 5. One can |
watch more and more people move into biology from other areas of
research. 6. The present-day situation forces more and more countries to |
start contributing to this field of research. 7. An efficient laboratory head |
always knows how to get his people to do their work properly and on
time. 8. If one is really interested in science, one does not like any 1
problem, however difficult, to be left unsolved. 9. Most scientists regard
biology, rather than physics, as the likely central ground of scientific §
advance in the near future. 10. One will naturally think such course of }
events (to be) disastrous not only for science but for the future of 1
mankind. 11. One of the major problems at present for a university is to §
have young people interested in long-range problems. 12. One can hard-
ly tolerate one’s ideas being criticized without an attempt to defend }
them. 13. Assuming this to have direct bearing on the future of man, the
author goes into a detailed analysis of the present status of science and |
scientists in advanced countries. 14. The author’s major concem is to 4
make the reader realize the full implications of genetic engineering.
15. He achieves his aim by having the reader follow his story of this new }
area of research from its early days up to now.

Ex. 9. Learn to distinguish between indefinite and perfec{ infinitives in §
Pattern 20. Translate the sentences into Russian.

1. The history of the last 30 years shows him to have done very well.
2. We know him to have established a school of his own. 3. We do not |
expect him to throw away an opportunity like this. 4. We know him to |
have objected to this style of research on previous occasions. 5. They §
considered all water on the surface of this planet to have been liberated |
by volcanic action.
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Ex. 10. Learn to distinguish between active and passive infinitives in
Pattern 20. Translate the sentences into Russian,

1. This allowed him to follow the rules. This allowed the rules to be
followed. 2. This information enabled the scientist to make a forecast for
the next few years. This information enabled forecasts for the next few
years to be made. 3. This analysis permitted them to tackle the problem
directly. This analysis permitted the problem to be tackled directly.

Ex. 11. Learn to distinguish between three different structures shown
in the following example. Translate the seniences into Russian.

Example: a) Before he gave up the research he had represented our
research group at international symposia. Jlo moeo xax on
nepecman 3aQHUMAMbCA IMUM UCCACO0BAHUEM, OH
npeocmasasn Hauty UCCAe008amenscKylo epynny Ha
MENCOYHAPOOHBIX CUMNOZUYMAX,.

b) He had our researh group represented at the last sym-
posium. O ycmpous max, umo rawa zpynna Guaa
npedémaenena Ha ROCACOHEM CUMNO3UYME.

¢) He had his assistant represent our research group at the
last symposium. Ou ycmpoun max, wmo e20 NOMOWHUK
npedcmaensa HAWy 2pynny Ha nocieOHeM cuMnosuyme.

1. They have supported the project both with money and manpower.
They got the project supported both with money and manpower. They
got the committee 1o support the project both with money ‘and man-
power. 2. He has kept the discussion within reasonable limits. He had the
chairman keep the discussion within reasonable limits. He had the
discussion kept within reasonable limits. 3. They have left the problem
out of the scope of their research. They had the problem left out of the
scope of their research. They made him leave the problem out of the
scope of his resedrch. 4. He has extended the range of his observations.
He had the range of observations extended. He got his assistant to ex-
tend the range of observation.

Reading Practice (13—20)

Text 7. 1) Read the text to yourself and be ready for a comprehension
check-up. .
SCIENTIFIC ATTITUDE
What is the nature of the scientific attitude, the attitude of the man
or woman who studies and applies physics, biology, chemistry or any
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other science? What are their special methods of thinking and acting?
What qualities do we usually expect them to possess?
To begin with, we expect a successful scientist to be full of curiosity —

he wants to find out how and why the universe works. He usually directs 4
his attention towards problems which have no satisfactory explanation, |
and his curiosity makes him look for the underlying relationships even |
if the data to be analysed are not apparently interrelated. He is a good |
observer, accurate, patient and objective. Furthermore, he is not only |

critical of the work of others, but also of his own, since he knows man |

to be the least reliable of scientific instruments.

And to conclude, he is to be highly imaginative since he often

looks for data which are not only complex, but also incomplete.

2) Check up for comprehension.

1. What qualities do we expect to find in a successful scientist? j‘

2. Why do we say that a successful scientist is full of curiosity? 3. Why is

it difficult to see the underlying relationships? '4. Why is he critical of 3
his own work? 5. Why is it necessary for him to be highly imaginative? :
6. Give a Russian equivalent of the title and of the data analysed and the |

data to be analysed.

Pattern Revision (19, 20)
(to be done at home in written form)

Ex. 12.

A.  Identify the structures according to Patterns 19 and 20 and

give Russian equivalents of the relevant part of the sentence.

1. What enabled the scientist to do so well with this disastrous situ- |

ation? 2. They could not tolerate other people taking up the problem |
which they had been investigating for so long. 3. At that time the project,

later to be taken over by another laboratory, was still in progress. §

4. After a long discussion and argument they still could not agree as to
what might be the best way to provide an atmosphere necessary for
research. 5. He was always the first to take up a complicated problem
and the last to give it up. 6. It is highly desirable to get these values

checked before another series of experiments. 7. Instead of having as- |
tronomers watch the stars go around each other, why can we not take j§
a ball of lead and a marble and watch the marble go toward the ball of |

lead? 8. The first section of each article will be devoted to a short sum-
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mary of the history of the problem, to be followed by a review of the
modern advance. 9. Philosophy is a distinct science with its own clearly
defined subject matter to be studied in the same specific way as that of
any other science. 10. On assuming the body with the mass M to be
acted upon by force F, let us calculate acceleration, 11. Later we find
Shakespeare using this style in prose dialogue; sometimes merely in
caricature, but at other times quite seriously. 12. An important point to
be dealt with in the next chapter is different techniques of data-pro-
cessing, 13. It is sometimes very difficult to get people to agree upon
most obvious things, although the things to be agreed upon may be.
generally accepted as urgent. 14. One can hardly expect a true scientist to
keep within the limits of one narrow long-established field, leaving
most fascinating problems to be found on the frontiers, out of the
scope of his inquiry. 15. Good management means getting things done
rather than doing things. Ig.oThis amounts to assuming the rate of our
knowledge growth to depend on the amount of knowledge already ac-
cumufated. 17. It is time to pause at this stage of the story to have the
reader realize its significance for the evolution of physical thinking.
18. At that time the scientist reported to have observed an unusual
luminescence during his experiments with cathode tubes.

B. Translate the following into English using Patterns 19 and 20.

1. BonBUIMHCTBO YYEHBIX OXWIAET, YTO B OMICKaIMe TOOB MOje-
KyJisipHas GHONOTHS cHenaeT HoBhle yenexH. 2. Msl He ¢MOIIM 3acTa-
BUTh €ro COIIACHTBCH HAa M3MEHEHHE YCIOBHM 3KcmepHMenta. 3. Bam
PYKOBOAMTENDL XOYET, YTOOHRl BhI COCPEAOTOMMIM CBOE BHHMAaHHEe Ha
onHoit 3agaue. 4. S He oXUAAI0, YTO OH UIBAESYET U3 3TOIC Ypok. 5. On
BCerma mepewiii Gepercsa 3a Takve mpobnemsl. 6. XKenareapHo, YTOGH
9TH M3MepeéHMs OhUIM IIPOBEpeHBl [0 HAYANA HOBOM CepHy OIBITOB.
7. Mbl 4acTo BHAMM, HAK OHOJIOTM 3aMMCTBYIOT METOHE HE TOJIBKO Y
GU3HKOB, HO ¥ Y XHMHKOB.

Pattern Study (21)

Pattern 21:
LJor. . N.. Inf. ...

There is an apparent tendency for science to become more and
more mathematical. CyuiecTByer sBHAs TEHICHHMA K TOMY, YTOOBI HAYKa
sce Bonee MaTeMaTU3MPOBANaCh.
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Pattern Practice (21)

Ex. 13. Lookthrough lists A, B, C and make up various meaningful sen-

tences according to Pattern 21.

A. It is necessary; it is important; it is often difficult; it is sometimes §

impossible. .
B. Scientists; physics; a research center; us; physicists.

C. To occupy themselves with vital problems; to correlate theory

with experiment; to foresee the implications of their research; to keep
in touch with other fields; to guess what the future may be like.

Ex. 14. Translate the following into English using Pattern 21.

1. MHe TpyaHO 06 310M CIIOPHTS. 2. M BaXXHO NOIKPENUTH TEOPHIO |
DONOJHKUTELHBIMH KCIIEPUMEHTATbHBIMH JAHHBIMH. 3. (PH3HKaM BaX- |
HO NOAAEPXHBATH KOHTAKT ¢ 61onoraMu. 4. PeGeHKy HEOOXOIMMO YUHTD-
cq Ha coGCTBeHHOM omuite. 5. HaM yacTo TpyAaHO yranatk, KakuM Oy- ;
net Oyaywee. 6. EctecTBeHHO, YTO Ha Takoif aHATHM3 3aTPAUMBACTCS 4
okonao roga. 7. Heob6xomuMo, uro6m peakiys 6bu1a yekopeHa., 8, YTobhl

ABC MOJIEKYJIH BCTYIIPUII{ B PEaKUHI0, OHH OOJDKHE!I CTOJKHYTHCA.

Ex. 15. Identify the structures according to Pattern 21 and give Rus-

sian equivalents of the relevant part of the sentence.

1. This decision reflects a desire to make it as easy as possible for |
members of the association and other guests to attend the congress. §
2. For such a large research center as this to become heavily involved
in a single project in a fashionable field would be more than just a wrong §
practice, it would be a disaster. 3. The tendency for pure mathematicians }
to alienate mathematical research from anything that might be some- §

how associated with the idea of “utilization” is only too obvious. 4. For |

any scientific gathering to be a success, the organizing committee must §

be firm on more than one point. 5. There was a prevalent feeling at that |

time that for the laboratory to revive its past glory no efforts were

intensive enough. 6. With so many people working in the same field, it
is enough to come across something new and remark it, for a crowd of §
other researchers to appear from every side to work the thing out be- °

fore you have had time to reflect on your finding in peace.
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Pattern Study (22)
Pattern 22:

.. .[N]. . .V... (by/with-phr.). . [Inf.

Nowadays science is known to contribute to every aspect of man’s
Iife. — It is known that nowadays science contributes to every aspect of
man’s life. M3BecTHO, YTO B HalM JHY HAayKa BHOCHMT CBOM BKJIAA BO
BCE€ ACTICKTH! Hallieil XH3HH,

With the advent of nuclear weapon some people seemed to be
disappointed in science. — With the advent of nuclear weapon it seemed
that some people were disappointed in science. C rosiBJIeHHEM aTOMHOIO
OPYXHSI HEKOTODEIE JIIOAH, FO-BMIHMOMY, Pa304apOoBA/IMCh B Hayke,

Molecular biology is likely to dominate science in the years to
come, — It is likely that molecular biology will dominate science in the
years to come. BecbMa BEpOSITHO, YTO MOJIEKY/IsipHas GHONOTHSA 3aiiMeT
B OylylweM AOMHUHMpYIOLliee MOMOXEHNE B HayKe.

Pattern Vocabulary (22). List 10

Remember some of the verbs used to connect N with an Infinitive in
Pattern 22.

1. Verbs of mental and sensual perception and estimation, used in the
passive:
a) to assume — JeAaTh HOMYyleHHe, YCIOBHO I0/Ararh;
to believe — cYHTaTE BEpHBIM, IIONATAThb,
to consider — NPHATH K 3aKUTOueHHI0 (MHEHUIO), II0J1araTh,
CUHTATh;
to estimate — oueHMBaTh, CYHTATD,
to expect — OXHIATh, IOJIAraTh,
to find — HaXoAMTb, CYUTATh, )
to hold — npumepXHBaTLCA MHEHMUS, CHMTATH,
to know — 3Hats,
to regard — paccMarpyBaTh, CYUTATS,
to report — cooG1IATD;
to say — rOBOPHTb;
to show — moKa3niBarTh;
to state — yTBepXKiaTh; i
to suppose — NPeRNONAaraTeh, MOJAraTh,
to take — mpHHMMATDL (33), CYUTATD,
to think — gyMarh, nmonararts;

* Or as Ving, Ved, Adj, N
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to understand — BOCNpHHHMMATb, CYMTATD,
b) to hear — cabiiuaTe,
to see — BHIETL, CYHTATD,
to feel — 4yBCTBOBATH, CUMTATE.
2. Verbs used in the active:
to appear — MMeTb BHJI, Ka3aThCs, OKa3aThCH,
to chance
to happen
{0 prove — B KOHEYHOM CYETE 0Ka3aThCs,
to seemi — CcO3/MaBaTh BAEYATICHHE, KA3aThes,
to turn out — oGepHYTBCH, HEOXHWIAHHO OKA3aThCH.
3. Adjectives used as predicatives:
likely — Beposarhmiit; . . .is likely to. . . — BeposTHO;
unlikely — manopeposTHLIi; . . :is unlikely to. . . — ManOBepOATHO;
certain — ONpPeNCNICHHBIN, . . .is certain to. . . — HECOMHEHHO, 00s3a- |
TeJIbHO;
sure — yBEpeHHBIH; . . .is sure t0.. . . — HaBepHAKa, 00A3aTENBHO.

Pattern Practice (22)

CAy4aiiHO OKAa3aThCH;

Ex. 16.

A. ldentify the structures according to Pattern 22 and transform
them as shown above.

1. Science is known to affect the lives of people. 2. Molecular biology
is expected to dominate other sciences. 3. The results of these experi-
ments are found to overlap. 4. The data are assumed to correlate with the
present theory. 5. Some people seem to be disappointed in science. 6. He
happens to work at the same problem. 7. The work is likely to contribute
to the solution of the problem. 8. He is sure to argue about it.

B. Render in English, using pattern 22.

1. Dro, mo Bceit BepOATHOCTH, OKAXET BAMAHME HA NanbHeHIuue
coGbITHS. 2. PesynbraTel OKa3aiMCh B XOpPOILEM COOTBETCTBUM C TEO-
pueit. 3. Pewenne 3roit npoGeMsl, Kak U3BECTHO, 3aBHCHT OT MHOTHX
tdhaxTopoB. 4. Oxunaercs, 4ro pabora GyneTr 3aKOHYEHa B 3TOM Mecsue.

Ex. 17. '

A, Learn to distinguish between indefinite and perfect infinitives
in Pattern 22. Translate the sentences into Russian.

1. He is said to have graduated from Oxford University. He is said to
avoud all sorts of arguments. 2 They seem to have taken advantage of the
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favourable conditions. He seems to mention the problem in the last
chapter of his book. 3. He appeared to have lost interest in physics
altogether. The story may appear to be oversimplified. 4. He is known to
have established a school of his own. This scientist is known to be keep-
ing in touch with the latest developments in his field of research.

B. Translate the sentences into Russian {mind the negation).

1. He does not appear to be concerned with the problem. 2. He was
not expected to spoil the sample. 3. The human body is not likely to
tolerate such temperature, 4. He is not believed to represent the majority.
5. The idea does not seem to be remarkably advanced. 6. The discussion is
not claimed to cover the whole range of present-day research.

C. Identify the structures according to Pattern 22 and give Russian
equivalents of the relevant part of the sentence.

1. On such occasions the scientist was looked upon as representing
the scientific community. 2. From this point of view the study can be
regarded as contributing to fundamental knowledge. 3. Practically, the
problem can be considered as given up. 4. The theory was counted upon
as correlating with all the existing data.

D. Identify the structures according'to Pattern 22 and give Russign
equivalents of the relevant part of the sentence. ’

1. He was deeply disappointed with the final results which turmed
out to be not what he had expected. 2. Some scientists occupy them-
selves primarily with problems likely to have direct bearing on the lives
of people. 3. The data found to correlate with more than one interpreta-
tion, they attempted to approach the problem from a different view-
point. 4. The scientist reported -to have spent five years on the pmblem
finally gave it up. 5, The danger of oversimplifying the problem seeming
(to be) quite real, they changed the line of their attack. 6. By that time
younger people thought to be brilliant physicists had left the laboratory.

Ex. 18. Identify the structures according to Patterns 21-<22 and gwe
Russian equivalents of the relevant part of the sentence.

1. For scientific development to be of benefit for man, scientists
must occupy themselves with problems that have direct bearing on our
lives. 2. Molecular biologists are known to borrow their technigues from
other sciences, mainly from physics. 3. How the application of his dis-
covery will affect man is sometimes rather hard for the scientist to
6—2355
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foresee. 4. The author devoted a special chapter of his book to what may :,"
be expected to dominate the science scene in the near future. 5. The |
method of inductive reasoning known to be established by Bacon leads
from observation to general laws. 6. His idea was fruitful enough for others
to take it up and develop it further. 7. For an original idea to be a product |
of one man’s genius is quite natural. But for an idea to be transformed 4
into a product, many people’s effort is required. 8. Some people say that
biology rather than physics is likely to be the central ground of scien- |
tific advance during the remainder of our century. 9. There appear no !
reasons for anybody to object to this style of research. ’

Reading Practice (Patterns 21—22)

Text 8. 1) Read the text to yourself and be ready for a comprehension 3
check-up.

. “WOULD YOU LIKE YOUR SON OR DAUGHTER

TO BECOME A SCIENTIST? IF SO, IN WHAT FIELD?” 3

The questions were asked by the Literary Gazette and a British |
scientist was reported to answer as foliows. j

“T would not like my son or daughter to become a scientist of the }
kind typical in the world today. The development of science has already !
led to many undesirable consequences and is likely to lead to many |
more unless great effort is made to control the application of scientific
discoveries. If, however, science could be developed in a new way to |
become a meaningful social activity, I would be glad to see my son or }
daughter doing science.

So far as the field is concerned, I think there will be a growing §
tendency for scientists to occupy themselves with problems which af- §
fect fairly directly the lives of people. There seems to exist a great need §
to develop science which deals specially with the problems of how the |
applications of science affect man. To cite but a few examples, there are |
such problems as urban development, education and, of course, the ]
prevention of war. If the new knowledge about the world is used for the
benefit of man, rather than for death and destruction, the human |{
race can continue to benefit from science for centuries to come. :

2) Check up for comprehension.

1. What can you say about the form of the text and the title? 2. Isthe §
answer to the Ist question “yes” or “no”? 2. What are the author’s j
reasons for this answer? 4. Under what condition would the answer be |
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differemt? 5. Does the author indicate any specific science in his an-
swer to the 2nd question? 6. What problems are considered by the
author to be worth studying? Why? 7. What is necessary for science to
remain beneficial for people? !

Pattern Revision (21—22)
(to be done at home in written form)
Ex. 19.
A. Identify the structures according to Patterns 21 and 22 and
give Russian equivaients of the relevant part of the sentence.

1. In the first place, this model of our own brain operation appears

to be self-consistent — as it was designed to be. 2, The half-life period is

the number of seconds for the radioactivity to fall to half its original
value, i. e, for half the atoms to break up. 3. There are indications that
various elements in addition to those found to be essentjal are benefi-
cial to the growth of many plants. 4. The question whether the atom can
or cannot be split up is known to have interested scientists from an-
cient times. 5. This assumption known to be invalid in some cases, may,
be expected to give usefil results for the conditions stated. 6, These stars
are much too remote for the astronomer to be able to solve the prob-
lem with the tools now available. 7. At that time it seemed that the
research could be counted upon as leading to a better understanding of
the process. 8. An illness unlikely to be identified at early stages mani-
fests great danger to people. 9. Some experiments prove that it is phys-
ically possible for the ground ice of Alaska to have been formed by a
process of segregation. 10. He does not seem to have attert¥pted to set up
a model to connect this strange behaviour with the previous observations.
11. The book was designed as a kind of platform to provide an opportu-
nity for prominent speakers to represent their respective fields of sci-
ence. 12. The origin of the difficulty is easily seen as resulting from
summation of the diagrams. 13. This period of cataclysmic bombard-
ment seems to have been widespread throughout the solar system. 14.
Under what conditions will the reaction proceed rapidly enough for
the method to be practicable? 15. Knowing this theory to be inade-
quate, he suggested that it should be modified to be brought into better
agreement with the observed facts.,

B. Transtate the following into English using Patterns 21 and 22:

1. BecbMma BeposTHO, 4TO BGHOIOTHA 3aMET JOMHHHPYIOUIEE TI0N0-
XEHHE CPEeAM OCTATbHLIX HayK. 2. CumMtaeTcs, 4TO OH NpPEACTaBAACT

Gt-
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"Ex. 20. Identify the structures according to Patterns 13 through 22 and

MHEHHe GonbUIMHCTRA yYeHhiX. 3. ['oBopaT, yTo OH BHEC OnNpenencH-
HbI# BKIaJ B pelueHue 3Toi npobnemsl. 4. UM He Tak-Te MpocTO BLUIO |
CIeI0BaTh 3TOMY NpaBuwiy. 5. Kaxercs, OH MOIHOCTHIO NOTEPSA MHTE- |
pec K 3to#t npobneme. 6. Ham HEoOXONMMO: HONAEPXHBATH KOHTAKT C

3to#t naGoparopueit. 7. Um 6nut0 BaXHO cO3AaTh GHaronpUsTHHIE YCHO-
BUS [UIA TIPONOJDKEHMS OnbITOB. 8. MHe TpyAHO yramaTe, KakKMM OyIer

peaynbTar.

General Revision (Patterns 13—22)
(to be done at home in written form)

give Russian equivalents of the relevant part of the sentence. |

1. To find the length of an object, we have to perform certain |
physical operations. 2. To begin with, our nervous systems are extremely 1
imperfect, and we see things only in terms of our training and interests. §
3. To put it another way, inventions seem to appear at times when §
societies need them. 4. There is an English saying that Satan will always
find some work for idle hands to do. 5. There is a need for scientists to be |
more closely in touch with the community as a whole. 6. To say that}
poetry is sponsored, however, is not to say that it is necessarily bad.}
7. To illustrate, Virgil had a sponsor and was working under assign-}
ment... the fulfilment of his assignment turned out to be a great poem.;
8. These decisions are simply the only sensible ones to make under the{
circumstances. 9. For a man’s life to be thoroughly satisfactory there has]
to be some underlying conviction about life-itself. 10. The only way to
avoid this is to keep definitions 'to a minimum. 11. Not to observe,
consciously or unconsciously, such principles of interpretation is tof
think and react in primitive and infantile ways. 12. It is a completely
wrong, and unfortunately common, practice to have students memo-
rise long lists of foreign language words. 13. To understand the gread
reactivity of free radicals it is necessary to understand first why elec
trons pair to form the normal two-electron.bond. 14. Even Chinese;j
which was cited as such a primitive language, was discovered to have
possessed some inflection in its early history. As for “primitive languag4
es”, they have been shown to exhibit all the types of structures found

in any language spoken by “civilized peoples”. 15. For a patient to re
move his own appendix under a local anaesthetic may be physically
possible, but the practice is regarded with disfavour. 16. Another possi4
ble cause of slow reading is the common practice in English-as-a{
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second-language classes of having the students read aloud. 17. Finally,
aging itself has been postulated to involve random, destructive reac-
tions by radicals present in the body. 18. The availability of much heavi-
er ions with sufficient energy to produce nuclear reactions, however,
introduces an important pew class of phenomena for consideration.
19. It would not be wise for any parent to dictate what field his child
should enter for his life career. 20. The electric Coulomb force between the
particles is very effective and accelerates the particles, causing them to be
deflected through large angles. 21. The paper too short to cover the period
of the last ten years in crystal physics still -deserves some attention. 22. A
good manager always knows how to get people to do what they are
expected to do properly and on time without having them feel uneasy.

WORD STUDY

1. LEARN TO RECOGNIZE INTERNATIONAL WORDS
(to be done in class)

Ex. 21. A. Recognize familiar words:

a haemoglobin molecule [ hirmou gloubin “molikju:l], hierarchy
[ harera:ki], scale [skeil], -unique [ju(:) nik].

B.  Give two Russian equivalents of different origin.
Example: confrol — xowmposuposams, ynpagasme.

Central, communication, purist, modern, nature.

C. Make up English-Russian pairs. /

1. The total knowledge, the total effect; 2. to become tolerant with
age, tolerant to heat; 3.a wide range of disciplines, out of the range of
one’s interests; 4. in actual fact, the actual position; 5. academic science,
academic scientists.

1. He ceisaHHBIN ¢ IPaKTUKOM, aKafeMWYeCcKuil; 2. AManasoH, cde-
pa, padr;, 3. {akrHuecKuit, neHCTBITENILHLI; 4. OO, CyMMapHRIN,
BCeOOLUIMHA, TOTANLHBIA, 5. TEPITHMLIN, CNOCOOHRIA BLIHECTH YTO-J., TO-
JIEPaHTHLIN,

D. Give Russian equivalents of the following:

1. standard of living; 2. X-ray analysis; 3. an academic centre;
4. intellectual level; 5. accurately controlled energy; 6. extreme conditions;
7. a subject of a general nature.
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2. LEARN TO RECOGNIZE THE STRUCTURE
OF ENGLISH WORDS

(to be done at home in written form)

Ex. 22. Recognize the words formed according to the following pat- 1
terns and give their Russian equivalents. '

Pattern 7: for(e)+Root
Example: (o foresee is to see in advance.

1. To make long-range forecasts in science is not an easy matter.
2. In his foreword to the book the author makes an atternpt to forecast §
the futire of the field. 3. The foregoing chapter is devoted to Ved and }
Ving forms. 4. The author tries to foretell a general tendency rather than 4
a particular development. '

Pattern 8: V+-able/-ible — Adj.
Example: readable is something that can be read.

1. It is not reasonable to become heavily involved in fashionable
problems. 2. Their output of papers is indistinguishable from the papers 4
produced by other 20 institutes. 3. There will be a considerable amount ;
of manpower available in the foreseeable future. 4. One of the tasks of §
electron microscope technology is to make the structure of molecules {
directly visible. N ;
Pattern 9: N+-ful - Adj.

Example: truthful is something full of truth.

1. To make such long-range forecasts is not always useful. Short- |
range forecasts are more often successful. 2. His cheerful remark was not 1
understood properly. 3. There was a fruitful cooperation between the two
laboratories in the past. 4. Such results could be obtained only with §
modern powerful research techniques. 4
Pattern 10: N+ -less — Adj.
Example: useless is something without use.

1. People are always talking about fundamental research implying a
therefore the existence of a nameless opposite. 2. We must not think that
the natural resources are limitless. 3. In this context the results are abso- §
lutely meaningless. 4. It is pointless for anyone to try to make a complete §
list of most urgent things to do. i
Pattern 11: Adj.+ -ly — Adv.

Example: briefly is in a brief manner.
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1. The period of 30} years was taken arbitrarily. 2. The research is
steadily expanding. 3. It can be safely stated that. . . 4. Many discoveries
happen quite unexpectedly. 5. An increasingly greater number of peo-
ple become heavily involved in the problem.

Pattern 6 Ne ¥

1. An outline of the experimental results; to outline the present state
of research. 2. A general principle is an enormous amount of experience
in a compact form; the total sum amounts to 10 dollars 3. In my view. . .;
this point of view is rather unusual; try to view this matter from a
different standpoint. 4. The chemist’s basic concern is with the structure
of molecules; the development of new techniques is a matter of major
concemn for many countries; the problem concerns manpower training
and development.

Ex. 23. Group the words of the same prefix, give Russian equivalents
of the words, and explain the meaning of the prefixes.
Predetermine, overpopulation, overestimate, postgraduate, subsonic,
prehistory, underdeveloped, underestimate, post-war, oversimplify,
supersonic, undergraduate, presuppose, superpose, subdivide, preview.

Ex. 24.

A. Group the words according to their spelling and meaning to
form two families. Give their Russian equivalents, use the dic-
tionary if necessary.

1. Pacumpenme B obbeMe; 2. pacTipOCTPaHEHHE B NPOCTPAHCTBE:
to extend, expansively, extension, extent, to expand, extensively,

expansion, extensive, expansive. .

B. Make up English-Russian pairs of word groups equivalent in

meaning.
1. To extend one’s visit a few days longer; 2. to expand one’s knowledge;

3. an extension of analysis; 4. volume expansion; 3. to a greater extent;

6. an extensive course in English.

1. B 6onsuioit crenedn; 2. JanbHeHIIKH aHamu3; 3. ysenuueHue obne-

Ma; 4. HPOAINTL BU3UT HA HECKOJBKO IHEH; 5. Kype aHT/IMIACKOTO A3KI-

KA, PACCYMTAHHBIN Ha AJIATENHLHOE BpeMs; 6. PACIUHPHTL 3HAHUL.

C. In the sentences below recognize the words belonging to the
above families and give their Russian equivalents.

1.We have grounds for extending the principle of relativity to in-
clude bodies of reference which are accelerated with respect to each
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other. 2. The production of food to feed the expanding population of the
world is even more important to mankind than the production of ener-
gy. 3. When the thermometer becomes warmer, the mercury expands,
the amount of expansion measuring the temperature. 4. Computer now
is an effective, efficient extension of the engineers’ own skill, talent
and capacity.

3. LEARN TO DEDUCE THE MEANING
OF ENGLISH WORDS

(to be done af home in written form and to be discussed in class)

B pa3sHmX ynoTpeGleHMAX ONHOIO ¥ TOro xe CIOBa M 8ro mpo-
M3BOJHBIX 0OBIMHO OOHapyXuBaeTcs ODIMIf ]IEMEHT CMBICAA, KOTO-
pblli MOXeT MPUCYTCTBOBATH B HECKONBLKMX PYCCKHX cioBax. Brbop
PYCCKOro 3KBHBaNCHTA OMNpelNensercsi aHINHHCKUM KOHTEKCTOM M
HOPMOIl PyCCKOIO #3BIKA.

Ex. 25. Give adequate Russian equivalents of the italicized words.

Available, availability — o6t aneMeHT CMBIC/TA: HAIKHYKE B
MOMEHT HAagOOGHOCTH, TO, Y4eM MOXHO BOCHONAB3O-
BaThc . YacTOTHEE pycCKHE 3KBUBANCHTHI: available — uMeoInnics
B HAMYHH, B PACIOPSOKEHHY, SOCTYNHEIA, TONHBIA M T.I.; availability — 4
HaJIH4ME, JOCTYHHOCTh M T.J. '

1. Future observation of these comets will surely be possible if space 1
vehicles are available to observe them. 2. Of these substances the first |
three are available to the plant: carbon dioxide, water and oxygen. 3. In |
what follows an outline of the resuits available at the time of writing is
given. 4. The availdbility of water-power makes it easy to have electricity. §
5. The latter effect is due to the non-availability of free electrons to associate |
with the broken bonds.

Concern — OBLIMHA 3NEMEHT CMBICA3: HEMOCPEACTBEHHOE
KacaTelbCTBO, 3aMHTEPECOBAHHOCTH, 06ECTOKOCH- §
HOCTb. YacCTOTHBIE PYCCKHE IKBUBANEHTHL tO CONCErn — KacaTbCs, §
HMMETb OTHOILIeHKE; GECIIOKOUTR H T.4.; t0 be concerned with — uHTE- |
PeCOBaTLCH, 3AHMMATBCHA, CONCErN — OTHOLICHHE, KACATENbCTBO; 3a-
GoTa; ¥HTEpeC; BAXHOCTH, 3HAYEHHE U T.J. ' 3

1. The science of crystallography concerns the enumeration and clas- |
sification of all possible types of crystal structure. 2. The water shortage §

-
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concerns all of us. 3. The experiments can yield some in formation édmps
cerning the overall correctness of the basic theories of physics. 4. The
institute is also concerned with this project. 5. It is necessary to inform all
those concerned with the problem. 6. So far as their essential physiolog-
ical functions are concerned, there is much similarity among the plants.,
7. The chemist’s basic concern is with the structure of molecules and the
reactions in which these structures change. 8. It is a social problem of
great concern to the scientists.

Consider, consideration, considerable — ofmuii 27eMeHT CMBIC-
Jla: BKANYEHHE BO BHUMAHHME M YyYMTH BaHKe. Yacror-
HBI¢ PyCcCKHE 3KBUBAJIEHTH: to consider — paccMaTpuBath, 06CYX-
AaTh, OONyMBIBaTh, MPHHMMATb BO BHHMaHHe, CIMTATh U T.K.;
consideration — paccMoTpeHue, obcyXIeHHE; COODpAKEHUE U T.J.;
considerable — 3HAUWTEJBHHINA, BAXHKA ¥ T.1.

1. They have not conmsidered the project yet. 2. The authors de not
consider it necessary to include unimportant results in such a short re-
view. 3. The present study is a reason for considering Helmholtz one of the
three creators of the new scientific physiology. 4. The problem considered
required further qualification. 5. No decision has been taken yet as the
problem is now under consideration. 6. The problem is given a careful
consideration in the next chapter. 7. All possible sources of error are
taken into consideration. 8. Several considerations have influenced the
decision. 9. As part of this work, considerable effort was devoted to the
design of supporting facilities for research and material-testing.

Fail, failure — ob6mmit 3a¢MeHT CMEICIA: HEBHNOJHEHHE
OXHMAAEMOTO HMIH AONXHOTrQ. YacToTHHE pyccKue IKBHBa-
JientsE: to fail — TepneTs Heydauy, mepecTaBaTh AEHCTBOBATH, BLIXO-
OATh U3 ¢cTpos ¥ T.4.; to fail to do smth. — He cymerp, okasaThes
HEeCTIOCOOHLIM CHeNaTh, HEe cienarth u TJ.; failure — Heynaua; Hemo-
CTaTOK, OTCYTCTBHE; aBapHs, OTKA3 B pabore H T.X.

1. In his book Prof. N. tried to succeed in what many scientists had
Jailed Before him. 2. All precautions failed to prevent the explosion. 3. Cells
resulting from such division are often very small and fail to divide fur-
ther. 4. Success came after many failures. 5. Planck was brought ta the
discovery of the quantum of energy by the failure of the classical laws to
account for the properties of heat. 6. They could not complete the
experiment in time because of the failure of the equipment.

89



Ex. 26. Compare the meanings of the three English verbs and give Rus-
sian equivalents of the italicized words.

Argue, argument —— OGIIMHA 7MEMEHT CMBICJZ: OCTIapHBaHHUeE
H/MIN OTCTAWBAHMHe HEKOH TOYKHM 3peHHA. YacTOTHEIE pyccKHe
SKBUMBAJIEHTH: {0 argue — CHOPHTH, aprYMEHTHDPOBATb, YTBEPXKAATh,
HOKAa3bIBaTh, MPHBONUTL NOBOABI, argument — AOBOX, HOKA3aTENb-
CTBO; ApTyMEHTALHH; HHCKYCCHS M T.I.

Prove, proof — oGmuMii 3/1eMEHT CMBICHIa: TPOBEPKA U YCTa-
HOBAECHUE UCTHHHOCTH. YaCTOTHHE PYCCKHE 3KBHBaJICHTHL: O
‘prove — AOKA3LIBATH;, MONBEPraTh UCIBITAHHIO, TpoGOBaTh; (B pe3yib-
TaTe)} OKA3bIBATHCA M T.A.; proof — JOKa3aTeNLCTBO, UCIBITAHHE, TIPO-
BEPKA H T.I.

Reason, reasoning — oOMIMIA 37IEMEHT CMBICIA: JOTHYHOCTD,
O0GOCHOBAHHOCTH, PA3YMHOCTEL, YACTOTHLIC DYCCKHE IKBH-
BAICHTEL tO reason — pPasMBILLUIATE, PACCYXAATh JOTHYECKH, YMO3aK-
movars; obcyXxaars H T.I.; reason — pas’yM, OCHOBaHHe, coobpaxe-
HHE; NMPUYHHA M T.[A.; reasoning -— paccyXIcHHe, JOTHICCKHHA XOX
MBICAY, APTYMEHTALMA ¥ T.O.

A. 1. The author is not going to argue this pomt since it 1s purely a
matter of formal definition. 2. As early as 1897 T. C. Chamberiain was
arguing that the earth resulted from the aggregation of cold particles.
3. The argument of this article is that these discoveries are not products of
pure reason, but the final outcome of a long chain of empirical research.
4. The method of inductive reasoning was cstablished which leads from
observations to general laws, 5. One can argue that modern solid-state
physics is one of the fundamental areas of physics. However, the fruth
of such a statement cannot be proved by mere demonstrations. Many
facts, postulates and axioms of the science must be reasoned both by
theory and experiment. 6. If the probiem of parallels could be solved, it
would be proved that the fifth postulate is a theorem of absolute geom-
etry. 7. This was the final proof of the argument. 8. I have every reason to
expect you to object to this style of research. 9. There are good reasons 1o
believe that pulsars are accelerators in which Nature makes cosmic rays.
10. The hypothesis pmved to be false. 11. The proof of the pudding is in the
eating.
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B. In the days before Space Age, astronomers learned to reason out
an extraordinary amount of theories, hypotheses and assumptions about
the sun, primarily by studying the visible light that shines from it. These
investigations were important for two principal reasons. First, the sun is
the heart of the solar system; second, the sun is the only star near
enough to permit reasonably close observation. Therefore, it stands to
reason that astronomers should focus their attention on the study of
the sun’s characteristics, namely, on its temperature and energy bal-
ancg. For the reasons given above, modern, astronomy research tech-
niques were developed, modified and improved. These studies require a
great variety of computational work, new instruments, ’et alone sound
reasoning on the part of the space scientist, to further unravel the mys-
teries of the sun.

Ex. 27. In the sentences below recognize the words that are similar in
meaning and give their Russian equivalents.

A. Find three words meaning «HeOQMHAaKOBbLIA».

1. Different discoveries are made in different ways. 2. They could not
help admiring the landscape diversified by hills and woods. 3. They
m